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Q.No: 1 What is the Madalapanji a chronicle of?

2419222

TETedSl! feheT g 87

The Dakshineshwar Temple
A

feoaR AR

The Jagannath Temple of Puri
B

i T STy AR

The Mamallapuram Temple
C

HATYRH AR

The Khajuraho Temples
D

TR R

Correct Ans : B

MPPEB 2022
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Shift1 v

Q.No: 2 The famous novel “Sonar Kella” is based on the Jaisalmer Fort. Who was the writer of this novel?

2419229
TR U "R FeeT” SR W Seid 1 39 I F ES B A2
Satyajit Ray
A
Fefa X
Sunil Gangopadhyay
B
g Tiirareara
Bibhutibhushan Bandopadhyay
C
RegfRngeor s
Upendrakishore Ray Chowdhury
D

EREGERIEEE Uil

Correct Ans : A

Q.No: 3 In which year was the Red Fort designated a UNESCO World Heritage site?
2419237

1 et 1 fre oY goRan! Bt Ry eRieR wia i fan man ure

1992
A

1992

1998
B

1998

2007
C

2007

2011
D

2011

Correct Ans : C

Q.No: 4 Yield is measured as which of the following?
2419303

3Ius H P F ¥ e = & A o g2

A Crop produced on a given piece of land during a single season.
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T g AR & IR el o e oty F s W S wea

Crop produced in a particular village during a single season.

B

@ g1 #reH & IRM U@ IS g # Iaifed vea

Total quantity of one crop in the entire country grown in one season.
C

R WA v A & SME N Al U B B Hd HE

Total quantity of all the crops in the entire country in one season.
D

TP A § ¥ 39 F ot wwel 3 o HE

Correct Ans : A

Q.No: 5  The Green Revolution was introduced in India in which of the following decades?

2419304
YR # g wifd 3 goerd Fufied ¥ 3 frg awe & g8 @
Late 1950's

A
1950 & TS & Id &
Late 1960’'s

B
1960 ¥ TS & o ¥
Late 1970’s

C
1970 F WS & S &
Late 1980’s

D

1980 & TS & Id &

Correct Ans : B

Q.No: 6 The most devastating famine that occurred in India was the famine of Bengal. It occurred in which of the following years?

2419315

YR H G T fAATRIGRY SfebTet STt T SfepTat o1l a8 Fwferfed o & frw af & garm ur?

1943
A

1943

1945
B

1945

1949
c

1949

1951
D

1951

Correct Ans : A

Q.No: 7 Antyodaya Anna Yojana is applicable to who among the following?

2419319
Siedie o Ao Faffed § & e frg amg 82
Poor
A
e
Backward Class
B
e of
Priority households
C
TTfT ard W
Poorest of Poor
D

e & e el

Correct Ans : D
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Q.No: 8 ‘Deuce’ and ‘Advantage’ are terms that are used in -

2419389
Badminton
A
Fsfifes
Hockey
B
gt
Tennis
c
A
Ice-Hockey
D
HIEH-glHT

Correct Ans : C

Q.No: 9 Where is the headquarters of the International Tennis Federation situated?
2419396

SR 2 TeTeY @1 gEe Fel R 87

New York
A

s

London
B

e

Geneva
C

forar

Brussels
D

e

Correct Ans : B

Q.No: 10 Which of the following is NOT a renewable resource?

2419460
Frafafed § & @ @1 S e T 82
Water
A
et
Forest
B
a1
Coal
C
Fraar
Soil
D
Rt

Correct Ans : C

Q.No: 11 Which of the following sources has most quantity of water in the world?
2419521

Fofifed & 3 fea ad & fay & 9a 3t gaifve amm g2

Ground water

A
kSl
Fresh water lakes
B
S urh 3 et
Ice caps
C
% 3 At
D Atmosphere
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qrdra’o

Correct Ans : C

Q.No: 12 In which of the following years did Aurangzeb die?

2419549

ST @1 g e # J e ad 7 g3 o

1658
A

1658

1673
B

1673

1707
c

1707

1719
D

1719

Correct Ans : C

Q.No: 13 The policy which came to be known as Doctrine of Lapse was devised by which of the following Governor General?

2419554

I8 ~fifa R farerm R & 0 & S o o, Fafired & § g TR SR gR1 duR @1 T o

Lord Hardinge
A

s gifdT

Lord Canning
B

s

Lord Dalhousie
C

S s

Lord Bentinck
D

e It

Correct Ans : C

Q.No: 14  Who among the following wrote long Sanskrit poem containing the history of kings who ruled over Kashmir?

2419556
Frofifed # 3 ) oo R IR B3 ard Ienslt & gfaery arelt et Sepd wiaar fordte
Kalhana
A
Degd
Yahya Sirhindi
B
aren Wi
Jayadeva
c
Saed
Chandbarda
D
AleRaTS

Correct Ans : A

Q.No: 15 Who out of the following has created the character of Sherlock Holmes?
2419622

Fraffed § & fra wie g & afe o1 Fmfor far 82

Arthur Conan Doyle

3R P I

Edgar Allan Poe

TSR TeH Ot
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C Agatha Christie

Eudigcaat

David Baldacci

3fts ATt

Correct Ans : A

Q.No: 16 Who is the author of the novel “Pride and Prejudice”?

2419630
"IIES TS INfEE" IUUN F AS HH 82
Charlotte Bronte
A
TR S
Jane Austen
B
S ST
Louisa May Alcott
C
T | ePHIT
Virginia Woolf
D

Eciiz e

Correct Ans : B

Q.No: 17 Who is the author of the novel “The Golden Gate”?

2419642
"% Tiee e IuN & AGF P & ?
Vikram Seth
A
o ¥
Amitav Ghosh
B
Sty 9y
Arundhati Roy
C
arbufa g
Shantum
D
igH

Correct Ans : A

Q.No: 18 How many subjects does the Union List under the Constitution of India contain?
2419707

URA F TfIYH & dgd T9 T § b fawa 2

100
A

100

95
B

95

82
C

82

67
D

67

Correct Ans : A

Q.No: 19 \yhich of the following Fundamental Rights was added to the Constitution of India by the 86t Constitutional Amendment Act?

2419711

Frofied # § $H a1 9ifere ifieR 86d Ty =it siftfam gRT YRd & wfaer & et mar ur?

A Article 19(1)(f)
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ITDE 19(1)(TF)

Article 21(A)

ITRT 21 (T

Article 24(B)

TDE 24 (M)

Article 31(A)

IFDT 31 (T

Correct Ans : B

Q.No: 20 Which of the following is not one of the eligibility criteria to be a voter in India?
2419725

Fofifad # § B YR § Tderd 89 & i uedr ards # ¥ T T 37

Must be a citizen of India

A
HRA BT RIS G A1MSY
Must have a minimum literacy level
B
A WERET W ST AT
Must not be of unsound mind
C
fargpa femmT &1 e &1 =few
Must not have been declared bankrupt by a competent court.
D

ot e =Ry gRT Ryanfra ¥ =&Y fovar man @ fRe

Correct Ans : B

Q.No: 21 In which year did Malwa become a part of the Central Provinces?
2419909

Hrefar fbw af wen wid &1 few &= r?

1817
A

1817

1839
B

1839

1861
C

1861

1900
D

1900

Correct Ans : C

Q.No: 22 On the occasion of Aalami Tableeji Ijtima, ‘Jamaats’ gather from all over the world. In which city of MP does it take place?

2419917
SfTeTH TFeciioht 3T F WP W g1 R Y THG S B 31 T8 AW F b e F TR S 22
Indore
A
R
Gwalior
B
IR
Bhopal
c
siarer
Jhansi
D
L

Correct Ans : C

Q.No: 23 The Alhait community of Bundelkhand had composed songs to inspire the warriors with accounts of heroic deeds of:

2419922
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30 Al B URA A o] e & Seled G A f5E P IR H 9§ R W B =W Db

Mahrum Shah

A
HEEH e
Baaz Nahadur
B
1 ARTGH
Alah Udul (or Udal)
C
SHTegT I
Gorakh Baaz
D

T it

Correct Ans : C

Q.No: 24 What is the capacity of the Rewa Ultra Mega Solar Power Project that was inaugurated by Prime Minister Narendra Modi in July 2020?
2419984

aTE 2020 F Yo R Al §RT IgUTEH U MY faT Seg B GR Sl GRS B & 3T 32

600 MW
A

600 FTEIE

650 MW
B

650 ATEIE

700 MW
C

700 FTEe

750 MW
D

750 FERe

Correct Ans : D

Q.No: 25 Who out of the following from Madhya Pradesh became the first deaf and mute person to become a nurse?
2419987

Frofifed § 3§ S ge 1R I T 57 9T TuH go-fR i a?

Bulbul Panjre

A

EREGRNTER

Tara Chaudhary
B

T et

Shyamali Rane
C

! 0

Harshita Kumar
D

BT R

Correct Ans : A

Q.No: 26 1In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select ‘No €

The legislation was driven by the desire to liberalise consumptions and cultivations.

A consumptions and cultivations.
B by the desire to liberalise

C The legislation was driven

D No error.

Correct Ans : A

Q.No: 27 1In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select ‘No €
The walls of Golconda Fort in Hyderabad is being painted by some notable workers.

The walls of Golconda Fort

in Hyderabad is being painted

by some notable workers.

o 0 W >

No error.
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Correct Ans : B

Q.No: 28 1In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select No E
I found myself in a dilemma and didn't knew what to do for the best outcome.

I found myself in a dilemma

and didn't knew what to do

for the best outcome.

o 0O w >

No error.

Correct Ans : B

Q.No: 29 Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

His (access) to the throne was a turning point in history.
acquisition
acceptance of

accession to

o 0 w >

No improvement

Correct Ans : C

Q.No: 30 Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

You do not know the mechanism of computer properly, (isn’t it)?

A Haven't you
B Do you

C Don’t you

D

No improvement

Correct Ans : B

Q.No: 31 Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

Our Professor is an authority on the subject which he (had been teaching) since 1966.

A has been teaching
B is teaching
C was teaching

No improvement

Correct Ans : A

Q.No: 32 Out of the given options, choose the one which is the correct passive voice of the sentence given below.
Open the door.

A I ask you to open the door.

B You are being asked by me to open the door.

C Let the door be opened.

D Unlock the door please.

Correct Ans : C

Q.No: 33 Select the correct active form of the given sentence.
She was seen sitting in the last row.

We see her sitting in the last row.

We saw her sitting in the last row.

We had seen her sitting in the last row.

o 0O W >

We have seen her sitting in the last row.

Correct Ans : B

Q.No: 34 1In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice
Jaadu needs sunlight for his survival.

Sunlight is needed for Jaadu for his survival.

Sunlight is needed for his survival by Jaadu.

Sunlight has needed by Jaadu for his survival.

O 0 @ >

Sunlight is needed by Jaadu for his survival.

Correct Ans : D

Q.No: 35 A sentence has been given in Active/ Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.

Who lifted the furniture?
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A By whom the furniture was lifted?
B By whom were the furniture lifted?
C By whom the furniture were lifted?
D Who has lifted the furniture?

Correct Ans : A

Q.No: 36 Out of the given options, choose the most appropriate word/set of words to fill in the blank.

Owls in the daytime
A hide
B has hide
C have hide

has hid

Correct Ans : A

Q.No: 37 Out of the given options, choose the most appropriate word/set of words to fill in the blank.

A policeman the thief.
A caught
B have caught
C have catch

has catch

Correct Ans : A

Q.No: 38 Out of the given options, choose the most appropriate word/set of words to fill in the blank.

After a long careers with the company, she to the position of chief executive.

A has risen

B have rise

C has rise
have rose

Correct Ans : A

Q.No: 39 Out of the given options, choose the most appropriate word/set of words to fill in the blank.

He discovered that his car had been .

A stolen

B steal

C steals
stealing

Correct Ans : A

Q.No: 40 Select the most appropriate option to fill in the blanks.
Iam not in screen but in stage.

senilities

tarnished

interested

g 60 w >

abeyance

Correct Ans : C

Q.No: 41 Select the most appropriate option to fill in the blanks.
His extravagances landed him in

wealthy

glacial

poverty

o 0 w >

heckler

Correct Ans : C

Q.No: 42 Select the most appropriate option to fill in the blanks.

My project manager has not a of decency.
A sounds
B spark
C leads
D terms

Correct Ans : B

Q.No: 43 Select the most appropriate option to fill in the blanks.
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My friend willingly with my request for some financial assistance.
mentioned
obtained

complied

o 0 w >

finished

Correct Ans : C

Q.No: 44 Select the most appropriate option to fill in the blanks.

Since play was so boring, I could hardly keep from falling asleep.
A myself
B them
C himself

itself

Correct Ans : A

Q.No: 45 Select the most appropriate option to fill in the blanks.

While the forest laws people of their customary rights to hunt, hunting of big game became a sport.

A deprives

B are deprived
C have deprived
D deprived

Correct Ans : D

Q.No: 46 Select the most appropriate option to fill in the blanks.

Education policies adapted to local are crucial elements for the structural adjustment.
A needing
B needed
C to need
D needs

Correct Ans : D

Q.No: 47 The question below consists of a set of labelled sentences. These sentences, when properly sequenced, form a coherent paragraph. Select the most logical order of the sentences from the given o

P. An Ox came down to a reedy pool to drink.
Q. As he splashed heavily into the water.

R. He crushed a young Frog into the mud.

A QPR
B PQR
c RQP
D RPQ

Correct Ans : B

Q.No: 48 The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of the sentences from the given of

A. Neutron capture plays a significant role in the cosmic nucleosynthesis of heavy elements.

B. In stars it can proceed in two ways: as a rapid process (r-process) or a slow process (s-process).

C. Neutron capture is a nuclear reaction in which an atomic nucleus and one or more neutrons collide and merge to form a heavier nucleus.

D. Since neutrons have no electric charge, they can enter a nucleus more easily than positively charged protons, which are repelled electrostatically.

BCDA
BDAC

CABD

o 60 w >

BACD

Correct Ans : C

Q.No: 49 Select the antonym for the given word.

CURSORY
A Thorough
B Casual
C Superficial
Offhand

Correct Ans : A

Q.No: 50 Select the CORRECTLY spelt word.

A Humorous
B Outragous
Orianal
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C
D Occurence

Correct Ans : A

Q.No: 51 The image/jpg of an object is formed at infinity in concave mirror, is real and is highly enlarged in size. Where is the object located?

et avg &1 vfafem sradet Uor & ST WR ST 8, IRf® BT § SR SMHR § 9gd 91 BT 31 a¥g Pl T 8?2

2420198
Between Principal Focus (F) and Pole (P)
A
T HIEFT (F) S g7 (P) & =
At Principal Focus (F)
B
T HEE (F) 7%
Between F and 2F
C
FR2FF @
At 2F
D
2F R

Correct Ans : B

;24'\‘2%25025 1 horse power (hp) is approximately equivalent to —
1 ¥ 918 (hp) FTST AL g —
820w

A
820W ¥
746 W

B
746 WF
1000 W

C
1000 W &

789 W

D

789 W F

Correct Ans : B

Q.No: 53 Which of the following renewable energy sources involves burning of organic material?

2420207
Frafefed # & fFa Tdeia Sl da § Fee gerdf 1 s e 82
Solar energy
A
R FHef
Wind energy
B
T el
Geothermal energy
C
it S
Biogas energy
D

v et

Correct Ans : D

Q.No: 54 1 which of the following the Archimedes’ Principle is used?

2420217

Froffea # § fewt snfbfida & Rigia 1w fan s 22

A Calculating the volume of an object that does not have a regular shape.
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I TG BT T B TUHT AT i1 Fafiid seR TE 31

Calculating the area of an object that does not have a regular shape.

B

I T & & P A BT Rrrep Fafi SHR e B

Calculating the length of an object that does not have a regular shape.
C

T W aeg T B 0T el ForepT Frafii SeR T R

Calculating the smoothness of an object that does not have a regular shape.
D

T W I B RiSE B 10T e vt Fafia sieR TR R

Correct Ans : A

Q.No: 55 Which of the following statements is NOT correct?

2420218
e § § S @ HuF 98 T8 82
All bodies experience buoyancy when they are immersed in a gas.

A
Wit Freprl B I & gAY 9 R BT BT SN BT B
Up thrust is not experienced by a body when immersed in a gas.

B
9 & gEIT I W R GRISAT $T 74T T e S 1
The hvdrometer (or lactometer) is based on Archimedes' principle, which states that a solid suspended in
a fluid is buoyed by a force equal to the weight of the fluid displaced by the submerged part of the
suspended solid.

C
FIEEHIZL (TT AT ¥ 12%) AIRFSS & el d T AT g, B Fgr 747 2 5 0F a<a 7ard §
TATaT BT & (e lerd 3Ia & STaae 91T ST (4ea 119 74 & a9 & a0a ad 31 I a1 srar gl
Gas is also a kind of fluid.

D

9 ot 75 TBR FT 5 7

Correct Ans : B

Q.No: 56  Which of the following is an abiotic component of Nature?

2420363
e § 3 S vl 31 okfa® g 37
Water
A
arft
Plants
B
drer
Herbivores animal
C
MHTERT SR
Bacteria
D
ftamg

Correct Ans : A

Q.No: 57 Which of the following gases is the most inactive gas in the air?

2420365
Frafifea # 3 &1 9@ 19 5o 7 w99 et PfSey fa 32
Argon
A
3rfT
Neon
B
H=
Nitrogen
C
TG
Helium
D
SiferH

Correct Ans : A
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Q.No: 58 Which of the following gases are needed in the air to support the process of combustion?

g @) UfhaT BT TH B & o gar & Pl # 3 B9 @ T ) srazawdr gt 87

2420366

Helium
A

Fisen

Oxygen
B

Eichicet

Xenon
C

A

Crypton
D

[Cail

Correct Ans : B

Q.No: 59 Which of the following molecules containing nitrogen combines to form protein?

Frfied & A S 1 3] TEEe gad W S & Ry G giar 82

2420371
Amino Acids
A
S s
Nucleic Acids
B
e s
Lipids
C
fofts
Carbohydrates
D
PrfeRge

Correct Ans : A

Q.No: 60  Which of the following is NOT always a Man-Made disaster?

Fofafed # 9 S ga=n A B smoer T8 &2

Depletion of Ozone layer

2420382
A
S R P g
Global Warming
B
Telaa arfhT
Forest Fire
C
uckdgci
Deforestation
D

i B T

Correct Ans : C

Q.No: 61 Which of the following is an example of an act of direct contact that can transmit a disease?

2420503

Foffed § & o1 WY 9ud F T S BT e IR0 S e SR B iy R g 82

Using the comb of an infected person

T cafdd bt S BT STENT HIAT

Shaking hands with a person suffering from cough and cold

et SR v & Wi cafe F s

C Driving a car to a hospital
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T ST H 9 & T 0 PR §1%9 FA

Using a handkerchief to cover the mouth while sneezing

Blwd T g 3 e & T FHIA BT ITNT AT

Correct Ans : B

Q.No: 62 Which of the following can NOT be spread by mosquitoes to people?
2420504

Fofied # 3 o 7w 9 A A T B Shar 22

Japanese encephalitis

A
S TG
Zika virus
B
et arR™
Chikungunya virus
C
Fererfar aee
Ebola
D
e

Correct Ans : D

Q.No: 63 Which of the following states/union territories has launched the Bhagidaari scheme which aims at eliciting people’s participation in governance?

2420509
Fofafed § § fea =g / Fs ia wew 3 urfiert o g @ § e Sexa I § a3t urfierd & ggm 82
Delhi
A
Rt
Maharashtra
B
HERTE
Punjab
C
EEiC
Chhattisgarh
D

ERiuurs

Correct Ans : A

Q.No: 64  Which of the following is an example of an indirect method of transmission of pathogens?

2420511
Fofefed 5 § S Arere! F TR B UE s Ay $1 Iamww §2
Droplet infection
A
B §g YHHu
Exposure to contaminated blood
B
3 Yad & Tudh & o
Carrier like house-flies and cockroaches
C
R-ufRgdl iR ey &) e TET
Infected mother to foetus
D

bl T ¥ 3w

Correct Ans : C

Q.No: 65 Where do the Ascaris lumbricoides parasites live in humans?
2420515

T 4 e e T o T 87
Lungs

A
L

B Small Intestines
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B et
Liver

c
m
RBCs

D
SR,

Correct Ans : B

Q.No: 66  Which of the following acids is majorly found in fruits like tamarind, grapes and unripe mangoes?

2420644
Fofifad # T P9 1 o FAT, AR SR T 3T O Bl § T U J Ur Sl 82
Formic acid
A
Bt e
Citric acid
B
Efed ond
Tartaric acid
C
i o
Formic acid
D
B s

Correct Ans : C

Q.No: 67 Which of the following acids is majorly found in spinach?

2420647
Fofifed #  $F 1 ond Urae § e T § Urgl S 87
Tartaric acid
A
RS ot
Oxalic acid
B
Sffefee s
Formic acid
C
it e
Lactic acid
D
AfFew o

Correct Ans : B

Q.No: 68 Milk of magnesia contains -

2420650
i i FifRram & e & -
Magnesium hydroxide
A
AR TSRS
Sodium chloride
B
RUSEEES eSS
Phosphorus sulphate
C
BRHRY Gethe
Boric acid
D
ik s

Correct Ans : A

.No: . . . . . . .
(22420066595 Stainless steel is made by mixing Iron with and metals like chromium, nickel and

manganese.
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FTerg wiel, wig &l HR i, Fea R He sl urge & 9 e s
EicIE!

Oxygen

Sifaeitert

Hydrogen

BRI

Carbon

Eacet

Phosphorus

BRGRY

Correct Ans : C

Q.No: 70 Which of the following is an example of synthetic fibre?

2420661
Frofifed 3 3 B e BEsR o1 IaeRu 32
Cotton
A
U
Wool
B
52l
silk
C
=M
Spandex
D
AT

Correct Ans : D

Q.No: 71

2420663 Cellulose is made up of a large number of units.
T 9 e FTET & SIS B
Glucose
A
@
Amino acids
B
LERINES
Neoprene
C
i
Butane
D
e

Correct Ans : A

Q.No: 72 The joint between the upper jaw and the rest of the head is known as which of the following?
2420892

FT S 3R RR & a1 et & offw & Sitg &) FAufifed & § @ wer o 82

Fixed Joint
A

3a A

Pivotal Joint
B

R

Ball and Socket Joint
C

Hinae 1nint

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_AdminPanel/Final_Model_Answer.aspx 16/48



1/31/22, 11:11 AM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_AdminPanel/Final_Model_Answer.aspx

D

feer fy

Correct Ans : A

Q.No: 73 How many ribs are there on each side of the chest of a human being?
2420894

T B BTN P YA R e aii gt 82

8
A

8

10
B

10

12
C

12

14
D

14

Correct Ans : C

Q.No: 74 Water comes out in the form of vapors by which of the following process?

2420899
Frafafea # & fow vfivan g1 @ arg & w0 faa g2
Photosynthesis
A
THTY Yo
Transpiration
B
e
Precipitation
C
ELL
Evaporation
D

Elicaud

Correct Ans : B

Q.No: 75 The nucleus of a cell is surrounded by a jelly-like substance also known as which of the following?

2420904
IR 1 e T el o) v T g & oY Frafiifem 3 Q oy 1 Q o S o &2
Cytoplasm

A
HIRBI 5
Stomata

B
Eel
Guard cells

C
XD B
Chlorophyll

D
iR ()

Correct Ans : A

Q.No: 76 Which keys enable the input of numbers quickly?

2411542
P T Hoft Tl & $Ye BT oee) § G&H HA 82
Ctrl, Shift and alt

A

B functional keys
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HaRAd ot
numerical keys

FAfwa gt

arrow keys

Lk

Correct Ans : C

Q.No: 77 The operating system that is self contained in a device and resident in the ROM is

2411543
SRR e o wod fearew & ffRd § ik ROM # e 8, T I B
Batch Operating system
A
¥9 sifRfe Rew
Real time Operating system
B
T e Sifrfen Ryeew
Embedded Operating system
C
TS ST Rieewt
Multi processor Operating system
D

A TR Sfferfe Rrew

Correct Ans : C

Q.No: 78 Which of the following contains permanent data and get updated during the processing of transactions?

2411545
Frofafea # & &1 & v e ? ok S o @ e & IR ST 8 S 22
Operating System files
A
SffoRfeT Ren wiged
Transaction files
B
T B
Software file
C
FrHedwR Prge
Master file
D
R BIgd

Correct Ans : D

Q.No: 79 A is an electronic device that process data, converting it into information.
2411549

----- T gAdeie $argd B ot 3eT Y sTwii R # uRafdd o W b 1

Processor
A
TR
computer
B
FEX
case
C
kol
Stylus
D
R

Correct Ans : B

Q.No: 80 computers represent data as variable points along a continuous spectrum of values.
2411550

--------- SR, STeT S IRATA @WiEe, Ieg & Faid WaeH $ Y g2 81
A Analog
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Lsici

Digital

fSfrea

Precise

R

Mainframe

et

Correct Ans : A

Q.No: 81 The main component of a desktop PC is the which houses the computer’s critical parts.
2411552

TF SHpely Ut B g8 BT ---- Tl § S SR BT HEayul HFT 7@ gl

Processor
A

TRRR

memory
B

s

keyboard
C

FEE

system case
D

Rren Fw

Correct Ans : D

Q.No: 82 The is used by the tablet PC to write on the screen.
2411556

......... BT T edie At gRT B W e & R e 31

Finger
A
R
mouse
B
Rick)
digitizer
C
fefrerer
Stylus
D
TR

Correct Ans : D

Q.No: 83 In a photo editor, you can repair scratches using the tool.
2411561
TF Bl TR F, 3 --------—- 29 BT ST ¥hd RUR & Y a Todt &
Mask
A
RS
airbrush
B
TS
stamper
C
RIR
Eraser
D
TR

Correct Ans : B
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Q.No: 84 Which of the following is most similar to a word processor?

2411562
9 & § B 91 % 9 WEW & HE 87
Dictionary
A
et
Thesaurus
B
R
Text Editor
C
e W=
Code Inspector
D

P TRFR

Correct Ans : C

Q.No: 85 Which of the following statements best describes a leaderboard?

2411564
PR Hul § § B 91 deReS o Ted 3T Ui Bl 22
It is the top section of a webpage.
A
T T A9t T S 1T ¥
It contains the head section of the HTML.
B
T HTML &1 i ¥ i e 8
It displays a website’s site map.
C
T U ATUIgE B YiEe HARE Vel ol 8
It is a common ad size used in online advertising.
D

T ST R & SWEIE TP W R R ¥

Correct Ans : D

Q.No: 86 Mechanism developed to enforce users to enter data in required format is

2411566
SudiEdet gRT e Wit & o1 ot e B ] F B RIg ReRia FeRwE - 2
Data validation
A
a1 IR
Input mask
B
FYC ARG
Criteria
C
wreefan
Data verification
D

31 ARfrHRH

Correct Ans : B

Q.No: 87 What is the shortcut key for “Font” dialog box?

2411577

Wi S S & Y WéHe Foft w1 72

ctrl + G
A

T + G

Ctrl + F
B

HE + F

Ctrl + D
[

&SI + D
D ctrl + H
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W + H

Correct Ans : C

Q.No: 88 To see the document before the printout is taken, use .......
2411582

flicamse o7 & Ugd SiagHe PI d@ & g ------- BT ITT A B

Insert Table

A

e dgw

Paste
B

e

Format Painter
C

wife fex

Print Preview
D

fite g

Correct Ans : D

Q.No: 89 SMPS stands for?

2411590
SMPS T Haffd FaT 82
Start mode power supply
A
Start mode power supply
Store mode power supply
B
Store mode power supply
Switched mode power supply
C
Switched mode power supply
Single mode power supply
D

Single mode power supply

Correct Ans : C

Q.No: 90  Which of the following is not a network protocol?
2411599

5T A B 1 Aead NelTa & 82
HTTP

HTTP

FTP

FTP

SMTP

SMTP
HTML

HTML

Correct Ans : D

Q.No: 91  Full form of “MODEM” is?

2411614
"MODEM" T QX1 19 4T 8?2
Modern development
A
Modern development
Medium Development
B

Medium Development
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c Modulation and Demolition

dulation and D lition
Modulation and D dulation
D
Modulation and D ion

Correct Ans : D

Q.No: 92 O0SI is an ISO standard for worldwide communications that defines a networking framework for implementing protocols. What does ‘0’ stands for?
2411621

0!I fawadt T=R & 1T T SETEsl A § W0t Helebld B a1 H37 & o Jeafd o/ 3 gRuid a1 71 '0" @ 82

Operation
A
Operation
Open
B
Open
Organization
C
Organization
Optical
D
Optical

Correct Ans : B

Q.No: 93 What is the components that are used in second generation computers?

2411624
T W S Hgedt & SuaN by o A gew a4 82
Vacuum tube
A
Vacuum tube
LSI
B
LSI
Punch cards
C
Punch cards
Transistors
D

Transistors

Correct Ans : D

Q.No: 94 A computer programming language often used by children is:
2411687

gl GRT SRR SUGNT BT S dTell hee” Wi HTw 8:

LOGO
A

LOGO

PILOT
B

PILOT

BASIC
C

BASIC

JAVA
D

JAVA

Correct Ans : A

Q.No: 95 is the software creates a mirror image/jpg of the entire hard disk, including operating system, application, files and data.
2411742

ol BrE fowp, Wit SR Ried, T, wrEe ofR Se1 oid T qur B3 e 31

Operating system

Sifafe Rew

B Backup software
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FH HoedaR

Drive imaging
C

S1%a A

Utility software
D

TR W

Correct Ans : C

Q.No: 96 SDL stands for-

2411860

THSIue &1 quf = g-

Storage discrete localisation
A

wRe f3fpe ddbamsam

Storage definition localisation
B

R A TbergorRH

Storage definition language
(9

R A dae

Storage discrete language
D

Wit f3fére daw

Correct Ans : C

Q.No: 97 In which, switching resources are allocated on demand.

2411867
g & @ oo, fRafm Sared &1 3rded AT R g g1
Circuit Switching
A
wbe Rafm
Packet Switching
B
e fRafm
Line Switching
C
s Rt
Frequency Switching
D

wib R

Correct Ans : B

Q.No: 98 Where you can find the Margins option in MS Word?

2411878
1Y THEE IS | HINH Jeed Hel o1 9 82
Insert menu
A
T
Review menu
B
fog a7
Page Layout menu
C
U AMST A,
Home menu
D

GEET

Correct Ans : C

Q.No: 99 is a piece of hardware or software used to monitor network traffic.
2412189

BISAW U1 HUEIWR 1 Ueb 37 & Rrepr IuahT Jead fhe @t FRr & R fbar
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ST 1

Ransomware

IR

Packet Sniffer

e RIwR

Keyloggers

Prar

Rootkit

Fefde

Correct Ans : B

Q.No: 100 RSS is a format that is used to provide subscribers with new content from frequently updated Web sites. What does 'RSS' stand for?

2412210

RSS T Bl § R UGN ATEH! ! IR-SR ST Ht S JTelt 3d Figel & 7T BT UGH PR &
forg fam e ®1 'RSS' &1 guf w9 @1 32

Recent Simple Syndication

A
Recent Simple Syndication
Really Simple Syndication
B
Really Simple Syndication
Real Subscribers syndication
C
Real Subscribers syndication
Real Server syndication
D

Real Server syndication

Correct Ans : B

Q.No: 101 Select the term that will come next in the following series.

2417552
D, G JMP ___

I UG BT 799 B, S Aol g § SFTe o

D, G, J,MP __
Q
A
B
R
s
[¢
T
D
T

Correct Ans : C

Q.No: 102 Which of the following options will complete the given series:

2417565 l_ n_lm_ml__nl_no
e are dest & oea e A A
I_n_lm_ml__nl_no
minmnm
A
minmnm
Imnimn
B
Imnimn
C Immnml
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Immnml

minnml

minnml

Correct Ans : A

Q.No: 103 Find the odd one among the following.

2417617
Frafrea # 3 faww 3@ S
Mercury
A
™
Moon
B
<A
Jupiter
C
Eeic)
Saturn
D
RuEt

Correct Ans : B

Q.No: 104 Find the odd one among the following.

2417630
Frafafea # 3 faws 3@ i
Helium
A
g
Argon
B
amfq
Neon
C
Fraita
Chlorine
D
FARA

Correct Ans : D

Q.No: 105 1In the following question, select the odd letters from the given alternatives.

2417672
oy F, fow T fawedt § § fawm sieRt o1 79T B0
DGJ
A
DGJ
LOR
B
LOR
RTV
[
RTV
UXA
D
UXA

Correct Ans : C

Q.No: 106 1In the following question, select the related word from the given alternatives.

2417705
Barometer : Atmospheric Pressure
Frafafed gy ¥, faw ¢ fasedl # @ e 2ss &1 999 B
Riefie : agHSET gad

A Bolometer : Sound
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SeieR : Gf

Hygrometer : Humidity
B

TIRUHIER & ST

Odometer : Speed
C

SifteR: 7

Voltmeter : Electric current
D

reeHie : Riggd wa®

Correct Ans : B

Q.No: 107 In the following question, select the related word from the given altematives.
2417711 Pinna: Ears:: 7: Eves

Ferr=feraa wea #, fev o fawedt O dadfeg areg ST aaa 1|
T - e = 7 A

Cornea
A

Eaiti

Anvil
B

TR

Corns
C

ko

Vision
D

i

Correct Ans : A

Q.No: 108 In the following question, select the related word from the given altemnatives.
2417715 PLANT : TNALP :: SHRUB :?

FoFafeaa wear . fev o famel #F 3 Taferg oo 1 o= 1)
PLANT : TNALP :: SHRUB : 7

BRUSH
A

BRUSH

RBUSH
B

RBUSH

BURHS
C

BURHS

UBRHS
D

UBRHS

Correct Ans : C

Q.No: 109 In the following question, select the related word from the given alternatives.
2417721 Hindi - language :: Turkey - ?

FtaTad wesT &, T a1 fawent & ¥ Safig aeg &7 ST Y

%ﬂ’l’: 7T Tfﬁf: ?
Capital
A
TSy
Country
B
e
C Game

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_AdminPanel/Final_Model_Answer.aspx

26/48



1/31/22, 11:11 AM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_AdminPanel/Final_Model_Answer.aspx
/@

Transport

URae

Correct Ans : B

Q.No: 110 If CAREER is coded as DBSFFS in a certain language, how will SYSTEM be coded in the same language?

2417746

afe CAREER &1 U& fAfyd 191 # DBSFFS & &U & Hfed fan ol 7, df SYSTEM &1 I} wwn § 39 gfed forar smem?

SXTUTI
A

SXTUTI

JKLMBO
B

JKLMBO

TZTUFN
c

TZTUFN

LKQWTG
D

LKQWTG

Correct Ans : C

Q.No: 111 On the basis of certain coding rules, some words are coded as follows:
2417750

LIKE : 5678

KEPT : 7963

LOOK : 6225

Based on the above given codes, what is the individual code for I?

FO BT (el & MUR N $B Tea! B FUIER HifSd o s &
LIKE : 5678
KEPT : 7963
LOOK : 6225

W AT TT el F MR W1 F e ge w7 2
7

5

Correct Ans : C

Q.No: 112 If in a certain code language ‘RUN’ is written as ‘182114’ and ‘PEN’ is written as ‘16514’, then how will 'RANSOM’ be coded in that language?
2417756

Tl T fAfyd s U T 'RUN’ & 182114 3R PEN’ &1 16514 ferar SI1m 8, df RANSOM 'Y I HIST # H& Sifsd fpar smamm?

1841491315
A

1841491315

18114131915
B

18114131915

18114191315
C

18114191315

18114191513
D

18114191513

Correct Ans : D
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Q.No: 113 If'PAINT’ is coded as ‘74128’ and ‘EXCEL’ is coded as ‘93596’, how is ‘ACCEPT’ coded?
2417762

I ‘PAINT’ &Y '74128" 3R ‘EXCEL’ &1 93596’ & w0 & pfed a1 a1 7, a1 'ACCEPT' & ¥ gfed favar smem?

455978
A

455978

459578
B

459578

457958
C

457958

459758
D

459758

Correct Ans : A

Q.No: 114 From the given alternative words, select the world which can be formed using the letters of the given word.
2417886
AMPLIFICATION

Pl fided § 3 a8 ea IAT S AT TT e F 1R BT IR FRP SN S T 82
AMPLIFICATION
ACTOR

ACTOR
MANOR

MANOR
CHAMP

CHAMP

MANIA

MANIA

Correct Ans : D

Q.No: 115 From the given alternative words, select the word which cannot be formed using the letter of the given word.
2417890
UNIVERSALISATION

Frafafea fawed # § 95 T IR S T T e F ofari 1 TN RS T S S Webell B
UNIVERSALISATION

NATION

NATION
CURTAIN

CURTAIN
LIVER

LIVER
AVIATION

AVIATION

Correct Ans : B

Q.No: 116 From the given words, select the word which cannot be formed using the letters of the given word.
2417896
CIRCUMSTANCES

Frafifed foded ¥ § ag Tea gAY S AT T W & SreRT BT T R TET ST S T B

CIRCUMSTANCES

A DISTANCE
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DISTANCE
STANCE

STANCE
MuUsIC

MuUsIC
CIRCUS

CIRCUS

Correct Ans : A

Q.No: 117 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2417902
ORGANISATION

Frafafed foded # 3 a8 Wea IF1T S AT 7T Wea F 1R BT WA BB Te! ST S el
ORGANISATION

GRANT

GRANT
NATION

NATION

GIANTS

GIANTS

ORANGE

ORANGE

Correct Ans : D

Q.No: 118 Find the missing number in the series.
2417944
71, 95, 121, 149, 179, ?

e H I G 1 BNl
71, 95, 121, 149, 179, ?

198

198
211

211
206

206
213

213

Correct Ans : B

Q.No: 119 1In the following question select the related number from the given alternatives.
2417975 97.16:67: 1143

few 91T fased! 7 ¥ H@efd T&T & T9T FA
97:16::67:11::43 -

a4
A

4

7
B

7
C 6
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6
9

9

Correct Ans : B

Q.No: 120 In the following question select the related number from the given alternatives.
2417981 36:343 11331

U a1r fawedt & ¥ gafid & &1 93w

36343 - 1331

81

81
121

121

100

100

144

144

Correct Ans : C

Q.No: 121 If + means ‘+°, * means ‘=, + means ‘—" and — means ‘*°_ then what is the value of the following
2417991 expression?
16-4+12=x3+5

T = &3+ o« FT N = &, + 7 3 < @3 - =7 309h 0 B O e TET e T
T FATRIET ?
16-4+12x3=5

59
A

59

53
B

53

65
C

65

67
D

67

Correct Ans : C

24’107:919252 If, “L” stands for “+°, ‘M’ stands for *—’, ‘N stands for *x’, ‘P” stands for *+’, then
I4NIOL42P2ME="7

A <L T 31+ B, M BT 3R] B, N B 3 0 § P b1 3 B, AW

14NI1OL42P2M8="7

153
A

153

216
B

216

248
C

248

251
D

251

Correct Ans : A
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Q.No: 123 Which two numbers should be interchanged to make the given equation correct?
2418001
9+4+2-6x3=4+3%x6-9+1

& T wHieR0 &1 wEl S & U fore < gemeht @l smuw H ager afeu?

9+4+2-6%x3=4+3x6-9+1

5and 4
A

53R 4

4 and 9
B

43dR9

4 and 2
C

43R 2

6 and 4
D

634

Correct Ans : D

Q.No: 124 If x stands for -, + means x, + means + and - means +, then what is the value of the given expression?

2418007
175-25+5+2x3+10="?
e x BT o -, + BT 3 x, + BT 3 + AR - Fr O + A A
175-25+5+2x3+10="?
-13
A
-13
-15
B
-15
-16
c
-16
-17
D
-17

Correct Ans : A

Q.No: 125 Identify the diagram that best represents the relationship among the given classes.

2418255
Coffee, tea, cold drinks
fu T i & g el T T IgR UAFRIGE B I T B UG B
BIPT, I, Pics o
A
(@)
B
O
- @
@)
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P,
O

® ©

Correct Ans : B

Q.No: 126 Temporary removal from the payroll of the people with surplus skills is known as:
2418534

SRR BN TS AN BT U o SR B Fgaral g-

Resignation
A

Frea

Lay off
B

st

Discharge
C

et

Retirement
D

Far Fafr

Correct Ans : B

Q.No: 127 Separating an employee from the payroll for violation of organisation rules come under
2418537

e & ot BT Ieder A F BRI freht HH B W I et HRA 1 Wae Fuffad & J ks siavid ot ¥

Dismissal
A

et

Retirement
B

Fargry

Lay off
C

ELait

Resignation
D

e

Correct Ans : A

Q.No: 128 Changes in pay status and job conditions of new position or job almost similar to old job:
2418539

R B8t B FHA T8 B 2 W o G F B a1 uRad Bl Bed 8

Promotion
A

LCiEi)

Transfer
B

MR

Recruitment
C

Prf

Retirement
D

Far Rk

Correct Ans : B

Cmminl cammannikilie, A liimiaann in baceiae An
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SULIAN 1ESPUIISILINILY UI DUSITIESS 15 WUWalUS
Q.No: 129 4 t

2418572
AR B A et Fafifed § @ e ok ekt 3
Self profit earning
A
ST DT 3 g P
Customers
B
Eaica
Self growth
C
W
Fulfilling self desires
D

-3 B GfF B

Correct Ans : B

Q.No: 130 It is a voluntary Association of persons who join together with the motives of welfare of the members

2418575

Tg AR 1 T Wisd U9 3 S Gawdl & Feam & I29 39 Iy Al ©

Partnership
A

Hrfterd

Cooperative society
B

PioRfed Grarget

Joint Hindu family
C

Ty fig ufvar

Sole proprietorship
D

THa @i

Correct Ans : B

Q.No: 131 are Industries that are engaged in breeding plants and animals for their use in in further reproduction.
2418576

T I S S yoA H IuET % o delf SR Shdt & weE & @ gu R

Extractive industries

A

Freefor I

Manufacturing industries
B

fafmfor Seivr

Construction industries
C

fRmfor 3

Genetic industries
D

SR ST

Correct Ans : D

Q.No: 132 In sole proprietorship form of business organisation identify the correct statement which of the following does not comes under the merits of sole proprietorship
2418588

GRS WMo F THa wWiitd & Terf § T8 Hu ¥, thd Wit & Faffad § § o9-8 o7 76 89 §

Direct incentive

A
Tl e
Delayed decision making
B
fFofa o & e
Ease of formation and closure
C
BT IR FHIG F STt
D Confidentiality of information
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I P Mo

Correct Ans : B

Q.No: 133 DIN stands for

2418682
T o1 orf e §
Direct invoice number
A
SRREE TARY AR
Directly identified number
B
SrRTed HRSRERS R
Daw identify number
C
3 SRR R
Director identification number
D

SRRER HESTFH Aev

Correct Ans : D

Q.No: 134 The rules for internal management of the company is known as

2418683
FTR & idRe Teie F Fam a1 FEan
d of iation
A
1 %t afefaaet
Article of association
B
T TR
Prospectus
C
el
Stock exchanges
D

e TaaEd

Correct Ans : B

Q.No: 135 Commercial papers come under which types of sources of funds

2418686
aiforfues w, i & 59 TeR & Wid & ofid o ¥
Long term sources
A
Ao Ha
Short term sources
B
eI
Medium term sources
C
e 3@l & 9
Equity shares
D

R R

Correct Ans : B

Q.No: 136 The place where buyers and sellers are brought into contact with one another is:

2418715
TE VI T WIIR SR b wo-geR & Hud 7 &
Market
A
SNIR
Product
B
CRICS
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C Channel

T

Function

kol

Correct Ans : A

Q.No: 137 The process that directs the flow of goods and services from the producer to the consumer by creating time place ownership and awareness utilities is known as
2418717

98 UfhaT St TG, RIF, WIthd 3R SFRedbdr Tt JTTdr & IoT Hd U avgall ok Jarefl ot Saerisdi 9 Teed Bl 3R MR Bt 8, 39 ufsear w1 Fafiied & 3 fbaes gRT 7 o 8:

Human resource

A

HHE FHYT

Production
B

Jdred

Marketing
C

fwor

Research
D

STHUE

Correct Ans : C

Q.No: 138 Which of the following comes under the benefits of marketing

2418719
Fofifed # 3 S5 U & g & omia o §
Low living standard of people
A
it 1 it wR
It forbid firm to earn more profit
B
g IUHH B 3P TATHT 3 B | Al &
It generates gainful employment opportunities
C
AT et ASHIR & SR Y G Bl &
Hinders economic growth
D

e i i it Fear &

Correct Ans : C

Q.No: 139 Aspect of marketing which deals with discouraging customer’s for certain class of customers in particular on either a temporary or permanent basis
2418723

AU &7 9 Ue S EH D1 A1 WGR TEH! & [l W GG Bl ARTE T F A IRITE ¥ I galenied Heal &

Marketing
A

fworr

Demarketing
B

Szicara

Human Resource Management
C

HHa Y TayT

Financial management
D

it weiee

Correct Ans : B

Q.No: 140 Which of the following defines management is pervasive?
2418776

Fpfifad & 3 $F g8 TRy o=ar @ & udem adfis 82

A Principles and tech

iq of have universal application
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el & Rl iR deie! & it g 8 §

They can be applied only to social organisation

I Pad GHIR WIS W AR T S Webell &

They cannot be modified to suit the given situation

I T RN & oy e 7 fvar ot e ©

They are rigid laws

IBR B A

Correct Ans : A

Q.No: 141 Management is the art of getting things done

2418777

TSt T R I F el §

F.W .Taylor

.S, TR

Henery Fayol

T waa

Marry P. Follett

. wioe

L. Urwick

T Sfdd

Correct Ans : C

Q.No: 142 with which of the following best determines the difference between administration and management

2418778

Frafeied & 4 SH-31, Y 3R TeyT F i 3R B Ja9 SR ¢ F e el &

Administration is concerned with policy making for the entire or isation while g t is concerned with the implementation of policy

TR T ey I W6 F forg =fifey Fmfor & § weifs veiem Ay & w3 el §

1t is a decisi making function while ration is an ive function

yae, fofa A &1 HRf § Safe YRR U FrieRt e @

Administration decides who should do it and how he should do it while management decides what is to be done and when it is to be done

TR I8 T BT § 5 FRf frads g1 b 9T a1fey SR 3w R 39 $ b I a1ty Siafds weiE 9% a0 FRan § 5 o B & ok d e §

1t is a thinking function while administration is a doing function

Y&t U TR &1 Yo € Seid TG fharoa Jaeh v §

Correct Ans : A

Q.No: 143 The value of all final goods and services produced within country during a particular year is known as-

2418927

et fadw o & ERM 3 & iR Sarfed wt oiftm agalt ofR Jarel & ww &t & = ST S 3

Gross National Product

el AP IAG

Gross Domestic Product

THA WY IUG

Total product

P A

Net National Product

¢ P IAE

Correct Ans : B

Q.No: 144 The difference between the exports and imports of a country is

2418930
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forelt ¥ & fraf iR st & o9 &1 SR §
Balance of trade
A
SR HgerT
Consumption
B
|ud
Balance of payment
C
T Hger
Trade deficit
D

R 91eT

Correct Ans : A

Q.No: 145 A systematic record of all economic transactions between the residents of a country and the rest of the world during a given period of time is

2418931
foreft 3= & el ok 2w fay & o we FfEa sy & dRM Wit sifife -7 1 0 oafud Rars
Economic factors
A
fifes PR
Balance of payments
B
T Sger
National income
C
g o
Social factors
D

IS FRES

Correct Ans : B

Q.No: 146 Which of the following statement is incorrect about balance of payment?
2418933

A TgeH & IR § Fufiied § § 319 91 oA Tad §

It is a summary statement of all economic transactions between the residents of a country and rest of the world

A
T8 T W Faie ok g & aret et & ot wit onfife dMee o1 0o IR iR &
It does not adopt a double entry bookk ing sy
B
T 58t ufafd st ufy @ T siear @
It relates to a period of time normally a year
C
Tg A T TP aY 3 ol @ Haha B
Receipts are shown on credit side and payments on debit side
D

g Hf¥e WEs W R Yar e wgs R REn 91 §

Correct Ans : B

Q.No: 147 Financial decision includes Dividend, Financing & Investment are-
2418997

facftar ot & emier, faeior o faw e 2

Financial Decision

A
farcfta foofa
Human ResourceDecision
B
TMg dureE fofa
MaterialDecision
C
e fofa
D Production Decision

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_AdminPanel/Final_Model_Answer.aspx

37/48



1/31/22, 11:11 AM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_AdminPanel/Final_Model_Answer.aspx

Jare ffa

Correct Ans : A

Q.No: 148 Central bank in India is
2418998

UYRA $T FoT I §
RBI

RBI
SBI

SBI
UCO BANK

T3l 5

PNB

PNB

Correct Ans : A

Q.No: 149 SLR Stands for-

2419000
SLR &1 1 Haed 87
Statutory Liquidity Ratio
A
Wegeltt fifefed Tt
Stationary liquid rate
B
R fafds e
Straight less roll
C
we A I
Strength liquid rate
D

Wy ffds e

Correct Ans : A

Q.No: 150 As a measure of credit control rate is also known as discount rate.
2419001
wfee fam & o & w0 | R P ge R & Y H oft S S 7
Repo Rate
A
W e
Bank Rate
B
PR
Reserve Repo Rate
C
Tt ¥t &%
CRR
D
CRR

Correct Ans : B

Q.No: 151 What should come in place of the question mark (?) in the following question?
2421508

Tx8+8+2-32x(1/8)—-6=8="7

Froffad vy & vyars g (7) & RIF | R SFT AR

Tx8+8+2-32x(1/8)-6x8="7

6
A

6
B 8
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8

9
C

9

10
D

10

Correct Ans : B

Q.No: 152 What should come in place of the question mark (?) in the following question?
2421509

[{f{16=4) =4} =4]="

Frafafea vy & uyars & (?) & RIF R 47 31 Aige?

[{(16=4) x4} +4]="

2
A

2

3
B

3

4
C

4

5
D

5

Correct Ans : C

Q.No: 153 What should come in place of the question mark (?) in the following question?

2421513
(2% 37+ (4 x 9P x (27 < 8)2=(6)°
Frafafea vy & uyars & (?) & R R 47 31 Aige?
(2% 3+ (4 x 9P x (27 % 8= (6)°
13
A
13
6
B
6
3
C
3
8
D
8

Correct Ans : A

Q.No: 154 What should come in place of the question mark (?) in the following question?
2421517 40% of 540+ 182 =7% of 1200

Frafafaa vy @ ayares e (7) & E R AFT e
540 DT 40% + 182 = 1200 DI 2%:

25
A

25

30
B

30
C 45
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as
40

40

Correct Ans : C

Q.No: 155 Find the largest fraction of the following fractions?
2421547

Frafafed el # 8 ged 9t e 31d Sifvg?
17
ER)

17
23

27
32

27
32

37
43

37
43

47
53

47

53

Correct Ans : D

Q.No: 156 Find the smallest fraction of the following fractions?
2421550

Frafafea el 4 3 Te@ 318 i 31a i

31
i7

31

i7

24
19

24

19

42
27

42
27

31

29

31

29

Correct Ans : D

Q.No: 157 Find the largest fraction of the following fractions?

2421558
Fraffed et & § 9a 9t firg 91a Sifoe?
&
25
A
&
25
B 19
o8
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19
92

13
69

12
69

21
112

21

113

Correct Ans : B

Q.No: 158 Find the largest no. which divide 39, 46, 53 and leave the remainder 3, 4 and 5 respectively.

2421595

95 91 A I} TS 19 BT R 39, 46 3R 53 HT AT A W AYHA HU: 3, 4 R 5 TIAE |

6
A

6

8
B

8

9
C

9

12
D

12

Correct Ans : A

Q.No: 159 The L.C.M. of two numbers is 45 times their H.C.F. If one number is 125 and the sum of HCF and LCM is 1150, the other number is:
2421606 Q) YRS BT . . ITS T, W BT 45 [ 21 IR UH TN 125 F AR W . SR T .9 BT AN 1150 B, A gO T 72

Correct Ans : C

Q.No: 160 The unit digit of (281 x 15 x 16 x 18) is:

2421632
(281 x 15 x 16 x 18) & IBIS P 3 B:
A s
B o
c H
D s

Correct Ans : B

Q.No: 161 A 4-digit number is formed by repeating a 2-digit number such as 2424, 1212 etc. Any number of this form is always exactly divisible by ?

2421657 Uw IR %l B TG B 2 3BT B TRIGRT GRT S T R, I 2424, 1212 AN | 39 THR 3 His +ft Tom Fw F § frw § wia gofa: faunfom St

“
.
¢ B
o

Correct Ans : D

Q.No: 162 1f 7004 of m = 50% of n and n = x% of m. Then the value of x is:

2421670
TfE m @ 70% = n & 50% & HT n = m & x% g, & x & &= A ol
140

A
140
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B 135

135

170
C

170

150
D

150

Correct Ans : A

24"‘201:618573 Kiran scored 55% of the maximum marks in Hindi and x% of the maximum marks in
English and 75% of the maximum marks in Physics. The maximum marks for Hindi is
120, for English is 140 and for Physics is 180. If the overall percentage of marks scored

by Kiran in the three subjects is 63%%, then find the value of x, if she scores 79 marks
in English.

fRToT o 88T & 3RO 3 &7 55% T 3EET & aEeae st & xoe I s fae T
HfOwas 3wt &1 75% 9eg A B & v sfEeoa s 120, 3T & w140 s
ST & T 180 &1 =fy A R # RROT QU ST AT T F Gl TR 6375% &, A
X @1 A 7 ST, o 9 3EeT # 79 3w oeg s § |

3,
56 770

Eh
56?30

s93%
593%
623%
623%
613%
613%

Correct Ans : A

Q.No: 164 The cost price of 25 mobiles is equal to selling price of 20 mobiles. The Gain percent is:
2421713

25 HisTgdl S I Ged 20 Argdl F 4.9, & R 8, @ ufid a3 w

20%
A
20%
15%
B
15%
22.5%
C
22.5%
25%
D
25%

Correct Ans : D

Q.No: 165 By selling a banana for Rs. 38, there is a Profit of 52% If it is sold for Rs. 37.5, the
2421714 profit percent will be?

38 TUA # U ol deeT T 52% @1 Bl 51 ATE T & &1 37.5 TG4 F q= 10, o uferara

TS AT B2

A 75
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75

12.5

12,5
25

25
50

50

Correct Ans : D

Q.No: 166 ghiyansh, A publisher printed 2000 books at a cost of Rs. 70,000. He distributes 400 copies free as specimen copies.

2421738 He gave 30% discount on the marked price of each book which is Rs. 75. What is his Gain or Loss percent ?
U G RIarer o+ 70,000 ¥ FT ARG § A S 2000 TR el 38 400 950t A6 & @ W AT & afe &7 98 Tode
T & Ao FET T 30% F ST T § O el il B A6 75 9§l SHE S0 w0 q G A drew |
20% Gain
A
20% =
25% L0sS
B
25% il
10% Loss
o]
10% gIfer
10% Gain
D
10% =ty

Correct Ans : A

Q.No: 167 7
2421752 A sum of money becomesg of itself in 3 year at a certain rate of simple interest.

The rate of interest per annum is:

TTg TRTATEOT #4TaT GaNT ol gl & 3 @5 &7 T3 &r Ealm'a"rm%‘l SAToT T ATy &Y aaTd |

6%%
A
5,
6%
Do,
53%
B
5 g%
8%
c
8%
2.5%
D
2.5%

Correct Ans : B

Q.No: 168 p 5um of Rs. 4000 amounts to Rs. 4800 in 4 years. What will it amount to if the rate of interest is increased by 297?

2421755
F. 4000 F1 TR 4 a9 F 5. 4800 &) T §1 3 =71 H ST 2% s & A0 @ A41 Faera A
Rs. 484

A
3. 484
Rs. 520

B
3. 520

c
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Rs. 512

%. 512

Rs. 500

%. 500

Correct Ans : C

Q.No: 169 P lends Rs. 2500 to Q and a certain sum to R at the same time at 7% annual simple interest. If after 4 years P received interest of Rs. 1120 from Q and R, the sum lent to R is:
2421761

P Q@I 'F. 2500 TUT I THY R F $ IR 7% dIes TR 761 & F SUR 1 T 4 9 a1g P Y Q 3R R & Fl AR . 1120 &1 F =7 & yue gY, df R $Y FuR <t ot A 31

Rs. 750
A

%. 750

Rs. 4500
B

%. 4500

Rs. 3000
C

%. 3000

Rs. 1500
D

®. 1500

Correct Ans : D

Q.No: 170 The compound ratio of the inverse ratios of the ratios x : yz, y : zx, z : xy is—
2421845

x:yz,y:zx,z:xy&i?[qﬁf?w&@?ﬁﬁaﬂﬁ%w%»

1:xyz
A

1: xyz

xyz:1
B

xyz:1

1:1
C

1:1

x:yz
D

X:yz

Correct Ans : B

Q.No: 171 1
2421849 If a certain amount is fully distributed among A, B & C in such a way that A receives 5 of

1
the amount, B receives ;of the amount and C receives Rs. 1200, then how much

amount would A receives?

afg 15 e A A, B 3R C # gl op 38 Uar faufid &1 g & A H%TTI"@W% T, B &7
rrﬁehsrm% 191 3K C &) 1200 S5 e &, ) A ) Frerell 12 et

Rs. 4000
A

4000 TW

Rs. 1600
B

1600 ¥0

Rs. 3600
[

3600 FW

Rs. 1800
D

1800 ¥5

Correct Ans : C
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Q.No: 172 The average of three numbers is 135. The largest number is 195 and the difference between the other two is 20. The smallest number is:

2421884 i Wremait o1 SNUd 135 ¥1 I ST WRAT 195 § 3IR 317 &Y TS BT 3R 20 T G BT I 7

g p
B o
c 108
P 11

Correct Ans : B

24’10;914703 A jar full of whisky contains 40% alcohol. A part of this whisky is replaced by another containing 19% alcohol and
now the percentage of alcohol was found to be 26%. The gquantity of whisky replaced is:

TEEThT ¥ 81Y IR & 40% HewiGel &1 59 [CEwhT & U H1ET &1 ¥R (STl § A6 F agerl
AT § THHH 19% HAewhled o H Hd Hehlge & Wd¥d 26% &1 <11 &1 CeEehl &1 a5
AT S 9ol a5

1

3

Wty L

mor W

mlw ;N

nw

Correct Ans : B

Q.No: 174

2421986 Two men Ram and Shyam start together to walk a certain distance, one at 4 km/h

and another at 3 km/h. The former arrives half an hour before the later Find the
distance.

& cafe I 3R et Ue TS g 1 o &er o fordr vah &1 Tora shover: 4 Fpeiiveter e 3
Terafiveter o ey 3 =Te7ey &1 @ ATel SRR 3T AT HET UEe Y S 8198 e gl aard|

8 km
A

8 foit

7 km
B

7 it

6 km
C

6 fotit

9 km
D

9 fosft

Correct Ans : C

Q.No: 175 P & Q can do a work in 10 & 15 days respectively. First day P & second day Q work, then the whole work complete in alternate days. In how many days the work will complete?
2422011

P 3 Q frdt M@ # 10 7 15 fal H 1 o THd ¥1 UBA G P 7 g A Q ofR oY off T YR 3 SRI-S I T R4l &1 A e o & 1 W € wwmeme

12 days
A

1217
B 15 days
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15 feq

8 days
C

8faA

7.5 days
D

7.5

Correct Ans : A

Q.No: 176 “iorra” § FiEfiad & & SIH-31 ey 99 87

A P TG TN
B YA TYTY T
[¢ SHTRAPRUT TGP THN
D PR TG T

Correct Ans : D

Q.No: 177 “ufd” UG &1 YT B Tl aG BT 94 BIfTT-

A iR
B e
C ard

D e

Correct Ans : D

Q.No: 178 AT & ¥ “STewR” Tag # BIH-T1 IuT 82

A w
B CH
C il
D B

Correct Ans : C

Q.No: 179 fAfIfed & ¥ yidgards UM GG BT 90 Bifore-

A o

B il

c e

D Fwear

Correct Ans : D

Q.No: 180 AR & ¥ HH-T1 15 YeitaTad Fd-TH BT Tl ITERT 82

A S T T FE A

B Y YSerER & yad R 1
c I FS T U1l

D ERECER R R o]

Correct Ans : A

Q.No: 181 FrARifea # ¥ “$@” 1 vafaard <@ Far 7

A wiTor
B T
c ko
D 3y

Correct Ans : C

Q.No: 182 fArffEd & ¥ “snya” &1 fad wsg a1 32

A SHERA
B TR

C SEHA
D YgHT

Correct Ans : A

Q.No: 183 FARiRed & ¥ ae-gre “Fafo-fFmfor & et arf g o1 907 Fife-

A eft- THS BT Aar
B -

C 9 - IR

D T T

Correct Ans : B
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Q.No: 184 ¥i&g “firer” 1 3f “sREA € Y, " @1 o K
A ko

B TR

c Uk

D SUER

Correct Ans : C

Q.No: 185 f=fifed & ¥ Y Tel=t It < T 7T PIoTe-

A SFARBR
B WA
c el
D iy

Correct Ans : D

Q.No: 186 fHfifad # ¥ 3y aelt aTet Wsg BT =TT FIoL-

A ifasRt
B farerror
C emfmT
D TS

Correct Ans : B

Q.No: 187 fwAfeEd & & 3RiTd/afiel Weg 1 =a BiomE-

A gad
B qq
C W
D e

Correct Ans : A

Q.No: 188 fmfifad # ¥ U WATR ” P TTBR BIF 8?2

A R st
B e
c v
D S ™

Correct Ans : B

Q.No: 189 B A T Iitvl F e # Yifthd Weg 1 WS Fet & & o g

o

A BHEN
B B
C Bt
D BT

Correct Ans : D

Q.No: 190 =@ # & ueRTge &1 i 1 &1 82

A e
B wferT
c U
b _—

Correct Ans : B

Q.No: 191 4w &1t & e 9% 81 22

A GH
B

C £l
D il

Correct Ans : D

Q.No: 192 "W 8" &1 Rl g e § 4 & 82
A
B
c

R

D

Correct Ans : D

Q.No: 193
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A

o0 w

T Pl & Teu F P g e 82
T
A% - Py
YR -

Correct Ans : A

Q.No: 194 g/ fbeH TR & g1 82

A
B
C
D

4244

Correct Ans : C

Q.No: 195 fARIRd # ¥ By ard 1 g BIRML-

A

B

C

D

TR F A W g S

I T B T SR o= HHRT
SATHTRT 7 U fewpe fomm a1fds a8 oI RT o1 T |
= TF B QI GHT T G|

Correct Ans : C

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_AdminPanel/Final_Model_Answer.aspx

Q.No: 196 &= i A T =M &Y IR W A sifer T ] (A), (B), (C) 3R (D) HHidh G TT 1 MUt Tg @1 B 5 a1epd & o HIT & quievr, i, ac, =@l & e Wi ar g9t @ve @1 PSR o e 71 3 3R gl

A
B
C
D

I U BT HHIS € IS IR 2| I a1p FeRfed & ot 1 e T b1 =y -
S AT BI/(A)AF] A H /(B)THRE T 1 B 21/(C) B IR e (D)
A

B

c

BIE e T

Correct Ans : C

Q.No: 197 AT & ¥ Y I1pa &1 797 PIfoTe-

A

B

C
D

T HY BT QUYBRU B P SHALFebell B
TET P HET T I3T
B SHST HRYT 7T Tobell §1

TR I R T B

Correct Ans : D

Q.No: 198 Tiifad ‘U 814 § A4, T i F & # Fe A A v ferg o1 v o wmam 82

A
B
C
D

SuifRm AR
e for e
R frE
Aorfrm frE

Correct Ans : B

Q.No: 199 FFRIEd & & BIF-71 GeTaR &1 waferd/Te! &4 82

A

B

C
D

R 3 2 3R W 1 e T wHE
7 3 g o a &Y I wwEE
R 9 foies SR T &t 1 W
A &1 27 3R T

Correct Ans : A

Q.No: 200 FARIRd & ¥ BH-11 febay didiaa o1 vafed/agt w4 82

A

B

C

D

TR 7T IR AT T8 Y SHAGI |

T 7T A e TE o S|

T I TG ST T A S|
TRIT 7Y SR SR ST X6 ¢ e

Correct Ans : C
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C examination Group 2 - Reports
board

Print

Testdate 18 Dec 2021 v

TestSlot Shift 2 v

Q.No: 1 In which year was the Agra Fort designated a UNESCO World Heritage site?
2419228

IFRT & f5at 1 form o T oot fay eReR wiet ifa o ram am?

1979
A

1979

1983
B

1983

1986
c

1986

1990
D

1990

Correct Ans : B

Q.No: 2 Which of the following statements about the Bekal Fort is NOT correct?
2419233

54 B & IR H Fafiied # F S 01 $uF TQ! el 82

It is made up of dark maroon laterite stones.

A
g MER A AevTse URR A T 7
It is situated on the coast of the Arabian Sea.
B
g 3R UFR & 7 R fRa &
It is in the state of Maharashtra.
C
I HERTY T A ¢
It is situated in the state’s northernmost district.
D

T 750 & wad IO R A R @

Correct Ans : C

Q.No: 3 In which year was the original structure of Fort William built by the British East India Company?
2419238

e S e ot gr1 I RAftrm 3 ga wRamT &1 fmfo feg o s mar are

1757
A

1757

1696
B

1696

1656
C

1656
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D 1612

1612

Correct Ans : B

Q.No: 4 Which of the following is NOT a way of investment in Human Capital?
2419306

frafifed & 3 oF 99 3ot & 9w 1t w1 T8 87

Education
A
fRram
Healthcare
B
WA @A
Training
Cc
wfRraror
Daily Wages
D
e Tegh

Correct Ans : D

Q.No: 5  The Economic Survey, 2021 of India has forecast which of the following pattern of recovery of Indian Economy?
2419308

URA & e Tderor, 2021 3 URA Bt srfarawn Bt Readt & Fafafaa & ¥ 5w Yo &1 yafgam wmn g2

V Shaped

A
§ F ER BT
U Shaped

B
g ¥ BN BT
W Shaped

C
Y F HTPR BT
L Shaped

D
TA F AR BT

Correct Ans : A

Q.No: 6 Annapurna Scheme was launched in which of the following years?
2419318

U Ao Fafafed # 9 few af § gE ot s A

1992
A

1992

1994
B

1994

1998
C

1998

2000
D

2000

Correct Ans : D
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Q.No: 7 The Union Budget 2021-22 has increased the budget allocation to the health and well-being by how much percentage?
2419329

Ffl Fo1c 2021-22 A WA 3R H & T goie 3i1de & e vfowra @1 S 3t 82

30%
A

30%

97%
B

97%

123%
C

123%

137%
D

137%

Correct Ans : D

Q.No: 8 Which of the following courts is used for Wimbledon?

2419391
faaeres & fore Fufafed & & g HIE &1 Iua fsar ST 32
Clay court
A
DI
Concrete court
B
HPIC PIE
Cemented surface court
C
Hids was B
Grass court
D

R B

Correct Ans : D

Q.No: 9  Which of the following countries Michael Schumacher belongs to?

2419405
rEHd YEER FHgfiied ¥ F fra 3w 3 gafa g2
France
A
i
Germany
B
S
Sweden
C
e
Switzerland
D

Raeerds

Correct Ans : B

Q.No: 10 The oceanic resources beyond how many nautical miles of the Exclusive Economic Zone belong to open ocean and no individual country can utilize these without the
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2419462

fafd snffer &= & fora Tt i § o AR TEIU G 9YE & Sfavid o § ofR P ot IR SR TR P TeAid F R ST ST AL R e 77

120
A

120

160
B

160

180
C

180

200
D

200

Correct Ans : D

Q.No: 11 Which of the following type of forest is also known as ‘Taiga’?

2419525
frafifed & 3 f5d UeR & 97 1 &M F AW F f S o 82
Mediterranean Trees
A
A U5
Deciduous Forest
B
LCESICE]
Tropical Forest
C
Surpfesdia o
Coniferous Forest
D

TpuRt &

Correct Ans : D

Q.No: 12 How many wars did the British fought with Mysore?
2419551

ST A AR § e gg @9

2
A

2

3
B

4
C

4

5
D

5

Correct Ans : C

Q.No: 13 Al Beruni was the Court poet of which of the following?
2419557

T T g ¥ ¥ e Rart g 42

A Muhammad bin Qasim

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx

4/57



1/31/22, 11:17 AM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx

e fam w1Rm

Muhammad of Ghor
B

N & geme

Mahmud of Ghazni
C

ot & HEYg

Qutb-ud-din Aybak
D

TgI-35-41F YA

Correct Ans : C

Q.No: 14 Which dynasty was also known as Yuechis or Tocharians?
2419585

g wotaw & gfe a1 Salas & 9 & off S o ar?

Parthians
A

o

Shakas
B

R

Sassanians
C

GIGHERE]

Kushans
D

puTor

Correct Ans : D

Q.No: 15 Who is the creator of the character Byomkesh Bakshi?
2419631

ST RA & IR F At F F2
Satyajit Ray
A
HegSitd I
Sharadindu Bandyopadhyay
B
IRfeg ST
Sharatchandra Chattopadhyay
C
TRATS TSI
Bibhutibhushan Bandopadhyay
D

fayfaymor sgtareara

Correct Ans : B

Q.No: 16 Who is the author of the novel “Two Leaves and a Bud"?
2419632

g ofioq US T 98" U & R P 82

Mulk Raj Anand

A
&b I TG
Raja Rao

B
RUGIRIE)
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C Anita Desai

Sfftar TuTE

Ruskin Bond

&g afs

Correct Ans : A

Q.No: 17  Who has authored the fairy tale “The Christmas Pig"?

2419643
w1 g fopem o forem foreht o2
Neil Murray
A
Hraw
Harper Lee
B
g ot
J. K. Rowling
C
S, &. ST
Stephenie Meyer
D

R 7R

Correct Ans : C

Q.No: 18 The Houses of Parliament must approve the Emergency proclaimed due to the failure of Constitutional machinery in State within how much time?
2419709

TE & TeA &I 9 F FAUAE oF B fApaar & SR N T $ fba wmd & iR dedt &+ gkl @2

15 Days
A

15 feF

1 Month
B

1 T

45 Days
C

45 f@a

2 Months
D

2 7R

Correct Ans : D

Q.No: 19 The Supreme Court of India has made the Right to Clean Environment implicit under which of the following Fundamental Rights?
2419720

URA F ot AT A W TR0 F AR $ Fufied § ¥ g fiftes sfier & qed ffid fFar g2

Article 14
A

TG 14

Article 19
B

IITE 19

Article 21
c

T 21
D Article 25
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TG 25

Correct Ans : C

Q.No: 20 The Constituent Assembly of India, met for the first time on which of the following days?

2419735

URA $ WAy THT F Ugeht oo Mufered ¥ ¥ fra T g2

9 December, 1946
A

9 fxiwR, 1946

26 January, 1946
B

26 Sa¥, 1946

9 December, 1947
C

9 fuw, 1947

26 January, 1947
D

26 AR, 1947
Correct Ans : A

Q.No: 21 In which of the following Wars were the Holkars finally defeated by the British?
2419912

Fofeiea # 3 5T g ¥ Siedr 3ida: 3EIST §RT IR gY 2?

Battle of Plassey

A
et 7t asTE
Third Anglo-Maratha War
B
WRRT HT-TRTST &
Third Battle of Panipat
C
Triud # Fwd asrs
Battle of Buxar
D

TR B qSTS

Correct Ans : B

Q.No: 22 Mark the incorrect statement regarding Matki dance.

2419918
HTH! T & Y T T $UA I fafgd R
This is a community dance of Malwa
A
Tg WAl 1 T e T4 §
This dance is performed mainly by men on the occasion of harvest
B
75 T FRiveT el g1 wwe e R I v s @
The dancers move rhythmically to the beating of a drum, locally called Matki.
Cc
39 T ¥ dfpai I $ 9 R Td B! 8, T A DI MG TR W TP T A1l 8
Initiated by a lone woman locally called Jhela
D

R ®R R o1 Hgar arell bl Aflee, 59 T ol €

Correct Ans : B
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Q.No: 23 The group of Digambar Jain temple are located in eastern part of Rehali on the right bank of which river?

2419925
frieR S AR 1 TE Yeet & odf Wi & fobw Tt e bR W Ry &2
Dulung River
A
3G
Sonar River
B
AR TE
Dehan River
C
TR
Beas River
D
I G

Correct Ans : B

Q.No: 24 Where was the “Adharshila” Stone Art Festival held in Madhya Pradesh in November 2021?

2419989
FaeR 2021 H 77 Yo B "yRRIAr W o Bieaa wat Smfor fosar m ur?
Bhimbetka
A
fiTdest
Khajuraho
B
RIS
Katni
c
Pt
Sagar
D
AR

Correct Ans : C

Q.No: 25 Which of the following places of Madhya Pradesh is very famous for leather toys and have also got GI-tag for the same?

2419991
T YR HT B A1 R IS & a1 & forg 95 URig § 9k I g9 forg sitemg-2 oft firen &2
Bhopal
A
Aiurer
Gwalior
B
aferR
Indore
C
KR
Jabalpur
D
SR

Correct Ans : C

Q.No: 26 1In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence i
Croatia has decided to tight controls against the spread of covid-19 along its Adriatic coast.
A Croatia has decided to tight

controls against the spread of

mmeaTd AN e Tam A deloATa e "
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c CUVIU-LY alully IS AUTidalt Luast.

D No error.

Correct Ans : A

Q.No: 27 1In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence i

The investigating agency was thorough interrogating the flight crew members to get the details about the plane crash.
A interrogating the flight crew members to get
B The investigating agency was thorough
C the details about the plane crash.
D No error

Correct Ans : B

Q.No: 28 1In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence i
The company has withdrew the drug as a precautionary measure to avoid its adverse effects.

to avoid its adverse effects.

No error.

drug as a precautionary measure

o 0O w >

The company has withdrew the

Correct Ans : D

Q.No: 29 Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

The teacher asked the students to write a short account of what they (have seen).
were seen
had been seen

had seen

o 0o w >

No improvement

Correct Ans : C

Q.No: 30 Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

(I find difficult) to understand why Vikas has remained silent on this matter.
A I find very difficult
B I find it difficult
C I find somewhat difficult
D No improvement

Correct Ans : B

Q.No: 31 Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

It is high time she (changes) her job.
must change
had changed

changed

O 0o ® >

No improvement

Correct Ans : C

Q.No: 32 Out of the given options, choose the one which is the correct passive voice of the sentence given below.
Does she do her duty?

A Are duties done by her?

B Is her duty done by her?

C Has her duty been done by her?

D Have her duties being done by her?

Correct Ans : B
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Q No: 33 1n tne queston a sentence nas bpeen given in ACuve/Fassive voiCe. uut Or tne rour aiternative suggested peiow, Seiect tne one wnicn Dest eXpresses tne sarme sentenc

Did the noise startle you?

Did you startled the noise?
Was the noise startled by you?

Were you startled by the noise?

o 0o w r

Was you startled by the noise?

Correct Ans : C

Q.No: 34 1In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sei

The train knocked down the man.
The man was knocked down at the train.
The man was knocked down with the train.

The man was knocked down to the train.

O 0 @ >

The man was knocked down by the train.

Correct Ans : D

Q.No: 35 A sentence has been given in Active/ Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active \

Who is ringing the bell?

By who the bell is being rung?

A

B By whom the bell is being rung?
C By whom has the bell been rung?
D

By whom had the bell being rung?

Correct Ans : B

Q.No: 36 Out of the given options, choose the most appropriate word/set of words to fill in the blank.

The crow __ down and stole the cheese.
A flew
B have flew
C have fly
D flown

Correct Ans : A

Q.No: 37 Out of the given options, choose the most appropriate word/set of words to fill in the blank.
The farmer. the harvest.

gathers

have gather

has gather

o 0O W »

have gathered

Correct Ans : A

Q.No: 38 Out of the given options, choose the most appropriate word/set of words to fill in the blank.

A web of lies has against the developing countries in the name of environmental changes.
A been spun
B had spun
C been spin
D being spun

Correct Ans : A

Q.No: 39 Out of the given options, choose the most appropriate word/set of words to fill in the blank.

He glasses for reading.
A wears

have worn
C have wore
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D has wear

Correct Ans : A

Q.No: 40 Select the most appropriate option to fill in the blanks.

Employers should not into the private lives of their employees.
A intrude
B abolish
C alleviate
D belated

Correct Ans : A

Q.No: 41 Select the most appropriate option to fill in the blanks.

It is futile to for the something which does not exist now.
A lament
B impetus
C influx
D fearless

Correct Ans : A

Q.No: 42 Select the most appropriate option to fill in the blanks.

This guy did not play the game with a full

A horn
B nest
[ deck
D gist

Correct Ans : C

Q.No: 43 Select the most appropriate option to fill in the blanks.

She knew that society would her for leaving her children.
A pretend
B develop
C arrange
D condemn

Correct Ans : D

Q.No: 44 Select the most appropriate option to fill in the blanks.

Pilots must abstain alcohol for 24 hours before flying.
A from
B into
Cc over
D away

Correct Ans : A

Q.No: 45 Select the most appropriate option to fill in the blanks.

She refused to back and was fired from the company.
A upon
B over
Cc into
D down

Correct Ans : D

Q.No: 46 Select the most appropriate option to fill in the blanks.
Our scientific models the importance of moving towards a decision-centric framework.

A demonstrating

Aamnanctratac
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B

C
D

“LInvHSU uLteSs

demonstrate

to demonstrate

Correct Ans : C

Q.No: 47

O 0 @ >

The question below consists of a set of labelled sentences. These sentences, when properly sequenced, form a coherent paragraph. Select the most logical order of th
P. "I have a plan that seems very simple, but I know it will be successful.”

Q. Many plans were discussed, but none of them was good enough.

R. At last, a very young Mouse got up and said.

QPR

PQR

RQP

QRP

Correct Ans : D

Q.No: 48

O 0 @ >

The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of the
A. The British officially recognise the battle's duration as being from 10 July until 31 October 1940, which overlaps the period of large-scale night attacks known as th:
B. The Battle of Britain was a military campaign of the Second World War, in which the Royal Air Force and Navy defended the UK against Nazi Germany's air force.

C. The battle has been described as the first major military campaign fought entirely by air forces.

D. German historians do not accept this subdivision and regard the battle as a single campaign lasting from July 1940 to June 1941, including the Blitz.
DACB
CADB
ACDB

BCAD

Correct Ans : D

Q.No: 49

A
B
C
D

Select the antonym for the given word.
ELEGANT

Vulgar

Graceful

Refined

Sophisticated

Correct Ans : A

Q.No: 50
A
B
c
D

Select the CORRECTLY spelt word.
Idiosyncrasy

Hipocrit

Liesure

Libarty

Correct Ans : A

Q.No: 51
2420200

For persons a, b and ¢, the image/jpgs formed in their eye has been depicted below in the diagrams -

Retina Retina
fa) (b)
Retina
fc)

Which of the following statements is correct?
1. Person a needs bifocal lens.

2. Person c suffers from hypermetropia.
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3. Person b does not have any vision-problem.

R a, b 3R ¢ F BT, 399 ot § 99 REf &) 9 Ru 7w el § exfar mn & -

Retina Retina
{a) (b)
Retina
(c)
Frofifad o 5 § o a9 82

1. RS a & TRHIH AY B GRS Bl 8
2. fE ¢ BIETRACHYA 4 difda §
3. K b F FS =B-Town & B

Only 1 and 2
A

Faa 1 3R 2

Only 2 and 3
B

Faa 2R 3

Only 1 and 3
Cc

Faa 1R 3

1,2and 3
D

1,23R3

Correct Ans : B

Q.No: 52 %Wyhich of the following is also known as the ‘laughing gas?
2420208

Tefafeg & & g st T F =0 5 AT e 27

Methane
A
Ha=
Nitrous Oxide
B
TS SHiTES
Hydrogen sulfide
C
TGO HEPIES
Butane
D
e

Correct Ans : B

Q.No: 53 A car travels in a single straight line direction. Which of the following statements can be true?
2420209

Th R T & fomm & e Yar # gacht 81 Fafofad & @ $F Sy 9d 8 Tehar 22

Distance travelled by the car will always be less than displacement of the car.

M gRT a9 F 7 g g9 M F v F w9 gt
Nictanca travallad hv tha Far will alwave ha mara than dienlareamant anf the Far
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———pre————

B e rmm ar s mim g eie waes mwaas s emasg e e rias = e
M gRI a9 F1 TS g 79 M F e F of¥rew it
Distance travelled by the car will always be equal to displacement of the car.
C
M ERT a9 FI T g g9 M F ARG F RIR gty
Distance travelled by the car will be zero when displacement is zero.
D

oo 3R 89 R M g @ 9 v o < i

Correct Ans : C

Q.No: 54 The velocity of sound will be lowest in -

2420220
@ &1 3 FeA HH BT -
Steel
A
wa
Glass
B
RIE )
Air
C
ag
Water
D
ot

Correct Ans : C

24'\‘20625252 Sun radiates joule of energy every second.
T U A T AT T T TR FeaT gl
3.86 x 10%8
A
3.86 x 10%%
3.86 x 10%°
B
3.86 x 10%°
4.92 x 103°
C
4.92 x 1030
4.92 x 1032
D
4.92 x 1032

Correct Ans : B

Q.No: 56 Corrosion means deterioration of metals by which of the following?

2420369
TR o1 3 Frafied  F s grRT urgal @1 aru 82
Electrochemical Process

A
fagga wmafe ufsear

B Electroanalytical Process
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ggd It fJfy
Electromagnetic Process
Cc
faqgadata ufiar
Hydroelectric Process
D

Safagga ufekar

Correct Ans : A

Q.No: 57 Which of the following gas is the main constituent of the Protein?
2420370

Fofifad & 3 B9 9 79 WA o1 957 9ew 82

Ammonia
A

S

Nitrogen
B

RLEEEE

Oxygen
C

Sifafie

Carbon dioxide
D

P STSATTAES

Correct Ans : B

Q.No: 58 Presence of Oxygen speeds up the process of Oxidation in food. The presence of which of the following helps in reduction of such speed so that the oxidation occurs :
2420372

SoRfie Pt SUTRUTY 2ioH 7 Siafic=ur 3} Ufpar &1 at Beal 71 FEfiEd 3§ 3 frast Surufy T 7 &t o0 37  Heg IR § dif Sifefiiory Heow o} W 8

Nitrogen
A
RLTE
Argon
B
U]
Carbon dioxygen
Cc
P STFHTHIES
Helium
D
Siferam

Correct Ans : A

Q.No: 59 Which of the following gases is used in the Fire Extinguishers?
2420376

e @3 § Fofiied & ¥ f5a T &1 Suant fear s 82

Argon
A
U]
Helium
B
iferaw
C Hydrogen
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GQESEE]

Carbon dioxide

P SZATTAES

Correct Ans : D

Q.No: 60 Which of the following agencies is responsible for the keeping track of developments of landslides?

2420383
EGE B FeAISl TR ToR W@ F fore Fafafed 3 § S @ ool omeR &2
Indian Meteorological Department
A
YR T fum
Indian National Centre for Oceanic Information Services
B
AT A At & g urdta Tt Fw
Geological Survey of India
C
Rratenfrea & sifw sfem
Snow and Avalanche Study Establishment
D

Correct Ans : C

Q.No: 61 Which of the following organizations has first defined health as “State of complete physical, mental and social well being and not merely the absence of disease”?
2420505

fofied & ¥ f5a TeT 3 T8 Usd WG &1 "qul IRRP®E, TS 3R THING ST 31 3aR, 7 f FHaa I 31 surifar & =g # ufiia fear 82

Union Ministry of Health, India

A
Fi WA AT, WRA
World Health Organisation
B
fay g @6
UNICEF
C
CEEEd
OECD
D
SIS

Correct Ans : B

Q.No: 62 Which of the following is NOT a sign of physical health but of mental health?

2420506
frafifed & & o TRe Weg o1 T8 afch THRe Wy HT 95d 37
Being energetic and alert.
A
Seifar iR wad e
Having bright and shining eyes.
B
JUHIR TG T
Being sensitive towards the needs of others.
C
TR A SRR B R Wi g
Getting sound sleep.
D

3t g A
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Correct Ans : C

Q.No: 63 The malaria parasite life-cycle involves host/s.
2420516
HARET uRelidt shae-uw & Bie i giar ¥
One
A
T
Two
B
a
Three
C
Gik
Four
D
IR

Correct Ans : B

Q.No: 64 Naegleria fowleri can cause -

2420526
FTARET Bt & A THAE -
Bacterial meningitis
A
Iifae Afemsfew
Viral meningitis
B
arRa Afersfew
Amebic meningitis
C
fifew Afemsea
Fungal meningitis
D

i Afesiew

Correct Ans : C

Q.No: 65 Which of the following diseases is also known as Rubeola?
2420527

fofiiaa & & f 1 B FA3NA (Rubeola) & ATH F o ST ST 32

Measles
A
T
Polio
B
wiferar
Meningitis
C
Afesfew
Malaria
D
wafear

Correct Ans : A

Q.No: 66 Litmus is extracted from -
2420648
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fereng e S g I-

Lichens

SIEC]

Papaya

wdter

Graphite

Pl

Lemons

g

Correct Ans : A

Q.No: 67 Mixing vinegar and baking soda gives -

2420651
a1 SR e Hre ferees & & -
Carbon dioxide gas
A
HE STRSTHTES T
Acetic acid
B
s thrs
Sodium stearate
C
AfsTm @ave
Chloroform
D
RIRIGTH

Correct Ans : A

Q.No: 68 Reaction between carbon dioxide and lime water gives -
2420652

B STgATAES AR T &b U & de Hffhar aaT § -

Methane
A

WA=

Calcium hydroxide
B

Pieww sTegiFaES

Calcium carbonate
C

Hfraw s

Calcium sulphate
D

Hiarm webe

Correct Ans : C

Q.No: 69 n which year was Nylon first made without using any natural raw material (from plant or animal})?

2420666

a1 ol Wil e Tt (U1 1 SF1aR ) 1 9T (a0 fomT ugel! aR Argaiy g 3y sm

TR AT

A 1922
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1922
1931

1931
1943

1943
1956

1956

Correct Ans : B

Q.No: 70 Which of the following takes the least time to degenerate?
2420672

frofefea & 3 5 ufad 89 & Ted &9 TH @ 22

Paper
A
TR
Cotton cloth
B
i pUS
Wood
Cc
GEa
Woolen clothes
D

o s

Correct Ans : A

Q.No: 71 Which of the following is NOT a non-biodegradable material?
2420673

Frafafed @ 3 o1 o e Ffiewoi verd 781 &2

Glass
A
R IR
Plastic
B
wfe®
Metal can
Cc
I B qPA &
Wool
D
S

Correct Ans : D

Q.No: 72 Our wrist is made up of many small bones also known as which of the following?

2420893
TR TS BS BIA BT A w0 et & 5 i & A o 1m0 oft o o @2
Carpals

A
PRI

B Phalanges
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WA
Triquetrum
Cc
JareH
Scaphoid
D
@THITS

Correct Ans : A

Q.No: 73 Which of the following is NOT one of the categories of plants?
2420896

frafafed & & o didl 3t 3wt 3 9w T 32

Shrubs
A

gt

Weeds
B

WRUAAR

Herbs
Cc

D

Trees
D

q&

Correct Ans : B

Q.No: 74 The inner most part of the flower is known as which of the following?
2420901

Td F T i U o FefaRed § S few T S S S 82

Stamens
A

Ll

Pistils
B

PR

Sepals
C

qrered

Petals
D

Correct Ans : B

Q.No: 75 The organisms which take in nutrients from dead and decaying matter is known as which of the following?
2420907

3 ofig St g 3R &Rt yerdf § G da T8 B €, Pk § 3 59 oed 2

Saprotrophs
A

ECRILN]

Parasites
B

et

Autotrophs
c

EELiLcg
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D Algae

Qara

Correct Ans : A

Q.No: 76 A(n) is software that you purchase that solves one task.
2411546

......... % iedmR & O o et te ovrf &t wurfed e & ol wdied 7

Suite
A
I
stand-alone program
B
WS Tdd W
open-source program
c
3o R v
freeware program
D

WAER T

Correct Ans : B

Q.No: 77  Personal computers can be connected together to form a
2411551

T FYER B ---- T & N T 1Y WIeT o qhell 31

Server
A
GiCH
supercomputer
B
TR FHLX
network
C
Jead
Enterprise
D
Tewumss

Correct Ans : C

Q.No: 78 To make a notebook act as a desktop model, the notebook can be connected toa ________ which is connected to a monitor and other devices.
2411553
T Alcgs B! T S&pely AiSe b ©U § B B & Y, Tegd e ---------- J SST o Feball §, S Ueb HIex 3R 37 I & ST ghell B
Bay
A
3
docking station
B
SifhTT =T
port
o
wé
Network
D
Fead

Correct Ans : B
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Q.No: 79 The term originated with large books of reproducible image/jpgs.
2411560

--------- o Rerffe 2t o T archt S 1 9t GR!0 T g

clip art
A
feg amé
scanned image/jpgs
B
s g
digital photo
Cc
fSferea wier
bitmap
D
faedu

Correct Ans : A

Q.No: 80 Where is the copyright information located on most webpages?
2411563

PR IqUST R UG BIdRZe THbR Haf fyd gt 82

Title
A

ersfed

Header
B

&=

Footer
C

R

Sidebar
D

GIESELRS

Correct Ans : C

Q.No: 81 Which filter method lets you filter the records that match the selected field?
2411569

B W fheex AYS o0 H Fafd 87 § A WA a1d AT B e B BT SrgAfa It B2

Filter by form

A
fpeee ar€ wrid
Filter by selection
B
fipeex a1 YaeE
Auto filter
C
3ffet fpee
Advanced filter
D

Tsaivs fheex

Correct Ans : B

Q.No: 82 To place a sound into a Word document, you would use the feature of Windows.
2411571
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el o STagiie & U WSS S  RIY, ST RIS &Y —-nmeeeeee AT 1 ya HE
OLE
A
sirerd
Clipboard
B
[ERLCIS]
Paste
C
=
task switching
D

e~ fRafi

Correct Ans : A

Q.No: 83 Data that is copied from an application is stored in the

2411575
Teb 32T S URIBTH A PTG BT SITell §,----- H Tl Tgel 2
Driver
A
SRR
Clipboard
B
fuas
terminal
C
e
prompt
D
iy

Correct Ans : B

Q.No: 84 Input, output and processing devices grouped together represent a (n) .........

2411579
e, 3M3eYC 3R TRIRAT fEasy te 9y WEied ) o W ------- %1 wfaffa B 71
Mobile device
A
Targa feargw
Information processing cycle
B
FwTaRE AR wsfea
Circuit board
C
wfbe 9
Computer system
D

Hugex Ren

Correct Ans : D

Q.No: 85 Which part of the computer helps to store information?

2411580
HUER BT BIF I HIT BRI, ®R B § Heg Bl 82
Disk drive

A
&% grea
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B CPU
g,
Monitor
C
HifTex
Keyboard
D
Cicict

Correct Ans : A

Q.No: 86 What is the full form of ‘MAN'?
2411598

*MAN’ ST T AT T §?

Man Area Network

A
Man Area Network
Meter Area Network
B
Meter Area Network
Metropolitan Area Network
C
Metropolitan Area Network
Manage Area Network
D

Manage Area Network

Correct Ans : C

Q.No: 87 The computer’s capability of distinguishing spoken words is called
2411611

10! T T3] DY 3T B P HUER B & B eI STl §
Voice analysis
A
Voice analysis
Speech acknowledgment
B
Speech acknowledgment
Speech interpretation
C
Speech interpretation
Voice recognition
D

Voice recognition

Correct Ans : D

Q.No: 88 Science Novel by John Bruner titled ‘Shockwave Rider’ first time coined the term

2411626
John Bruner gRT UI$H 13d ‘Shockwave Rider’ ¥ Uge IR ______ ¥1eg &7 IWANT famam?
Bug
A
Bug
Vice
B
Vice
C Lice
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Lice

Worm

Worm

Correct Ans : D

Q.No: 89 Microsoft Office is?

2411627
Microsoft Office TT 82
Shareware
A
Shareware
Public domain software
B
Public domain software
Open-source software
C
Open-source software
An application suite
D

An application suite

Correct Ans : D

Q.No: 90 Print server uses which is a buffer that holds data before it is send to the printer.
2411645
Print server BT ST TRl § ST T buffer § St fiiex B WoM I Ugd ST T 3
Queue
A
Queue
Spool
B
Spool
Node
C
Node
Matrix
D
Matrix

Correct Ans : B

Q.No: 91  Which among the following key combination is used for deleting the selected item permanently without moving the item to the Recycle Bin?
2411653

TEeH B WS o H RIFART f famr Fafd smsed & Rl U ¥ ger & for g $oit Tdieq & 3 S a1 Suan faar s 82

Shift + Delete

A
Shift + Delete
Delete
B
Delete
Ctrl + Delete
C
Ctrl + Delete
D Alt + Delete
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Alt + Delete

Correct Ans : A

Q.No: 92 In Computer terminology ‘CAD’ is stands for?

2411655
Computer terminology & ‘CAD’ &1 gIdT ??
Computer And Design
A
Computer And Design
Computer Algorithm in Design
B
Computer Algorithm in Design
Compact Adding Device
c
Compact Adding Device
Computer Aided Design
D

Computer Aided Design

Correct Ans : D

Q.No: 93 Drum Pen is a type of-

2411844
SHF TG ISR ST 3l
Printer
A
fiiex
Plotter
B
wex
Scanner
Cc
R
Keyboard
D
F-aE

Correct Ans : B

Q.No: 94 Protocol suite for the Current Internet is-

2411856
A $eve & forg et e 8-
TCP/IP

A
St/ sl
NCP

B
et
UNIX

C
g
ACM

D
Tt

Correct Ans : A

Q.No: 95 Which feature in database is that data base allows to access only certain records-
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2411868

3 39 H B W GRS SeT 99 B $ RIS F WA FA I Ay & §-

Tables

LGl

Reports

fratée

Queries

Caic|

Forms

Wi

Correct Ans : C

Q.No: 96 What is the full form of USB?

2411875
USB T Ui =0 &7 82
Universal Storage Byte
A
gfraria et a15e
Universal Serial Bus
B
gfada difvaa @
Unique Storage Bus
Cc
g whe T8
Unique Serial Bit
D

Tite dfae e

Correct Ans : B

Q.No: 97 How many function keys are present on keyboard?

2411877
PN W et e Rl A §2
11
A
11
12
B
12
14
c
14
15
D
15

Correct Ans : B

Q.No: 98 In which of the following menu screenshot option is found in MS PowerPoint?
2411898

Ty tiaaide & Fpffad # § 9§ 3 & S Qbed umr o 82

A Home
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s

Insert

i

Design

s

Animation

oA

Correct Ans : B

Q.No: 99 Which among the following is NOT an application software?

2412419
fFrafafed # & SH-9 TR FredeR 1ol 82
Oracle
A
Oracle
MS-Word
B
MS-Word
MS-Excel
C
MS-Excel
Unix
D
Unix

Correct Ans : D

Q.No: 100 What is the full form of UNIVAC?

2412580
UNIVAC &1 q0f &9 &1 87
Universal Automatic Calculator
A
Universal Automatic Calculator
Universal Automatic Computer
B
Universal Automatic Computer
Unique Automatic Calculator
C
Unique Automatic Calculator
Universal Algorithm Computer
D

Universal Algorithm Computer

Correct Ans : B

Q.No: 101 Select the term that will come next in the following series.

2417553
A, B DH, ____
I UE FT 99 Y, S HEflEd gear § SR s
A, B, D, H,
L
A
L
B N
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R
C

R

P
D

P

Correct Ans : D

Q.No: 102 YWhjch of the following options will complete the given series:

2417566 by by b_yvb
few aTe dew # oea e A Fifare
by_b_y b_yyb
ybyb

A
ybyb
bbyb

B
bbyb
ybby

C
ybby
byby

D
byby

Correct Ans : A

Q.No: 103 Find the odd one among the following.

2417618
Frafafed & @ faws 1 S
Cat

A
ot
Dog

B
Eall
Tiger

Cc
Cl
Elephant

D
gt

Correct Ans : D

Q.No: 104 Find the odd one among the following.

2417631
Fofaied & @ fawm 3 g
Lorry
A
ant
Truck
B
E5d
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C Car

PR

Submarine

Tgst

Correct Ans : D

Q.No: 105 1In the following question, select the odd letters from the given alternatives.

2417673
e Ty &, fou U fawedt & @ fawm e &1 797
MPS
A
MPS
CFI
B
CFI
Lo
C
JLo
svy
D
svy

Correct Ans : C

Q.No: 106 "Night blindness" is related to "Vitamin A" in the same way as "Beri Beri" is related to ?
2417706

o yR I BT ey e A" 3 B I R I S BT TEYy _ A 7

Vitamin A
A

faerfim A

Vitamin B
B

faerfm B

Vitamin C
Cc

faefm ¢

Vitamin D
D

faerf= b

Correct Ans : B

Q.No: 107 In the following question, select the related word from the given alternatives.
2417712  printer : hardware :: ? : software

FaTaTad 9o #, fev v faweut # & Gaferd aee &1 99 $11
ﬁ—c-',_[ :E'I_!%a?ﬂ' s '?:HT‘EE—&?]T

Mouse
A

A

Desktop
B

SqHerT
[ Android
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-
Mobile

Hiarge

Correct Ans : C

Q.No: 108 In the following question, select the related word from the given alternatives.
2417716 Austria - Vienna :: Jordan : ?

At ad TeaT &, TG0 710 [aoedr # & TaTad 27 ol 9<0e] @ |

3TReear - fager = ol (7

Arab
A
3RT
Syria
B
wifvar
Lebanon
C
SEEIE]
Amman
D
S

Correct Ans : D

Q.No: 109 In the following question, select the related word from the given altemmatives.
2417722 Tides : water : 7 : air

TratelEa wea #, fEv v Aot # 3 Gaterg ase &1 94 &
SO - O 5 7 RCIES

Volcano
A

SaTaREt

Earthquake
B

kS

Wind
C

qad

Tsunami
D

St

Correct Ans : C

Q.No: 110 If TRAIN is coded as UTDMS in a certain language, how will PLANE be coded in the same language?
2417747

g TRAIN &1 T Ffyd 4191 § UTDMS & &0 # Hied a1 o1 &, dF PLANE &1 It HTo1 & &9 gied far sme?

TOMKL
A

TOMKL

QNDRJ
B

QNDRJ

SDBGT
c

SDBGT
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QWERT

QWERT

Correct Ans : B

Q.No: 111 If in a certain code language ‘RAMAN’ is coded as ‘'18113114’, then how will ‘KAPILA’ be coded in that language?

2417751
I T T Fie UTer H 'RAMAN' 1 '18113114' & U ¥ Hfed frar Sram 8, @ 39 HIoT § 'KAPILA' & H9 Gfed fawar smamr?
111196112

A
111196112
111169112

B
111169112
111169121

C
111169121
116119121

D
116119121

Correct Ans : C

Q.No: 112 If ‘GERMANY’ is written as ‘7, 5, 18, 13, 1, 14, 25/, how can ‘FRANCE’ be written in that code?

2417757
Tfe ‘\GERMANY’ ®1'7, 5, 18, 13, 1, 14, 25' & ®U ¥ foral S §, o 'FRANCE &) 39 &S & H9 forar o1 gdbar g2
6,18,1,14,3,5

A
6,18,1,14,3,5
6,3,18,14,1,5

B
6,3,18,14,1,5
8,2,14,5,13,6

c
8,2,14,5,13,6
8,16,14,3,1,5

D

8,16,14,3,1,5

Correct Ans : A

Q.No: 113 If ‘DELHI’ is coded as ‘73541’ and ‘CALCUTTA’ as ‘82589662’, how will ‘\CALICUT’ be coded?

2417763

I 'DELHT’ 1 '73541’ 3R ‘CALCUTTA’ 1 ‘82589662’ & &0 & Hied a1 a1 7, Al ‘CALICUT’ H 9 ied fosam smamm?

5279431
A

5279431

5978213
B

5978213

8251896
C

8251896

8543691
D

8543691

Correct Ans : C
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Q.No: 114 From the given alternative words, select the word which can be formed using the letters of the given word.

2417887
SOMNAMBULISM
Fafifed fawed § 9 98 W ghT S T T weg & S1eRT BT TENT & SR S Hahdl 1
SOMNAMBULISM
NAMES
A
NAMES
BASALT
B
BASALT
souL
[
souL
BIOME
D
BIOME

Correct Ans : C

Q.No: 115 From the given alternative words, select the word which cannot be formed using the letters of the given word.

2417891
IMPRACTICABLE
Frafafad fawedl § 9 a8 e T St fAT 1T 2ed & 34&RT BT YU HRb a1 ST S Heball?
IMPRACTICABLE
CAPABLE

A
CAPABLE
PARTICLE

B
PARTICLE
PRACTICAL

c
PRACTICAL
PEACE

D
PEACE

Correct Ans : D

Q.No: 116 From the given alternative words, select the word which cannot be formed using the letters of the given word.

2417897
CHRONOLOGICAL
frafifad fawed § 9 a8 Wea IMT S AU T =g & SfeRT BT TENT HRS TeT ST S Tl 3|
CHRONOLOGICAL
CALL
A
CALL
LOGIC
B
LOGIC
CALICO
c
CALICO
D ANALOGY
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ANALOGY

Correct Ans : D

Q.No: 117 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2417903
ENVIRONMENT

Fofared feed # ¥ 98 Yea T S AT T Xea & 31eRT T TR PR Ta! ST o Goba?
ENVIRONMENT
ENTER

ENTER
METRE

METRE
IRON

IRON
MOMENTUM

MOMENTUM

Correct Ans : D

Q.No: 118 Find the missing number in the series.
2417945
2,5,11,17, 23,7, 41, 47

e | qw SRS I BifoTe
2,5,11,17, 23,2, 41, 47
27

27
29

29
31

31
35

35

Correct Ans : C

Q.No: 119 Tn the following question select the related number from the given alternatives.
2417978 7848121024 -

v 7w faent § O Gt T #1999 FL

784 812 21024 -

1040
A

1040

1056
B

1056
C 1132
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1132
1098

1098

Correct Ans : B

Q.No: 120 Tn the following question select the related number from the given alternatives.
2417982 94-575::32

few 710 fasedl & & T&fdld §@&aT 79I H)
24 -575::32:

1023

1023
991

991
1227

1227
865

865

Correct Ans : A

Q.No: 121 Which two signs should be interchanged to make the given equation correct?
2417992
20+5%x3+3-1=14

fufefad THieu B 98 U q 50 T & Y o g fagl & Toh-gaR & RIF W IS gim?

20+5%x3+3-1=14

X and -
A

x 3R -

+ and x
B

+ 3R x

+ and +
C

+ 3R +

X and +
D

x 3R +

Correct Ans : C

Q.No: 122 Which two signs should be interchanged to make the given equation correct?
2417996

4+8x12+6-4=8

fau T wHieR0 $F wE S & g foe < fort &Y oo # Sga aifee?

4+8x12+6-4=38

+ and +
A

+ 3R +
B x and +
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x 3R +

+ and -
Cc

+ 3R -

-and +
D

- 3R +

Correct Ans : A

Q.No: 123 Which two signs should be interchanged to make the following equation correct?
2418002

18+12x8-6+3=9

Frofared e o1 98 99 & T 59 @ gl 31 R sge grm?

18+ 12x8-6+3=9

X and +
A

x 3R +

+ and x
B

+ 3R x

+ and +
C

+ AR+

- and x
D

- 3R x

Correct Ans : C

24'\11%010284 1f *+' means "<, *-' means '+, "' means ‘-’ and ' means ‘+°, then what will be the value of 16 +
4x10-5+8="

g+ F e < gL A HT g e wT A B R e AT T T AT 16+ 4% 10— 5+ 8 T
T T gam?

12

12

2

Correct Ans : C

Q.No: 125 Identify the diagram that best represents the relationship among the given classes.
2418256
Pets, Dogs, animals

g & Q39 3RE &1 999 IR S fou e ot F S dey o gwiar 82
A STHER, Fl, SR

8
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8|8

| €1,
2
@
|

Correct Ans : D

Q.No: 126 Downward movement of an employee in organisation hierarchy with lower status and lower salary concerned with

2418535
ot T F verwmy B fret wHf o1 FHaR guf SR adq & 1y g vl Y ok veeH, Pufiiaa & @ frad siafa smar 3
Demotion
A
RCEIT
Promotion
B
LGEIT
Resignation
c
[CIULE]
Discharge
D
st

Correct Ans : A

Q.No: 127 Such transfers which are made to rectify wrong selection and placement of personnel come under:

2418541
T RIFRY S S F Ted 907 3R Qe B 3 S & o e o &, a6 Fafafed # @ fees sidia s 82
Shift transfers
A
R giame
Versatility transfers
B
T FfuT RATRT
C Production transfers
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JeUTe RITAAR0T

Remedial transfers

SUARTHS IR

Correct Ans : D

Q.No: 128 Golden handshake scheme is

2418545
Ties g W §
Voluntary retirement scheme
A
wfos Ja1 fgfy @
Promotion scheme
B
wrafa ot W@
Transfer scheme
Cc
VIR $T THH
Demotion
D
ECACEIT]

Correct Ans : A

Q.No: 129 Dumping of toxic waste on land causes - pollution
2418573

N TR T A PR TR G ... TEuoT glaT ¥

Noise pollution

A

afy wgwor

Water pollution
B

o Ty

Air pollution
C

arg gguor

Land pollution
D

f¥ wgwm

Correct Ans : D

Q.No: 130 Which of the following does not comes under characteristics of business activities
2418579

Profifd §  S1F-a1, aagiie T & Rdvds & siavid 78 omd &

A production and procurement of goods and services

A
gt 3R Farait b1 I Sk TG
Dealings in goods and services on a regular basis
B
frafte smuR W axgait iR Aarsif &1 AR
Profit earning
C
Y e
No element of risk involved
D

SR &1 $IS aca FiwfeE = g1
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Correct Ans : D

Q.No: 131 are undesirable or unfavourable event in a business related with factors like changes in consumer, taste, fashion changes in methods of production

2418580

T T B AT A Uipd geT gl & o SuHiaal 31 w1 & IRacH, IdTe & aiiwt § qur e H uRad ofg FRe! I Geifia 71

Profit
A
Yy
Risk
B
wifew
Procurement of goods
c
AT Y I
Credit
D
wfee

Correct Ans : B

Q.No: 132 Identify the correct statement from the following

2418589
Fafared o 3 98wy o
Word karta is related with joint Hindu family business
A
Fl Xeq BT TEH TG fog TNAR aad @ §
A sole trader and his business are separate entity in eyes of law
B
TP P AURY 3R IHST AT ST B 2B | 74P 3978 §
Risk involved in running a partnership firm are not shared by all the partners
Cc
e wH & Haraw A wfefa Sifem gt wnfierY grr s = fwan s
The membership of a cooperative society is not voluntary
D

TEER Rl Y e Qe T8 S

Correct Ans : A

Q.No: 133 Which of the following comes under long term sources of funds
2418684

Frafafed # F o o7 & e Adi & il o g

Trade credit

A
AMUR BT
Commercial papers
B
aiftrfs o=
Equity shares
C
Pd TR
Factoring
D
Haefer

Correct Ans : C

Q.No: 134 The equity share capital is also known as
2418687
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) IR Gt A P & v A @ oft St St @

Debentures
A

ENLE]

Preference shares
B

T TR

Ownership capital
C

Qi ot

Commercial paper
D

ELRIS C e

Correct Ans : C

Q.No: 135 Which of the following does not comes under characteristics of entrepreneurship
2418688

FrofifEd §  S1-8@, Iafd 3 o R T8 8

Systematic activity

A
afye afafafy
Unlawful activity
B
R Tl
Organisation of production
c
JATGH BT TS
Risk taking
D
SifEw a

Correct Ans : B

Q.No: 136 Marketing is characterized by:

2418716
fauur &5} fariar 2
Non operational
A
R-wafera
Customer oriented
B
TP I
Unacceptable values
C
Eroicank o
Non reactive to environment
D

qafaRe & ufy R wfafparia

Correct Ans : B

Q.No: 137 1t deals with planning, organising, directing, coordinating, motivating and controlling the marketing activities
2418720

Ig fauuH @ Geift nfafafidl 3t diem s ], S9! e, AR, THaad FRal § ok I% O ofR Fifyd wvar 3
Human resource management
G HHIYT BT IS
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B

Production and operation management

IeTe 3R W yeHd

Marketing management

fauur yees

Financial management

farfta weiem

Correct Ans : C

Q.No: 138
2418725

............. marketing is concerned with exploiting the happening of an event in every walk of social life

............. b e, qrETfie Shad % &R 4 & €9 a1 53¢ § o Y 3w o  Wsifg @

Speed marketing

wits Arbfen

Mega marketing

Eukica)

Event marketing

gde s e

Counter marketing

BT ATH T

Correct Ans : C

Q.No: 139 Grouping of marketing activities into areas of specialisation such as advertising sales and marketing research comes under the concept of

2418733

o @t nfafafr o AR & & 99 5 o, fet ofik fauom s/ & Iugioxvr fe srayRon & siavfa srr &

Product approach

Iag TP

Customer approach

S TP

Functional approach

frare® TRHT

Geographic approach

iniifere =i

Correct Ans : C

Q.No: 140 Management is a continuous process means

2418779
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TS U Feld Uieha €, ST o 3 §

Its functions are repeated time and again

TP YS! B TRER SIedT STl &

It stops anywhere

Tz P51 Ht ¥ o 3

It is not an ongoing process of planning and execution.
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g Frdier iR frare #1 gaa ufkar 78 81

It does not involves planning organising staffing directing and controlling

Correct Ans : A

Q.No: 141 Management as a science does not have the following characteristics

2418780
@ a9 & w0 & vee 31 Fofofed § § $H- kv 11 &
Systematised body of knowledge
A
9 FT QR g
Verifiable principles
B
= ag Rigia
Application of Management concept and principles
C
Ve BT YR 3R Ryegiat BT SRt
Universal application
D

[ e sy

Correct Ans : C

Q.No: 142 To manage is to forecast and plan to organise, to command, to co-ordinate and to control is given by

2418783
A B, AR T IR Brie AR Ty 3R R @ GoHT ST € ude €, U8 fpue! By §
Luther Gulick
A
TR e
Koontz and O Donnell
B
Fied IR off sHA
Urwick
C
Sfdw
Henri Fayol
D
TR U

Correct Ans : D

Q.No: 143 Public sector is-

2418928
BICEIEENER
Government owns most of the Assets and provides all the services
A
WER e wufral o1 Afee ¢ ok wwft Farg ver ot 3
Private owns most of the Assets and provides all the services
B
it siftrestar wafrral @1 wifere 8 ok Wit Fang wer wwar @
Non-government organisation owns most of the Assets and provides all the services
Cc
R WP wire i wufRia! 1 wifee @ ok @l Yarg wer wvar @
D Foreign owns most of the Assets and provides all the services
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fad=ht siftreizr wufRraY &1 mifere @ ok waft Aang werm wRar ¥

Correct Ans : A

Q.No: 144 items in balance of payment includes all types of physical goods exported and imported
2418932

............... AT e # 7el § P ok s welt R & hfes are e

Invisible items

A
SERY 3MTgcH
Visible items
B
TRHTT TgeH
Capital transfers
Cc
ot wa
Capital receipt
D

it wite

Correct Ans : B

Q.No: 145 Which of the following does not comes under the scope of macroeconomics

2418937
Frafafed # S Azl $ arr J T8 o 8
Inflation
A
garewifa
Economic growth
B
e fawra
Balance of payment
Cc
YA g
Individual economic units such as firm, a consumer
D

wfemTa anfie gorgal oW BH, T Iuniar

Correct Ans : D

Q.No: 146 Excess of import expenditure over export revenue earned by the economy is

2418939
Sieferae grr aiffa frafa wrora & aifiie ermard o @
trade deficit
A
HIUR H°ICT
trade credit
B
R Hfge
stocks
C
wie
close
D
g

Correct Ans : A

Q.No: 147 Percentage of deposits which a bank must keep as cash reserves with the bankis
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2418999

e YSR & TU H F gRT YR AT BT Ui

SLR
A

SLR

BANK RATE
B

Yo R

REPO RATE
C

IR

CRR
D

CRR

Correct Ans : D

Q.No: 148 Auxiliary services of trade and industry plays roll
2419002
SR 3R TENT B g Ja ----------- Yt P
Non supportive
A
R weTS
non-essential
B
R s
non demanding
Cc
AR AT
supportive
D
GHuCH

Correct Ans : D

Q.No: 149 Business is
2419003

R §

Patriotic activities

A
FRrufes fafaRrt
Economic activities
B
3 nfafafRrat
Religious activities
C
e wfafafirat
Activities for sympathy and sentiment
D

TEgYfa 3R utaait & forg wfafafmi

Correct Ans : B

Q.No: 150 Which of the following does not consist of private sector business
2419007

Frofeiad §  HH ot 87 & U™ B! AT & HaT 8?2

A Sole proprietorship
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THATH W@

Government company

B

WHRI HUA

Joint Hindu family
Cc

wga fig wikaw

Partnership firm
D

et B

Correct Ans : B

Q.No: 151 What should come in place of the question mark (?) in the following question?

2421510
1={1+1=(1+1=2)}]=7
fafafad vy & uyares g (2) & R TR 1T A1igT?
1={1+1=(1+1=2)}]="
1
A
1
3
B
3
2
C
2
1
D

1

2

Correct Ans : B

Q.No: 152 What should come in place of the question mark (?) in the following question?

2421511
1-[5-42+(-5+6-2)2}]="7
Frofared gy & ysame g (?) & RIA W 31 3 FMfew?
1-[5-{2+(-5+6-2)2}]="?
-4
A
-4
2
B
2
(]
c
(]
-2
D
-2

Correct Ans : A
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Q.No: 153 What should come in place of the question mark (?) in the following question?
2421514

(4% 4P+ (512 8)* % (32 x 8)* = (2x2)™*

Fafared uy o uyaee [ (?) & RIM R 1 S Aliel?

(4% 47+ (512 + 8)4x (32 x 8)F = (2x2)*

8
A

8

12
B

12

6
C

6

14
D

14

Correct Ans : C

Q.No: 154 What should come in place of the question mark (?) in the following question?
2421520 459 of 480+182="72- 172 +10%

e vy o wyargs i (7) & " W aT AR

480 DT 45% + 187 =72- 172 + 102

20
A

20

23
B

23

27
[

27

31
D

31

Correct Ans : C

Q.No: 155 Find the largest fraction of the following fractions?
2421551

Frofared firell # 9 o9 1 e 3 $ifve?

2
g

F=N NS

14
16

14
16

21
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23
21

19
17

19

17

Correct Ans : D

Q.No: 156 Find the largest fraction of the following fractions?
2421556

Ffafea el 7 3 gao 3t i gra sifong?

33

100

33
100

44
120

44
120

148

148

35
20

35

a0

Correct Ans : D

Q.No: 157 Find the smallest fraction of the following fractions?
2421559

Froafiied firel 7 4 Jod B i 91d Sifve-

13
15

13
15

29
41

Correct Ans : B
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Q.No: 158 A shopkeeper purchases some bulbs for Rs. 180 and sold some of them of Rs. 105 and it is given that the selling price and cost price of the bulb is same. Which of tl
2421596

TF gPMER 7 $F §ed 180 T. H WG 3R I8 $B 105 3. & 39 fa iR 7 fon 71 § & a9 &1 fopy g0 oiR aTd Jeg W9 B, @ 7 I ghMeR & U™ o 9ed A9 §) 9ad §

5
A

5

7
B

7

12
C

12

14
D

14

Correct Ans : A

Q.No: 159 Three numbers are in the ratio of 3:4:5 and their L.C.M. is 2400. Their H.C.F. is:
2421609 T TEE 3:4:5 F UM B § 3R P! TYTH YHUGID 2400 §| 35T HETH FHUTIS o

A
s p
c 0
° 120

Correct Ans : A

Q.No: 160 n is a whole number which when divided by 6 gives 5 as remainder. What will be the remainder when 2n is divided by 6?

2421634
n U U guf TRem & oY o 6 9 fauifra fban wran 8 o 5 [9tha U g1 81 59 2n &1 6 § R fan S | Qwted @ ure g 2
Ao
. a
c 2
D :

Correct Ans : B

Q.No: 161 When a number ‘N’ is divided by a proper divisor ‘D’ then it leaves a remainder of 14 and if the thrice of that number i.e., ‘3N’ is divided by the same divisor D leave
2421659 remainder will be:

TS TF G N’ T 3Fd HIeid D’ ¥ i Bt o €, A [uwd 14 81 ¥ 3 39 W & FHF TH B 9AE Heie D I Ry far 9 o utd 8 oar 31 afg Tt S F AR 1

35

A
35

B 23
23

c 5o0r22
5or 22
29

D
29

Correct Ans : C

Q.No: 162 Time duration of 2 hour 45 minutes is approximately what percent of day?
2421674

2 °e, 45 e U@ &7 & 95 &1 Ty e wfo=ma gm?
A 7.218%
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7.218%

11.45%

11.45%

8.3%

8.3%
8.24%

8.24%

Correct Ans : B

Q.No: 163 1n an election, 2,400 people were to vote for party A or B. Party A was bound to win

2421701 the election. However, on election day, 33.33% of the voters of A were kidnapped.
Party B was able to influence the remaining party A voters and thus double the strength
of its voters. In this way, party A lost by a majority which was half of that which it
would have won had the elections been fair. How many people finally voted for party A?
el I=1a #, 2,400 &7 9Ef A =1 Ui B & v die o §] 9 A T S F o arew
B fer e, 9@ aer f&m, e & 33.33% dled @1 U &Y femm amm
aiéf B, OTEf A & &9 U oAl T 9T GWT A Whel 81 7 HR 56 USR IHA HUA dledd
& FEa 9o T G T A FH TSR G A SgAT § GRS, I, Al Toa Forowar
g, df 379 dic T 39 R $f dic T&T &7 34T idil 9ef A & oI 3 # fhaer et
= die fear
300

A
300
450

B
450
600

[

600
1,200

D

1200

Correct Ans : C

24'101:711654 If the cost price of Chikoo is 80% of its selling price, the Profit percent is:
afe; =i 1 4 Ao 39 9.7, 1 80% &, o Tcrerd oimet A1 X |
20%
A
20%
22 %%
B
222%
24%
C
24%
25%
D
25%

Correct Ans : D

Q.No: 165
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2421716 If a fan bought at prices from Rs. 150 to Rs. 300 are sold at prices ranging from Rs. 250 to Rs. 350. What is the greatest possible Profit that might be made in sellin

150 3. 300 F S & Gl R TaT WIS 9 § 3R T, 250 V¥, 350 & 19 F Gl W I 991 Ol §, 1 15 T Bl A9+ WR A a1y o grm?

Rs. 1,750
A

%. 1,750

Rs. 2,500
B

¥. 2,500

Rs. 4,250
C

¥%. 4,250

Rs. 3,000
D

¥. 3,000

Correct Ans : D

24'\‘201:7146(;5 A manufacturer fixes his selling price at 33.33% over the cost of production. If cost of production goes up by 12%
and manufacture raises his selling price by 10%, his percentage Profit is:

T AT Seaga weT § 33.33% HEE 7 AT [ FAed AT otan ¢ 7 3odee wera 12% 3¢ wr & R e
HIAT BT 7o 10% & S § , A1 36 o 31 HfeRid et 57

36 g%

Correct Ans : B

Q.No: 167 The difference between the simple interest received from two different sources on Rs. 15000 for 3 year is Rs. 135. The difference between their rates of interest is:
2421753

¥. 15000 BT 4RI W 3 a6 7 &1 T Wl | U ST BT 3R F. 135 g1 A ITb! A &R BT 3R Fared |

0.1%
A

0.1%

0.2%
B

0.2%

0.3%
C

0.3%
D 0.4%
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0.4%

Correct Ans : C

34'\‘201:71563 The sum of money, that will give Rs. 1 as interest per day at the rate of 5% per annum simple interest is:

e 21T 99 5% aTfieh HIENT &0Taf 64 99 8. 10 Ffaies eara & &9 & [Jeid 67

Rs. 72000
A

¥. 72000

Rs. 36000
B

¥. 36000

Rs. 73500
C

¥. 73500

Rs. 73000
D

¥. 73000

Correct Ans : D

2""\‘20;71(5679 Mohan invested Rs. P on simple interest at the rate of 12.5% p.a. for 3 years, and he
invested Rs. (P + 2000) on compound interest at the rate of 10% p.a. for 2 years. If
the total interest earned by him is Rs. 8610, find the total amount invested by Mohan.

TG =T TTRYT ST I P 12 5% T @ g 3 TIel o Toie, X IgfgsameT T %. (P +2000)
10% farad e @ 2 a6l & fordr forerer fand | afe 36 qariaeid gor sareT . 8610 &, o #lG=t
CaRTfAer oY a1 et T &7 It ofamd|

Rs. 28000

¥. 28000
Rs. 24000

¥. 24000
Rs. 30000

¥. 30000
Rs. 36000

¥. 36000

Correct Ans : C

84'\‘201:814770 If (x+ i) (x—i) =5:3, the value(s) of x is/are-
Er?c..*[x+§):(x—i)= 5:3 &I, @ x & A &-
+1

A
+1
+2

B
+2
+3

C
+3

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx

51/57



1/31/22, 11:17 AM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx
D o

[}

Correct Ans : B

Q.No: 171 The rail fares of air conditioned sleeper and ordinary sleeper class are in the ratio 4:1. The number of passenger travelled by air conditioned sleeper and ordinary sle
2421851 ,jr conditioner sleeper passengers pay?

aTcreig el g Al A TTReT Qe Aol S Yefd [ 4:1 & 3ed7d # §1 aidielhieid aUd= AT
TIEINOT A=l A0 Gl ATAT el atel AT ot Te&T 3:25 & eqard # off| afe fet fertram Har
37,000 §3T, T ardrghfoid 2a=T Aofr & it =¥ o= & &1 sprar fwar?

15,000
A

15,000

10,000
B

10,000

12,000
[

12,000

16,000
D

16,000

Correct Ans : C

Q.No: 172 1If the average marks of 4 batches of 45, 55, 65, 75 students are 20, 30, 40 and 50 respectively. Then the average marks of all the students are:
2421887 45, 55, 65 3R 75 fyeniial o 4 TGt B MU i HA: 20, 30, 40 3R 50 F1 Tt fyenfat &1 ofva 3w Fw g 2

35.75
A 35.75
B 37.08
37.08
c 39.05
39.05
41.57
D 41.57

Correct Ans : B

Q.No: 173 A container contains 40 litres of milk. From this container 4 litres of milk was taken out and replaced by water. This process was repeated further two times. How mt
2421941

TH HER H 40 Tex U 1 3 HR W 4 Trex gy Fewrar mar 3R X Ut I J&e 1 8 | 59 Ufthar &1 &) R 3R g ol 81 ek § o f3raa gy 82

26.34 litres
A

26.34 Wiex

27.36 litres
B

27.36 dex

28 litres
Cc

28 diex

29.16 litres
D

29.16 Tex

Correct Ans : D

Q.No: 174 Aman travelled a certain distance by train at the rate of 25 kmph and walked back at the rate of 4 kmph. If the whole journey took 5 hours 48 minutes the distance
2421988
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3T Ueh TS g¥r o Yeramsr ¥ 25 feaieer @ aifer I AT AT & T araw, IR
farg, e 4 fealiveer &r aifd & deel Foidm &1 A 3§ Feor 59 48 fAAC &1 AT odr a1
aarr a fafdaa ¥ feer 82

25 km

25 fouft
30 km

30 feeft
20 km

20 fht

15 km

15 it

Correct Ans : C

24'\‘202:011735 Anniand Banni can finish a work in 8 days and 12 days respectively. If capacity of

Chhavi is 1% times of Anni, then working together in how many days they will

complete it?

Il TUT Foail I & HA: 8 T aur 12 BT & =¥ OFa &1 ae odr & &7 3ot &
1 23 @ At S T 3w ) e R 3w A

10
23
A
10
23
1
515
B
1
515
3
155
C
5
155
10
EUE
D
EUE

Correct Ans : A

Q.No: 176 ARG & & HH-91 Uag Tgdife G BT Tt IR0 82

A HerrgT
B R
c PyUITed
D eI

Correct Ans : D

Q.No: 177 FARIEd & ¥ HH-97 Iag SUGT BT TANT HR g1 a1 T 37

A Sifrpa
B S
c oo

D =T

Correct Ans : D
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Q.No: 178 FARIRd & ¥ HH-T1 Iag Yqgd HT WA &R T I T 32

A wgedn
B gH1qd

C aRmERT
D STRTY

Correct Ans : D

Q.No: 179 FrEfifEa &  S1H-91 T3 &1 98 781 82

A YTqar®
B UETES
C EUGEICED
D Sagara®

Correct Ans : B

Q.No: 180 FARIGd & ¥ BI-T1 a1y FAiarae I &1 et Jereu 32
A il FgT T 981 |

B T YYeR ¥ vaa ki g1
C 31T O T AT
D # 4t 3ra 3Ty & ST Ut

Correct Ans : D

Q.No: 181 FwrfREd & & “ewifdba” &1 yaigar e a1 82

A Ry
B pod

c YR
D dyqa

Correct Ans : A

Q.No: 182 FrAfiEd # I “SsHsR” & A g Far 82

A SEH
B STEd
c wreh
D U

Correct Ans : C

Q.No: 183 FrHffEd # & weg-grw “ufkorm -uiarer & wgt srf g &1 797 Hife-
A T - &

B A — HTH
C T - gad
D -

Correct Ans : D

Q.No: 184 R yz & eReprelf weg 3w U §1 Ueb o wreg & wry € foran &, gy o wefrgu-

DAD-UR
A LNIE
B Gisl
C qads
D T

Correct Ans : B

Q.No: 185 =R # ¥ Y acit a1l Weg BT T Pifore-

A mft
B =qfora
C
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et
D ARG

Correct Ans : B

Q.No: 186 FHffEd H ¥ Iz ae-t aTdl Xeg BT Tg BifoN-
A Twfea

B CCENIG]
[ fafefers
D aif®

Correct Ans : C

Q.No: 187 FHRIRIG & ¥ SRATA/SHT g BT TG PIoT-
A ST

B g
C 3rafy
D 3BT

Correct Ans : D

Q.No: 188 FHfIfEd H | e ” & TTHIBR HH 82

A ot I

B afor

c AR T
D YRAg gRRE=

Correct Ans : A

Q.No: 189 Frfifad & & gfRi wree &1 997 Fifve-
A T

B sy
C fRrT
D ARG

Correct Ans : D

Q.No: 190 F=fiRed # | Wi weal &1 =07 BIfvTE-

A P, et

B RaR, 3

C faemdis, Afidsa
D g, femea

Correct Ans : A

Q.No: 191 g “Hig @ a1 & s 1 f5q BTet 1 I 82

A YIS UlIsIsTa
B ST YADT

c FIRAG YT
D wfey ygerer

Correct Ans : A

Q.No: 192 TR Hral &t ot T fbarht 22

A 33
B 9
C 4
D 28

Correct Ans : A

Q.No: 193 3fTTa YT ST GRT M3 & gad H R Ui IR 8 WR 3y # S It gt 8, 3¢ &1 ded o2

A U
B Ay
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C GEIRRTCH
D Tyt

Correct Ans : A

Q.No: 194 FFAfIRId & & Higary &1 aIpg Farsl-

A BT | JuETy T FST T WepaTl
B Hig Q9w g W1 3

c & 1 T wFanl

D AT FRT SRIGR YT 1T 2

Correct Ans : A

Q.No: 195 FrARIRd & & 3 F MR W 16T FEud: fha THR & 81 82
A 31

B GH
C &=
D i

Correct Ans : A

Q.No: 196 f&wr: e a8 T URE &Y IR YR A §ier T 8 (A), (B), (C) 3R (D) HHIS 4T T 1 3MUB! 78 T/ & 5 a1pg & 5 YRT T q@IHR0T, HINT, T, Tl & e TanT a1 361 @RE ©

I U BT HHIH E ST IR 81 Afe a1 FeRfed & @t B 3fe 76 &1 77 +¥-
SHiepaTe TG U RN /(A) SRR $i9R1 & /(B)YS =@ =1 wd woifdl &1 et <87 §1/(C)o¥e 3R TEH(D)

A A
B

c c

D g 3fe T

Correct Ans : A

Q.No: 197 RAfifEd & ¥ Y5 a1 &1 90 BIvTE-

A g Td ATTH FaHTT & T 2

B 3T 39 ST Bl T F P THA B
c T gHAe fagargof freh € 2

D 3TUR Py HeTaH yEeT g5 |

Correct Ans : B

Q.No: 198 wigT quf form # srien H0 T S1OfE 1,981 W v 8 ¥ o forg &1 Wl fopan < 22

A AerfaR™ g

B 3Rl firE

C forprnfeaiys fore
D SfRm

Correct Ans : D

Q.No: 199 FAfed # I frg gerk &1 orf “Aiet B B2

A A F W Frwem
B T B &= FoE
c et g BT ATy
D IR-f 3 Afe

Correct Ans : B

Q.No: 200 FwfRIEd & & 5 diebifa ®1 ol “go(or! Bt sR1E A Yau &1 A grar” 82

A ARl T | IS AT ST BT YH|
B diq W Y1 g W AR

c Hia & 9w & At Fal|

D FIgd g1 - Ioeh, W A AIgH A5

Correct Ans : B
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Q.No: 1 Between which two rivers is the Kangra Fort situated?

2419230
HTST 1 e ot < el & fa fua 82
Betwa and Bhima rivers
A
aar ok e feai
Manjhi and Banganga rivers
B
Gomti and Koyna rivers
Cc
Tt SR P et
Teesta and Malaprabha rivers
D

i o e At

Correct Ans : B

Q.No: 2 The Gulbarga Fort has a mosque that closely resembles the Mosque-Cathedral located in -

2419234

Tt el H U AR 8 S ¥ Tfoe-Figa ¥ firerh godt © -

Cordoba
A

wistar

Moscow
B

AT

Bruges
C

™

Levante
D

daie

Correct Ans : A

Q.No: 3 Which of the following is known as the Kasa Fort?

2419239
frofafed & 3 frd S frar & A & ST o 32
Fatehpur Sikri
A
FaqR it
Padmadurg
B
gt
Janjira Fort
C

SiefiRT fem
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D Paranda Fort

TSI (URTST a1 u¥e) faan
Correct Ans : B

Q.No: 4  To provide the elementary education, the government started Sarva Sikhsha Abhiyan, which included Education of Children in which age group?
2419307

RIS e UeH H=A & U, WeR 3 °d R sifrm & fovan, o forg org o+ & st ot e =nfirer e

6- 12 Years of Age

A

6- 12 99 & 3y

8- 14 Years of Age
B

8- 14 9¥ F} 3g

6- 14 Years of Age
C

6- 14 39 F oy

8 -16 Years of Age
D

8 -16 a¢ Pt Mg

Correct Ans : C

Q.No: 5  Which of the following is the accepted average calorie requirement in Rural India?

2419310
gt YRa B e # ¥ o O Wigd iud ARt sraawd 32
1900 calories
A
1900 Fa
2000 calories
B
2000 Fa
2100 calories
C
2100 Fa
2400 calories
D

2400 Fart

Correct Ans : D

Q.No: 6 Banking is an activity of which of the following sectors?

2419325
A Frafafed & @ frw &7 o Tfafafy 82
Primary
A
Wyt
Secondary
B
fedae®
Tertiary
C
LriRcd
Both Secondary and Tertiary
D

feae iR gofias =t

Correct Ans : C
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Q.No: 7 Which of the following is the accepted average calorie requirement in Urban India?

2419330
S YR B g & ¥ B I Wipd oiud FAR sna=addr 82
1700 calories
A
1700 Fardt
1900 calories
B
1900 Fardt
2100 calories
C
2100 Fa
2400 calories
D

2400 Fad

Correct Ans : C

Q.No: 8  Which of the following sports is the British Open or The Open associated with?

2419394
fFrafafed # 3 e @ 1 ddy e siioa a1 g ofi 4 82
Badminton
A
Fsfife
Gymnastics
B
RriRes
Golf
[
Tiew
Baseball
D
CECICE

Correct Ans : C

Q.No: 9  Which of the following sports is Magnus Carlsen related to?

2419407
Bow P Fofofe § 3 few 9 § St 32
Chess
A
s
Badminton
B
Fsfiie
Table-tennis
C
Tga-f
Tennis
D
Rk

Correct Ans : A

Q.No: 10 Rio de Janeiro Earth Summit was held in which of the following years?
2419464
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it S TR gedt s Pl & @ foa af & smafsr fasar man are

1989
A

1989

1990
B

1990

1992
[

1992

1994
D

1994

Correct Ans : C

Q.No: 11 Which of the following is referred to as ‘Sericulture’?
2419532

Pofifad § 3 58 Afder’ He1 ol 87

Commercial rearing of silk worms

A
W & PIST BT AT qTeT
Cultivation of grapes
B
SR P Wl
Breeding of fish in specially constructed tanks and pond
c
o wu & Ffdfa el ofi aremet & Aot @1 yoE=
Growing vegetables, flowers and fruits for commercial use
D

HEATRAS IUGHT & forg wfewai, Ta iR wa ST

Correct Ans : A

Q.No: 12 The third battle of Panipat was fought in which of the following years?
2419552

Utad 3 AR eTs Fafared # 9 fhw ad @gl s e

1526
A

1526

1556
B

1556

1761
C

1761

1764
D

1764

Correct Ans : C

Q.No: 13 Who replaced the Sultan of Delhi Iltutmish after his death?
2419559

el & Yo Segaril 31 4G & d1a S oRTe e df?

Ruknuddin Firuz

FHIE R
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B Nasiruddin Mahmud
TR WEE
Muiz ud din Bahram
Cc
TS 3¢ 1 Tt
Razia Sultana
D

IRrar gearn

Correct Ans : D

Q.No: 14 During whose reign did Chinese pilgrim Fa-hsien visited India?
2419586

Rt defart wreiE frad wEETd § YR SR AT?
Chandragupta - I

A

S - 1

Samudragupta
B

Nk

Chandragupta - II
C

TS - 11

Skandagupta
D

Nl

Correct Ans : C

Q.No: 15 Who is the author of “War and Peace”?
2419635

"aR 73 " & AEF BH §?

Mahatma Gandhi

A
wgTe Midh
Leo Tolstoy
B
fort efeweta
Anton Chekov
C
@ e
Alexander Pushkin
D

JATISY YiRp

Correct Ans : B

Q.No: 16 Who is the author of “On The Origin of Species”?
2419640

"3 g SRR 3 Thefiv & d@es i 82

A. R. Wallace
A
T. 3R, arae
Gregor Mendel
B
IR A3
[ Charles Darwin
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it s

Jean-Baptiste Lamarck

Sit-3fpee durdh

Correct Ans : C

Q.No: 17 Who is the author of the novel “The Living Mountain”?

2419644
g frfdT Arde U % dEd HH 2
Amitav Ghosh
A
SfEary oy
Deborah Baker
B
ECINACE
Jhumpa Lahiri
C
g wfeet
Salman Rushdie
D

T L

Correct Ans : A

Q.No: 18 The Supreme Court of India can review its own Judgement under which of the following Articles of the Constitution of India?
2419719

URA $T qaie e HRd & Sfay™ & Fufeied § ¥ 59 sgwe & ded oia Fofg 3t wefien o) w@ar 82

Article 124
A

ITVE 124

Article 133
B

3T 133

Article 136
c

ITDT 136

Article 137
D

3G 137

Correct Ans : D

Q.No: 19 The Ashok Mehta Committee set up by the government to review Panchayati raj submitted its report in which of the following years?
2419723

TR 391 BT el F T WHR gR1 ied et Hean wufa A Fafifed § § e o & st Ruid uRga 31

1978
A

1978

1980
B

1980

1986
C

1986
D 1992
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1992

Correct Ans : A

Q.No: 20 The Theory of the Basic Structure of the Constitution was given by the Supreme Court in which of the following cases?

2419741
UM &t g@ WRa 1 Rigid wdfe grrad gR1 fRafafed & 9 feg ama 3 fear mr e
Kesavananda Bharati v. State of Kerala
A
FRATE YR T PR T
A. K. Gopalan v. State of Madras
B
T. &, MUTE S A5 I
ADM Jabalpur v. Shivkant Shukla
Cc
wSied SgayR 99 Rrawia e
Maneka Gandhi v. Union of India
D

AT Wi T YRS WY

Correct Ans : A

2"1'\109:92113 Where did Yadav Rao (Yadurao or Jadurai) lay the foundation of the Rajgond dynasty in the later years of the 14th century?

TTed 19 (TGRIT 1 9igY) - 14T Tt &« &b TNl B oIS T IS I Fi Aia Bl @ oA

Garha - Katanga

A
g - B
Mahakoshal
B
ARG
Nimar
C
ELISS
Bhopal
D
et

Correct Ans : A

Q.No: 22 In which city of Madhya Pradesh are the Gaur Mahal, Parkota Fort and the Chaman Mahal situated?

2419926
TR Tgd, WPlel fre 3R 707 Hed Aed Uex & g wer & fud §2
Bhopal
A
afrarer
Indore
B
R
Gwalior
C
wqiferR
Jabalpur
D
SeagR

Correct Ans : A

Q.No: 23 In which century was the Chhappan Mahal of Mandu constructed?
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2419931
Tig & BWH Hed H1 FAufor f5e s & fowan war ar?
10th century

A
10 & =raredt
13th century
B
131 Tt
16th century
C
1641 Tt
18th century
D

18 &f Frardt

Correct Ans : C

Q.No: 24 Which of the following places in Madhya Pradesh organised India’s first Hot Air Balloon Safari?
2419992

Ty B Frefofed B § fFg M R YRT Bt ugeh gl TR 9o IBR &1 e o mare

Panna National Park

A
T TP A
Kanha National Park
B
BTEI LT I
Bandhavgarh Tiger Reserve
C
FitaTg TR Reid
Pench National Park
D

Yo g Sa

Correct Ans : C

Q.No: 25 On which of the following rivers is the majestic Raneh falls situated?

2419995
ot ¥ s Fafifed 3 ¥ e T w Ra 32
Tapti
A
it
Ken
B
¥
Chambal
C
EEE)
Beas
D
|

Correct Ans : B

Q.No: 26 In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence i

A recent study found that regions implementing stricts measures such as lockdowns had fewer deaths than other regions.

A A recent study found that regions
B No error
C had fewer deaths than other regions.
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Correct Ans : D
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Q.No: 27 1In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence i

O 0o ® »

An army lead by Ramsay Bolton defeated Stannis Baratheon in the battle of Black Water.
in the battle of Black Water.

defeated Stannis Baratheon

An army lead by Ramsay Bolton

No error

Correct Ans : C

Q.No: 28 1In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence i

o 0 w >

He had a premonition that his plane would crash, so he took the train.
He had a premonition

that his plane would crash

so he taken the train.

No error.

Correct Ans : C

Q.No: 29 Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

o 0O @ »

The printing press is one of man’s (cleverest invention).
cleverest inventions

clever invention

cleverer inventions

No improvement

Correct Ans : A

Q.No: 30 Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

O 0o ® »r

Sodium chloride dissolves in water, and (so is) salt.
so also

so will

so does

No improvement

Correct Ans : C

Q.No: 31 Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

o 0 w r

I am considering (to set up) a cyber cafe.
to setting

set up

setting up

No improvement

Correct Ans : C

Q.No: 32 Out of the given options, choose the one which is the correct passive voice of the sentence given below.

O 0 @ >

Who does not obey you?

You are not obeyed by who?
You are not obeyed by whom?
By who are you not obeyed by?

By whom are you not obeyed?

Correct Ans : D

Q.No: 33 In the question a sentence has been given in Active/Passive Voice. Out of the four alternative suggested below, select the one which best expresses the same sentenc

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx

9/56



1/31/22, 11:15 AM

o 0O w »

Don't speak until someone speaks to you.
Don’t speak until you are spoken to.
Don’t speak until someone is spoken to.
Don’t speak until you been spoken to.

Don’t speak until someone has been spoken to.

Correct Ans : A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx

Q.No: 34 1In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sei

o 0O @ >

I will conquer him.

He will be conquered of by me.
He is to be conquered by me.
He shall be conquered by me.

He will be conquered by me.

Correct Ans : D

Q.No: 35 A sentence has been given in Active/ Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active \

A
B
C
D

Has Tom explained the matter?

Is the matter been explained by Tom?
Has the matter been explained by Tom?
Is the matter being explained by Tom?

Will the matter be explained by Tom?

Correct Ans : B

Q.No: 36 Out of the given options, choose the most appropriate word/set of words to fill in the blank.

A
B
C
D

The mason ___ the wall.
is building

are build

are built

were built

Correct Ans : A

Q.No: 37 Out of the given options, choose the most appropriate word/set of words to fill in the blank.

A
B
C
D

Problems if the parents' approach to discipline is inconsistent.
arise

has arise

has arises

have arises

Correct Ans : A

Q.No: 38 Out of the given options, choose the most appropriate word/set of words to fill in the blank.

o 0O w »

The robber __ out a knife.
took

take

have take

have took

Correct Ans : A

Q.No: 39 Out of the given options, choose the most appropriate word/set of words to fill in the blank.

o 0O w »

He __ three glasses of water.
drank

have drink

have drank

has drink

Correct Ans : A
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Q.No: 40 Select the most appropriate option to fill in the blanks.

The defendant’s lawyer argued that his past offenses were to this case.

arrogant

A

B irrelevant
C consisting
D

spacious

Correct Ans : B

Q.No: 41 Select the most appropriate option to fill in the blanks.

Cannabis has been used for medicinal since antiquity.

SOrrows

A

B purposes
C partisans
D

salacious

Correct Ans : B

Q.No: 42 Select the most appropriate option to fill in the blanks.

She's always back to how things used to be.
A harking
B warning
C kneading
D pleading

Correct Ans : A

Q.No: 43 Select the most appropriate option to fill in the blanks.

Parents have their concerns about their children’s safety.

prevented

A

B expressed
C survived
D

accused

Correct Ans : B

Q.No: 44 Select the most appropriate option to fill in the blanks.

Carnivorousinsect ____in a deceptively humble posture while searching for food.
A posing
B to pose
(o) poses
D pose

Correct Ans : C

Q.No: 45 Select the most appropriate option to fill in the blanks.

My friend is not for this complicated assignment.
A cut out
B put in
Cc set on
D get of

Correct Ans : A

Q.No: 46 Select the most appropriate option to fill in the blanks.

This choice has significant ethical implications, particularly in the context of loss

A but
B and
C though

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx
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D when

Correct Ans : B

Q.No: 47 The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of the

P. Mice once called a meeting to decide on a plan to get rid of the cat.
Q. At least they wished to find some way of knowing when she was coming.

R. So they might have time to run away to save their lives.

QPR

A
B PQR
c RQP
D

RPQ

Correct Ans : B

Q.No: 48 The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of the

A. His “seven dirty words” routine was central to the 1978 United States Supreme Court case F.C.C. v. Pacifica Foundation.
B. In the case, a 5-4 decision affirmed the government's power to censor indecent material on the public airwaves.
C. He was known for his dark comedy and reflections on politics, the English language, psychology, religion, and taboo subjects.

D. George Denis Patrick Carlin was an American stand-up comedian, actor, social critic, and author.

A DBCA
B BACD
[ DCAB
D BCAD

Correct Ans : C

Q.No: 49 Select the antonym for the given word.

TRANSPARENT
A Opaque
B Clear
C Crystalline
D Pure

Correct Ans : A

Q.No: 50 Select the CORRECTLY spelt word.

A Immediately
B Maintnance
o Medeval

D Millenium

Correct Ans : A

Q.No: 51  Which of the following uses only a convex mirror?

2420201
frafifed & @ o1 Faa Iad U BT ST FAl 82
Shaving mirror.
A
A gefori
Rear view mirror of a car.
B
TP PR BT fUsen e guun
Ophthalmoscope
C
SfeTeg
Solar furnace
D

e gt

Correct Ans : B
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Q.No: 52 A pullet of mass 0.1 kg is fired with a velocity of 160 ms-! from a rifle of mass 6
2420211 yy What will be the recoil velocity of the rifle?

T e foder 7229 0.1 kg § 99 160 meL 377 T TwLF o W7 T4T gl T75% FT A9 6
kg gl T+ & TTIHT (recoil) 29 FIT &2

1.0 ms1
A

1.0ms!

1.25 me!
B

1.25 ms™

2.67 ms!
C

2.67 ms!

1.75 ms-1
D

1.75 ms™?

Correct Ans : C

Q.No: 53 The general range of audible frequencies for humans is -

2420219
T % o o anqfRdt @t g @ g -
20 Hz to 20,000 Hz
A
20 ¢S ¥ 20,000 FEH
Less than 20 Hz
B
20 5 I B
More than 20000 Hz
C
20000 ¢ A 3iftw
20 Hz to 40000 Hz
D

20 g & 40000 &

Correct Ans : A

Q.No: 54 ap gptical fibre is a verythin fibremade of .
2420224

TF A Tezohed B2 FFAT U 95 of TaAT BIEaL gl

Silica
A
et
Copper
B
PR
Mercury
C
qY
D Silver
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i
Correct Ans : A

Q.No: 55 A dog can hear sounds of frequency up to about -
2420226

Teb Pl TN bt SRy b b eafial T e 82

50000 kHz
A

50000 kHz

20000 kHz
B

20000 kHz

100000 kHz
C

100000 kHz

200 kHz
D

200 kHz

Correct Ans : A

Q.No: 56  Solid CO; is also known as which of the following?
2420373

B CO, & Fafal@d & & fhad w9 # oft Sm=r Srarg?

Dry Ice
A
TP 6
Ash
B
R4EC)
Coal
C
Praen
Camphor
D
PR

Correct Ans : A

Q.No: 57  Which of the following does not result from the water vapors present in the atmosphere?
2420378

fufefd & @ $ argdsa & Tieg Jaary d 7 61 gl 82

Snow
A

fewura

Fog
B

Laal

Frost
Cc

L1

Smoke
D

yari

Correct Ans : D

Candancatinn Af watar vannarce in tha atmnacnhara laadc tna tha farmatinn Af whirh Af tha fallawinAa?
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“unuLhsuLun U

Q.No: 58
2420380
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YYULLL VUPUI S 1 LG GLHIUSPI G C ISUUS WU L U

AgHUST H Feary & Wo § Pafifad & F frwer Fmfor S @2

Clouds
A

areat

Rainbow
B

EELEL

Smog
Cc

gy

Dew
D

e

Correct Ans : A

e

e

v

Q.No: 59 Which of the following is not one of the categorizations of a biotic community?

2420387

Fafifad & @ oF e Sfae Tged & arifeo § ¥ e T8 87

Autotrophs,
A

wurdt

Heterotrophs
B

RO

Saprotrophs
C

Tt

Chemotrophs
D

TEdt

Correct Ans : D

Q.No: 60 Some organism manufacture food without using sunlight. The process is known as which of the following?

2420388

PE SN T & UHTR T IUGNT BT A1 1o o1 Fmfor sxd &1 vfthar &) Fafeiea & ¥ frae &9 § ST Sfar 22

Chemosynthesis

A
THTIAH AT
Photosynthesis
B
WPTRT HRATOT
Homeostasis
C
aafeufa
Reproduction
D

LUSEE]

Correct Ans : A

Q.No: 61 The word “Hygiene” comes from the word “Hygieia”, which is a

2420507

"BTESI" WeG TR ed ¥ 3T B, S T = B
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A Latin

afes

Greek

French

Roman

J=T

Correct Ans : B

Q.No: 62 Wuchereria Bancrofti is responsible for -

2420517
FRRTIHERY_ Ffu kR -
Dengue
A
3
Lymphatic Filariasis
B
el wrgaRar
Malaria
C
Hafear
Ascariasis
D
TR

Correct Ans : B

Q.No: 63 Which of the following diseases is also known as the “break-bone fever”?
2420518

Frafiad & 3 fow 7 o 7Y A TOR (Fb-a BiaR)" F &Y & W ST Sfrell 82

Congo fever

A

PiTi gER

Leprosy
B

FE AT

Dengue
(o

3

Influenza
D

Rl

Correct Ans : C

Q.No: 64 Which of the following diseases is also known as Parotitis?
2420528

Fraffea & 9 g I @ Riesfew” & 7 3 W 9 S 22

Diarrhoea
A

ol
B Mumps
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HUSHTAT

Chikungunya

C
R
Swine-flu
D
ESIERRS

Correct Ans : B

Q.No: 65 Trypanosoma can cause -

2420536
R ¥ A IBAE -
Sleeping sickness
A
Hig @t s
Gouts
B
afear
Asthma
C
SRYHT
Anaemia
D
e

Correct Ans : A

Q.No: 66 When carbon dioxide is passed through lime water, it makes the latter -

2420653
T PTe STRSHFIES I g & U H yaifed frar S §, o ¥ I F U B S § -
Yellow
A
dem
Milky
B
gt
Brownish
C
o
Orange
D
et

Correct Ans : B

Q.No: 67 Blue vitriol is another name of -
2420654

o fafeare &1 quer A & -
Crystalline magnesium sulphate
A
firvedia ArfiRkrw webe
Crystalline copper sulphate
B
fopvediia SR webe
C Liquid sodium hydroxide
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wa WfEan grsgiEs

Crystalline sodium sulphate

forvedia Tifsaw aebe

Correct Ans : B

Q.No: 68 For rusting, presence of which of the following is essential?
2420659

S @ & forg, Fafifea § @ feaet Suffa srawae 82

Oxygen only
A

Faa sifedie

Water vapour only
B

Fad o ATy

Oxygen and water both
C

SfferftorT 3R Tt =t

Oxygen, water and carbon
D

3ferfte, Tl 3R P

Correct Ans : C

Q.No: 69 What is the full-form of PCDT in the PCDT polyester?
2420668

it uifermeex # Wil &1 yof wu @1 82

poly-1, 4-cyclohexylene-dimethylene terephthalate
A

Ufell-1, 4-ATSERIRRICA-SISARA S¥Rde

poly-1, 4-cyclohexane-dimethyl terephthalate
B

uTell-1, 4-TEETRA-STERIUET SYwde

poly-1, 4-cyclohexylene-dimethyl tetrabutane
C

ufell-1, 4-WrgailelRue-sTsfiuTge 2gregea

poly-1, 4-cyclohexane-dimethyl tetrabutane
D

oieft-1, 4-TETIRRA-STRfUTEe g

Correct Ans : A

Q.No: 70 Which of the following is NOT a metal?

2420674
Fofefea & & BH-d uig T 82
Copper
A
PR
Calcium
B
S
Phosphorus
C
BRERE
Magnesium
D

iRy
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Correct Ans : C

Q.No: 71 Which of the following is the only metal that remains in a liquid state at room temperature?

2420676
Fofed & I SH-I THAE 91g ¥ I FER S dIHH WR R a1 § w6 82
Lead
A
e (frs)
Mercury
B
RT
Sodium
C
wfeaw
Potassium
D
TR

Correct Ans : B

Q.No: 72 The additional part of bone which are not as hard and also are elastic in nature are known as which of the following?

2420895
&S 1 Sifalkad URT S ST HOR T Bl 3R Upfar & drerer o Bar B, Fuferfaa & 3 fed ot wrar 82
Epiphysis
A
fftrasf
Diaphysis
B
fREs
Periosteum
C
afvarRy fireeht
Cartilages
D
Uty

Correct Ans : D

Q.No: 73 The mode of nutrition in which organisms make food themselves from simple substances is known as which of the following?
2420902

Qror ) 98 fafty o sfia Wt verdf & @ 4ieH a9 €, Fafafaa § @ 58 wea &2

Autotrophic

A
Ut
Heterotrophic
B
RO
Multitrophic
C
Ut
Parasites
D
LIt

Correct Ans : A

Q.No: 74 The presence of which of the following in leaves indicates the occurrence of photosynthesis?
2420905
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ot & Foffed & ¥ frue Sufufa v Sxawe Bt ger B 3R19 Bt 82

Starch
A

e

Protein
B

W

Fat
C

T

Gluten
D

@A

Correct Ans : A

Q.No: 75 Some grass eating animals quickly swallow the grass and store the partially digested food in a part of the stomach known as which of the following?

FS U GH I TR Seal I I B e 1§ o ifkie U F en ard Ao & U F U T B o R 3d € O Pofafea ¥ @ @ wed @2

2420913
Rumen
A
AT
Ruminant
B
whF<
Cud
C
Pseudopodia
D

LR

Correct Ans : A

Q.No: 76 Which of the following is not a programming language?
2411547

g & o o v i e e 2

Lisp

o

See

Java

Perl

e

Correct Ans : B

Q.No: 77 Minicomputers are also called computers.
2411554

(LR Ede A ) S— HogeR ot el ofrel B
A Midrange
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frs¥r
laptop
Auery
handheld
st

Smart

e

Correct Ans : A

Q.No: 78 The raw facts and figures are
2411567

Data
A

£l

Information
B

TR

Snapshot
C

|uite

Reports
D

fraré

Correct Ans : A

Q.No: 79 The program that allows the OS to work with a printer or a video card is a(n)

2411572
o S 3T B U fiiex o1 U S BIE S WY B B P T AN 3T § I8 eb---------- K
Utility
A
gfefadt
driver
B
JER
applet
C
e
system call
D
Rreew oia

Correct Ans : B

Q.No: 80 What is the shortcut key to Update Formula in a table?
2411576

fareht 2aa & widar sude B & T widwe Hoit 71 22

Shift + F9
A
fRree + Fo
F9
B
F9
C Ctrl + F9
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Ferd + F9

Alt + F9

3cg + F9

Correct Ans : B

Q.No: 81 What SQL command will allow you to change the table STUDENT to add the constraint named Grade Check that states that the values of the Grade column must be ¢
2411578

P T THRUS FATS MUH! A LIT B TGABR IS AP AT a0 SR Bl TS T $I AT M s g1 711 § 6 U5 Hierm o1 76 0 I 3ifies g anfge?
ALTER TABLE STUDENT ALTER CONSTRAINT Grade Check (Grade > 0) ;

A
ALTER TABLE STUDENT ALTER CONSTRAINT Grade Check (Grade > 0) ;
ALTER TABLE STUDENT ADD CONSTRAINT Grade Check (Grade > '0) ;
B
ALTER TABLE STUDENT ADD CONSTRAINT Grade Check (Grade > '0) ;
ALTER TABLE STUDENT ADD CONSTRAINT Grade Check CHECK (Grade> O) ;
C
ALTER TABLE STUDENT ADD CONSTRAINT Grade Check CHECK (Grade> O) ;
ALTER TABLE STUDENT ADD CONSTRAINT Grade Check (Grade> 0) ;
D

ALTER TABLE STUDENT ADD CONSTRAINT Grade Check (Grade> O) ;
Correct Ans : C

Q.No: 82 Various applications and documents are represented on the Windows desktop by

2411581
faft ofre ok Stagicy fiee SW@eld R -------- R M 9 &
Symbols
A
e
Labels
B
GEG]
Graphs
C
Elkd
Icons
D
T

Correct Ans : D

Q.No: 83 A register that keeps track of the next instruction to be executed is called a(n)
2411584

T W S FAwfed fpe o o erTa PR 1 X @l § - E eI ]

Data Register

A
STeT IR
Instruction Register
B
AR IR
Action Register
C
TRM IR
D Program Counter
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URITH FTde’

Correct Ans : B

Q.No: 84 Which of the following will translate higher level language to lower level language?
2411592

o & S W1 I TR B U F Y TR S U H e HM?

Translator
A

Translator

Linker
B

Linker

Converter
C

Converter

Compiler
D

Compiler

Correct Ans : D

Q.No: 85 Which of the following is not related with ‘Programming’?

2411606
frofafed & & S5 uenfim & Fafia 7@ 32
Programmer
A
Programmer
Language
B
Language
Operating System
C
Operating System
Flow Chart
D
Flow Chart

Correct Ans : C

Q.No: 86 Full form of DVD is?

2411617
DVD &I fawgd #¥?
Digital Video Disc
A
Digital Video Disc
Decoded Versatile Disc
B
Decoded Versatile Disc
Digital Virtual Disc
C
Digital Virtual Disc
Dimensional Video Disc
D

Dimensional Video Disc

Correct Ans : A

Q.No: 87 Who is the founder of ‘WWW"?
2411628
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'WWW' % GRS B 87
Ajay V. Bhatt

A
3o/ §t vg
Tim Berners-Lee
B
o aeRi-<ft
Ericsson
C
TReT
DARPA
D
DARPA

Correct Ans : B

Q.No: 88 is the most important/powerful computer in a typical network.

2411639

_ o fafy Yead § ged ve@yyl / el HegeR 71

Network client

A
Network client
Desktop
B
Desktop
Network station
C
Network station
Network server
D

Network server

Correct Ans : D

Q.No: 89 In Microsoft Word while writing a document, you can use the

2411664

TS TAIdY foRad THY HISH NIt 98 H, ST SUGH Veg A1 Johiedd Xeq Wio & g Y BT IuRT IR THA §?

Dictionary
A
Dictionary
Translate
B
Translate
Encyclopedia
C
Encyclopedia
Thesaurus
D
Thesaurus

Correct Ans : D

Q.No: 90 What does VPN stand for?
2411690

e o1 7 ok B2

Very Personal Network

Very Personal Network
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B Virtual Private Network

Virtual Private Network

Video Per Navigation

Video Per Navigation

Video Point Name

Video Point Name

Correct Ans : B

Q.No: 91 ADSL, SDSL, HDSL, and VDSL are examples of different types of

2411695
TSiuand, THeiaed, THdivand, R didivaud fafis veR & F IR
Ethernet
A
e
Digital subscriber link
B
fEforea ues fiw
Modem
C
n3m
Subscription
D

Hegdn

Correct Ans : B

Q.No: 92 Which protocol does PPP use to identify the network layer protocol?

2411864
eaH IR WEHTa B G- F g f.dh . 75w Tt o1 swma F=ar 82
Network control protocol
A
Aead Hgia Wi
Integrated services digital network
B
s wfde fSfrea wdteia
High-level data link control
C
F1$ A9a a1 e e
Linear-predictive coding
D

R fifsfaea ST

Correct Ans : A

Q.No: 93 At which layer of the OSI model, segmentation of a data stream happens-

2411865
TS Tisd B g AR (W) W 1 € HT {3y g 8-
Transport layer

A
TIUE RR

B Data link layer
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Ser e e

Physical layer
o

fpforea TR

Network layer
D

Jead AW

Correct Ans : A

Q.No: 94 What is BCC in email?

2411885
e & BCC H1 37
Blind Carbon Copy
A
LS Hra oY
Bold Carbon Copy
B
TS PTaT BT
Beyond Computer Copy
C
foats sogex oIt
Before Carbon Copy
D

e P S

Correct Ans : A

Q.No: 95 What is the function of router?
2411888

ISR BT S T 82

It is isolate network traffic and computers

A
g ead fhw iR Foger HY e FHear @
It operate at the Data Link layer (layer 2) of the OSI
B
g OSI & 3¢ i AW (AW 2) W S a1 &
It works at the OSI layer 3 (network layer)
C
I% OSI AW 3 (AT W) W HTH T 3
It allows computers to communicate over a telephone line
D

g HUET B THGN A139 W TR B B gAfy a1 §

Correct Ans : C

Q.N0: 96 .. is a byword for the quality and the reliability of the data of a database system.

2411889

........................... ey Red & 3eT &) [ura 3R fagriaar & et a7

Data Integrity

A
ST $ER&
Transaction

B
-

C Data Persistence
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3T $I Tgar

Data Independence

e TeFar

Correct Ans : A

Q.No: 97 What is the function of CONCATENATE in MS Excel?
2411904

MS Excel  CONCATENATE &1 &1 &1 372

Joins together two or more text strings

A
1 3 A 34w Tave R &1 U ATy Sigar §
Converts all characters in a supplied text string to lower case
B
it quif &t syl @t € e R A Frw fRfa & ofvafda svar @
Returns the number of cells (of a supplied range), that satisfy a given criteria
Cc
A B HoT der § (TP TR Hr F), N feeht Ry 7T Ards B e €
Returns the positive square root of a given number
D

el faw 7T R &1 YFTHS Ty dierar @

Correct Ans : A

Q.No: 98 In MS Excel, a workbook refers to a collection of
2411925

TSHITE TRd §, U g & g &I Tafid il 8l

Excel pages

A
T I
Worksheets
B
gheite
Work pages
C
e
Work references
D

& IHT

Correct Ans : B

Q.No: 99 Which of the following takes the program code and converts the source code to a machine language module in a compiled programme language?
2412425

fafifed & & SH-91 fided T $1s ddr § 3R & FuRe T ddas § 9N $is o1 7iiF dde Hiege ¥ uRafid s 82

Linker
A
e
Object File
B
Sfsdiae B
Compiler
C
PHTER
Executable file
D

TR BIgd
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Correct Ans : C

Q.No: 100 The acronym for CDMA is?

2412649
CDMA T Hf&e = 1 82
Computer Division Multiple Access
A
Computer Division Multiple Access
Code Division Multiple Access
B
Code Division Multiple Access
Computer Divided Multi Access
C
Computer Divided Multi Access
COBOL Division Multiple Access
D

COBOL Division Multiple Access

Correct Ans : B

Q.No: 101 Select the term that will come next in the following series.
2417554

B,D,GKP ____

39 UG &1 9 &Y, SN Hufefad saar & SArem S|

B,D,G K P

S
A

\")
B

\")

w
C

w

X
D

X

Correct Ans : B

Q.No: 102 'Which of the following options will complete the given series:

2417567 XV ZVE W VZ VW
_XY_ZyE_W_YZ Y_W
WXyzzz
A
wWxyzzz
Xwyzzz
B
Xwyzzz
WZWXZX
C
WZWXZX
WZWXXX
D
WZWXXX
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Correct Ans : C

Q.No: 103 Find the odd one among the following.

2417619
Frafafed & @ faws 3@ ST
Chameleon
A
firfire
Crocodile
B
HRAD
Turtle
o
Rkl
Allegator
D
TeieY

Correct Ans : A

Q.No: 104 Find the odd one among the following.

2417632
Frafafea # 9 faww @ ST
Iron
A
gt
Aluminium
B
Sregifa
Mercury
C
URT
Zinc
D
ST

Correct Ans : C

Q.No: 105 1In the following question, select the odd letters from the given alternatives.

2417674
gy ¥, oy o Reedl § @ fww arer) &1 wu BY
DGIJ
A
DGIJ
MPRS
B
MPRS
TWYZ
c
TWYZ
ORSU
D
ORSU

Correct Ans : D

Q.No: 106 'Cashew' is related to 'dry fruits' in the same way 'book' is related to ?
2417707
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"B, BT Y'Y @ Aal ¥ 7 I UBR 'THS BT Yoy @
Study

g

Exercise

el

Stationary

WA

Exam

Tfem

Correct Ans : C

Q.No: 107 In the following question, select the related word from the given altematives.
2417713 Dal lake - Srinagar :: Lake Manasarovar : 7

fAratafEa gea &, fev v Rredt F & Gafera aeg &1 934 F71
5T 5o ; AR = AR ST - 7

Kathmandu
A
FIoHIg
Tibet
B
forea
Gangtok
C
RuGica
Kasol
D
P

Correct Ans : B

Q.No: 108
2417717

L

farafafEa gea &, fev v Aeedt & & oo aeg &1 a9 #11
dTeeHes ; aleesl 2 THEL - ?

Resistance
A
uferRie
Amplitude
B
S
Electric Current
[
T urr
Magnetic flux
D

GBI TR

Correct Ans : C

Q.No: 109 In the following question, select the related word from the given alternatives.
2417723 Cynophobia : dogs :: 7 : animals
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foraTaITaT west . fow a1e fasmout # & Gaterd ereg &1 90+ &7
TRATGITErAT : Foeel = 2 2 STeTa{

Nomophobia

A
Arrwiear
Zoophobia
B
Faunophobia
C
LaEiaite
Anemophobia
D

e

Correct Ans : B

Q.No: 110 1In a certain language, FASHION is coded as UZHSRLM. How will SAMSUNG be coded in the same language?
2417748

If& FASHION &1 Ts f3d 1o § UZHSRLM & =0 & Hfed foar oiram 8, @ SAMSUNG &1 St HwT & 1 gfed fpar wmam

HZNHFMT
A

HZNHFMT

HZNFHNT
B

HZNFHNT

JZNFHNT
C

JZNFHNT

GZNFHNT
D

GZNFHNT

Correct Ans : A

Q.No: 111 If in a certain code language ‘BHAI’ is written as ‘2819’, then how will ‘*CDGH’ be written in that language?
2417752

I T FAf¥d FHs wror H 'BHAT' 1 2819’ fran ST 8, df 'CDGH’ &1 39 U1 & &9 feran smemm?

8437
A

8437

7348
B

7348

3487
C

3487

3478
D

3478

Correct Ans : D

Q.No: 112 1If in a certain code language ‘WIND' is written as ‘414923’, ‘SAND’ is written as ‘414119’, then how will ‘FASHION’ be written in that language?
2417758

e T FAfd g WO H 'WIND' Bl 414923’ foRaT W1l 8, 'SAND’ &1 '414119’ foram e 8, df 39 W ¥ ‘FASHION’ & S ferar wmerm?

A 1451981916
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1451981916

1415989161

1415989161
1415981961

1415981961
1415981916

1415981916

Correct Ans : D

Q.No: 113 1If in a certain code language ‘NOIDA’ is written-as ‘39658’, then how will 'INDIA’ be written in that language?
2417764

I T AT g W H 'NOIDA’ B 39658" ferRar STaT 8, d 'INDIA’ &1 39 HINT ¥ ) forar smm?

36368
A

36368

56368
B

56368

63568
C

63568

63586
D

63586

Correct Ans : C

Q.No: 114 From the given alternatives select the word which cannot be formed using the letters of the given word.
2417888
PERSONALITY

FofaRed fawed # 9 98 ea MY St AT T 2eq & 3HaRT BT WART PXb To! ST S Foba?
PERSONALITY
REALITY

REALITY

REASON

REASON

PERSON

PERSON
ROYALTY

ROYALTY

Correct Ans : D

Q.No: 115 From the given words, select the word which cannot be formed using the letters of the given word.

2417892
DETERMINATION
Frafafed e & 3 95 W IFT S T U Wi & SreRT & T I e SR S Wbl 3
DETERMINATION

A DETENTION
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DETENTION

DESTINATION

DESTINATION
TERMINATE

TERMINATE
DOMINATE

DOMINATE

Correct Ans : B

Q.No: 116 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2417898
ENCYCLOPEDIA

Fafared fawedl & ¥ a8 Wsg MU off AU U T1eg & SI&RT BT TART SR g ST S Fabell?
ENCYCLOPEDIA
OPEN

OPEN
PLEASE

PLEASE
CANOPY

CANOPY
PLEAD

PLEAD

Correct Ans : B

Q.No: 117 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2417904
EXORBITANT

Fafied fawedl § 9 95 g IAT S AU T et F 31&RT &1 TN b a1 a1 S Fhar?
EXORBITANT
BITTER

BITTER
EXPORT

EXPORT

EXNORA

EXNORA
EXTANT

EXTANT

Correct Ans : B

Q.No: 118 Find the missing number in the series.
2417946
25, 68, 196, 579, 1727, ?

gl B g G 1 P
25, 68, 196, 579, 1727, ?
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A 5148

5148
5068

5068

5092

5092
5170

5170

Correct Ans : D

Q.No: 119 In the following question select the related number from the given alternatives.
2417977 256 - 240 - -90

ow v fOohent § § Gafdg T&ar &1 93 i

2561240 - 90

110

110
132

132
100

100
81

81

Correct Ans : C

Q.No: 120 In the following question select the related number from the given alternatives.
2417983 13:2198 16

few a0 faeredl § & Gdfda dear &1 93 &)
13:2198 - 16

257

257
2745

2745

4097

4097

3377

3377

Correct Ans : C

Q.No: 121 If @ denotes *=*, # denotes *x°, $ denotes “+°, and % denotes ‘-*, then what will be the value of the
2417993 following expression:
18#2@2%18% 18
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afe @ar 3T = B, #F 309 ' $HT 379 + 3R % 7 3717 — §, O H=afafEa sffeafEa

& HeA FAT G
18%2@2$18% 18

0
A

0

2
B

2

36
C

36

18
D

18

Correct Ans : D

Q.No: 122 Find out the two signs to be interchanged for making following equation correct.

2417997 114+ 1/64— 5+ 45 x 120 =5
Arafaf@a aeieol & @8 T § g d & fov Ghd ¢ fed & 319a & aceter gan?
/4= 1/64— 5 +45 % 120 =5
+ and x
A
+ 3R x
x and -
B
x 3R -
+ and -
C
+ 3R -
-and +
D
- R+

Correct Ans : B

24’\‘1‘; 0102; If ' means '<', 'x' means '+', '+' means '+', '+ means ', then what will be the value of 40 x 12
+3-6+60=7

afg ' # ARRT X W G, X ARA CH F G+ FIRA L {E SR R Y &
B, al 40 x 12 + 3 - 6 = 60 & AT AT GIN?

4
A

4

7
B

7

16
C

16

a4
D

44

Correct Ans : A
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Q.No: 124 Tf'«' means 'addition', - means 'division', /' means 'subtraction' and '+ means 'multiplication,
2418009 . . 5 3 o
then which of the given equation is correct?

gfe; < ol 31 Si1Z, < o1 3eF 81T, </ oT 37F EeTen 31X '+ T 372F I[0T g1, ot ¢ aTe faeho
F 3 i T T T &
25+10-5/10 % 3 =43

A
25+10-5/10%3 =43
25-10x5+10/3=72
B
25-10x5+10/3=72
25%10/5+10-3=12
C
25%10/5+10-3=12
25/10+5x10/3=18
D

25/10+5x10/3=18

Correct Ans : A

Q.No: 125 Identify the diagram that best represents the relationship among the given classes.
2418257

Silver, Gold, Jewellery

39 3G BT T B Sl U T il F IRy ey gwihar 31

©O
-
®
%
©
©

Correct Ans : C

Q.No: 126
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2418536 Resignation, dismissal , lay off of employees relates to

Separation
A

GYFHI0T

Recruitment
B

gt

Promotion
C

wErafy

Job description
D

At B1 faazor

Correct Ans : A

Q.No: 127 When the scale of salary of an employee is increased without corresponding changes in job is known as

2418542
9 waftd st 7 fo T Seara b e Sl & JaTme ¥ uRvady g § @ 39 Fefifed ¥ S few Tm & o e g
Promotion
A
wgrafr
Transfer
B
RO
Upgradation
C
STHSIA
Retirement
D
Far fgfy

Correct Ans : C

Q.No: 128 Which of the following reason is not associated with training to employees?

2418547
i & & o1 I aoe Sl F TiReo 3 9al[ T8 §
Quick learning
A
ftsr fRraror
Higher productivity
B
SR IdTgerdl
Increased supervision
C
wafga P
Standardisation of procedures
D

ufeharait &1 A SIHRur

Correct Ans : C

Q.No: 129 When two business agree to join together for a common purpose and mutual benefit it is known as
2418574

SIS 3 G U TAM I R URERG & T o & Fe+ & o ggdd 81 8 df 39 1 Fgl ol 372

A Statutory corporation
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Juifre SRR

Joint ventures
B

T SUHH

Global Enterprises
C

e Iuww

Memorandum of understanding
D

GEEIGIEILES

Correct Ans : B

Q.No: 130 Those activities which are concerned with the extraction and production of natural resources and reproduction and development of living organism plant are known &
2418581

WipTis GETe & Frepdor oIk Iare SR elial el & uor ok R & weifia wfafafal g weard §

Primary Industries

A

WUl ST

Secondary industries
B

ferae s

Territory industries
c

qa® ST

Assembling industry
D

SREfRAT I

Correct Ans : A

Q.No: 131 Where does one can claim the amount of loss or damages of stock in business?

2418583
EETg § Wb P JHUM U1 THYH BI AT BT @l Hel [baT S Gebal 82
Banks
A
Ecd
Transport
B
LIRGEL
Communication
Cc
IR
Insurance
D
dtar

Correct Ans : D

Q.No: 132 Which of the following comes under the features of a partnership firm Business carried on by all or any one of the partners acting for all every partner is both an age
2418590

frafifed &  SH-91 TrRer BF 3 faRvare F ol 3, Taw a1 fdht aeer R e ude SeieR & i wie OR vu & w0 § S SR §U sawr s o §

Continuity
A
qiqd
B Decision making
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Forofa ot
Control
Cc
ferizror
Mutual agency
D

IRERE Hgufd

Correct Ans : D

Q.No: 133 is a contractual agreement whereby the owner of the Asset grants the other party the right to use the Asset in return for periodic payment
2418685

T HfIEnTd THEidT 8 e ded uREuRl 1 A THa-9g R YT F 9ed B g UE B Gul BT ITNT B $T ISR FaH HRal 8

Factoring
A
Faefar
Lease
B
uet
Trade credit
Cc
IR BT
Retained earning
D

wforerfa sma

Correct Ans : B

Q.No: 134 The full form of IPR is

2418689
TSR BT T ATH T 7
Intellectual Property rights
A
gedtage wTadt e
Intelligent prospect right
B
ERE G I e
Interest promotion right
C
§¥ T g
Intelligence profit right
D

$eferiy uiftee wse

Correct Ans : A

Q.No: 135 Buying and selling of goods and services within the boundaries of a nation are referred as

2418694
et A= @t Wmrait & fioR T iR Farelt Bt wlie o e 1 Feard ¥
External trade
A
S AR
Internal trade
B
SfiaRe TR
International trade
C

SRTgh =R
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D

Foreign trade

fae=ht e

Correct Ans : B

Q.No: 136 Which of the following does not comes under the characteristics of marketing

2418718

frafifed § § S g & oo & SRt TeF ot 7

It is operational

g TP §

It is not customer oriented

Tg UEP S el gl ©

It is value driven

g gea IR grT @

It covers both profit and non-profit making organisation

g AHBRY 3R R-TUS G- GRE & W+ &1 THGT &

Correct Ans : B

Q.No: 137 Which of the following does not comes under functions of marketing management

2418722

fafifad & @ o Hrf fJuu yeie & siavid a1 o §

Assessing marketing opportunities

fauorE ¥ SaERY BT BT HIAT

Production of goods

qEg3il T ITeH

Providing effective marketing organisation

gyt fIuor e weH HRA

Planning marketing activities

fagor wfefaftal @t giemr daR S

Correct Ans : B

Q.No: 138 Green Marketing is also known as

2418726

T ABRT S ... & A F o T @ §

Eco marketing

Esak:caral

Nice marketing

AT ATH T

Counter marketing

PIIeR ATHTET

One to one marketing

9 g a1 "I

Correct Ans : A
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Q.No: 139 Which of the following does not comes under nature of marketing strategies
2418738

Froafafed § 3 &1 Ruoe i 3 uefi & siafd T ot §

Dynamic
A
Tferefter
Futuristic
B
HiSES
Top management blueprint
c
=i yeeA sgfie
Simple plan
D

ATH GET

Correct Ans : D

Q.No: 140 Management as an art has the following attribute-

2418781
W Fa F w0 F yeed 1 Fafifed kv g 3
Application of Management concept and principles
A
VYT BT JAYROT R Ricgie w1 SrgwanT
Suentfic observation
B
q&A Sraciied
Systematic body
C
Rrerfes arst
Experimentation
D

T

Correct Ans : A

Q.No: 141 Who proposed a list of Administrative functions under the catch word PODSCORB
2418784

UTswhid Ueg & Schid TR Bl Bt Gl &7 ukard Fafafed # 9 feem faar ure

Luther Gullick

A
TR IR
Henri Fayol
B
T wara
Urwick
C
s
Taylor
D
HEGE

Correct Ans : A

Q.No: 142 The need for efficient management in the organisation is related to
2418785
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o H ST Yt BT ez, e aiftrd §

Accomplishment of goals

A
weal B gfd
No balance between effectiveness and efficiency
B
wHTaRfierar SR garaT ¥ ST i
Not for productivity
o
Saresar & fag TE
Not for growth
D

o & forg =8t

Correct Ans : A

Q.No: 143 Full form of MNCs.

2418929
MNC %1 guf =9 §
Many national Corporations
A
Bt A=rTa SRR
Multinational corporations
B
AR SIORIA
Mutual nationality Corporation
C
TGN AT HIOGRIA
Movement national Corporation
D

gl AXE HIORIH

Correct Ans : B

Q.No: 144 An act of using goods and services to satisfy current wants

2418934
A SRRl BT R F F g awgelt IR Jarslt BT S F F1 0 I
cost of production
A
IeUTE P AT
consumption
B
gud
expenditure
C
g
price
D
Faa

Correct Ans : B

Q.No: 145 Stock of unsold finished goods, semi-finished goods, Raw material is known as

2418938
1 9% R A9, 31 IR A1, H= 1A & ©ib b Y H 9T Sl §
Investment

A
s
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B Inventory

a4
Product
C
JdTq
Expenditure
D

a9

Correct Ans : B

Q.No: 146 Allocating natural and artificial resources so as to make optimum use of the environment relates to

2418943
JafeaRUT BT ST ST B & T Uepfarep AR BT TAre B e fhad wafe g2
Human Resource Management
A
RIECR:EIUER US|
Financial management
B
forfta waiem
Environmental management
C
LEIERU R PR
Marketing management
D

& T yaee

Correct Ans : C

Q.No: 147 includes all those activities which are necessary for facilitating the exchange of goods and services are
2419004

_______________ # 3 ot iR anfivr & o awgalt ok Fanelt & oeH-UeH B R & Rig oravs ¥

Commerce
A
i
Industry
B
SRt
Risk
C
Sifew
Profit
D
GG

Correct Ans : A

Q.No: 148 Public Enterprises brought into existence by a special act of Parliament is
2419008

T & A0 B GRT WA e Ig9 §

Departmental undertakings

A

fvrfta susw

Statutory corporations
B

urfre Frm
C Government company
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TRBRY HU

Private Enterprise

et 3em

Correct Ans : B

Q.No: 149 A government company in which not less than , of the paid up capital is held by the central government or by any State government or partly by Central (
2419009
T AR B! R IohaT Tofl FTFA Y BH .......... Fg WPR 7 el IsT WHR & UM AT S T ¥ H% WHR 3R SHRIF G Y TH 7 4P o0 WHR P U1 &1 &
51%
A
51%
49%
B
49%
30%
C
30%
40%
D
40%

Correct Ans : A

Q.No: 150 According to whom, “Economics is the science of wealth”?
2419014

g AR 3l T &1 g 877

Alfred Marshall

A

Jrebs ARid

Lionel Robin
B

IGEIECRIEES

Adam Smith
C

weH Y

samuelson
D

Agarae

Correct Ans : C

Q.No: 151 What should come in place of the question mark (?) in the following question?
2421512

98 + 14 x 49 —294 = (7)2

Fafafed vy o uyares g (?) & RIM TR ST AlgT?

98 = 14 x 49 - 294 = (7)?

14
A

14

V7
B

V7
c +7
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196

196

Correct Ans : C

24’\1201:511582 What should comein place of the question mark (7} in the following question?
342-262="2_30% of320

FafaRed ny o geargsd fog (7) & RIF W T aige?

347 - 262 =177 -320 P 30%:

12
A

12

18
B

18

24
[

24

30
D

30

Correct Ans : C

Q.No: 153 YWhat should come in place of the question mark (?) in the following question?
2421519 (430+12x35+452—157) ="

Fafafad vy 5 uyame fs (7) & ™H W A aifge?

(420 =12 %35 +451-15%) =7

25
A

25

35
B

35

45
C

45

55
D

55

Correct Ans : D

Q.No: 154

3 3 (7Y 1 s 1on?
2421523 What should comein place of the question mark (7} in the following question?

—_—
V21 + +/49 ++/64% of 5000 =?

fFrafafaa vy § vaards fag (7) & wH W A aifee?

—_——
5000 P 21 ++/49 ++/64%

120
A

120
B 300
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300

450
C

450

500
D

500

Correct Ans : B

Q.No: 155 Find the smallest fraction of the following fractions?
2421552

Fofared firell # 9 o9 Bic! i 91d i

i8
29

i8
a9

ol

Wl

72
203

72
203

Correct Ans : A

Q.No: 156 Find the smallest fraction of the following fractions?
2421557

Frafiied firel @ § Jod B e 1q Sifoe-

18
218

ig
218

gl

19
230

Correct Ans : C
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Q.No: 157 Find the largest fraction of the following fractions?
2421560

Frafiied firel # 9§ o9 oSt i 91 Sifve?

111
150

111
150

41
76

41
76

F-R S

o |

52
a7

52

a7

Correct Ans : D

Q.No: 158 The areas of the three fields are 288 square cm, 408 square cm, 552 square cm. Equal minimum size blocks are made in the field. If the width of each rectangular b
2421600

& Tt 1 et 288 T AW, 408 T I SR 552 T I B | UAS W H SRR AY & (P ST T b MAABR ¢ 3R TP slih Bt AeTs 4 I 8 O T ([ o ) Id &

a4
A

a4

6
B

6

8
C

8

2
D

2

Correct Ans : B

Q.No: 159 Three bells ring simultaneously at 11 a.m. They ring at regular intervals of 20 minutes, 30 minutes, 40 minutes respectively. The time when, all the three bell ring tc

2421610
i ©fea ue w1y yafed 11 991 soidt § 9 A 20 e, 30 fFe,40 fire & siavie R suidt 81 i Hfeal T Y onTeh IR e sonfl?
1a.m.
A
1a.m.
1p.m.
B
1p.m.
1.15 p.m.
C
1.15 p.m.
1.30 p.m.
D
1.30 p.m.

Correct Ans : B

Q.No: 160 A number divided by 68 gives the quotient 269 and remainder 0. If the same number is divided by 67. The remainder is?
2421636 1w THT B 68 F HFT I TR TG 269 JVGA 0 U gl 31 3fe S G &1 67 § UFT fan oI ot Quwa gim?
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A 0
1
B 1
2
¢ 2
3
D 3

Correct Ans : B

Q.No: 161 Which is the smallest number which when divides 135 the quotient is a perfect cube?

2421660 gg oI f gaw G & SR 135 1 RAuiia B W e ol o e 812

A

D

uun b WW NN

Correct Ans : D

.No: 162 2
24201675 A Labor work 54 hours per week & he earns Rs. 32400. If his per hour wages are increased by 14—_{% and duration of

2
work is reduced by 16—3%. What percentage change in income?

T HIGY ToUw §H 54 HE e aar & AR g 32400 T, WA ¥ AR 3 9f 6T f wens

14—3% T & A0 AT FE T EET lﬁ—i% FH & e s a3 & fede giaea T Seelld g3 ?

3
5;% Increase

A
5
5% d@gd
9
5
5-% decrease
9
B
5
5% AT
9
3% Increase
C
3% dgd
16
4—% decrease
21
D

16
4—% A
21

Correct Ans : D

Q.No: 163 509 of the employees of a certain company are men, and 80% of the men earn more

2421703  than Rs. 2.5 lacs per year. If 60% of the company’s employees earn more than Rs. 2.5
per year, then what fraction of the women employed by the company earn more than
Rs. 2.5 lacs per year?

fadl fafead @uell & 50% &=l 9oy § 31 80% 9% 2.5 @@ T99 ufd af & el
HAT §1TE FUAT & 60% HHTRT 2.5 o 9 i a ¥ S0eT ST §,al H9a7 7 2.5
G T U aF T ST HHTT dTell AGaBT &1 ha=r A6 §2

2
5

L] ra

B
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il
4
i1
4
il
3
C
1
3
3
4
D
3
4

Correct Ans : A
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Q.No: 164 on selling an article for Rs. 105, Reshu loses 5%. To Gain 17% she should sell the article at:

2421717
Y T o AR 10559 A AT BN 3 9% T gl GIc BI 17% 0 AW & v
3N A & w g W aEa Tifw
Rs. 126
A
126 %.
Rs. 114
B
114 %.
Rs. 135
C
1357%.
Rs. 139
D
139 %.

Correct Ans : C

Q.No: 165 5 pair of shoes is sold at a Loss of 10%, had it been sold for Rs. 9 more there would

have been a Gain of 12%;& on it. The cost price of the article is:

mﬁaﬂé_‘raﬁaﬁlo%@ﬁrqramm%mﬁ:@mmmﬁammﬁm%% T ST GIa, o O @ aeTd #5e &

2421718

Rs. 40
A

40%.

Rs.42
B

42%.

Rs. 35
c

35%.

Rs. 50
D

50 %.

Correct Ans : A

Q.No: 166 ¥ sells two articles for Rs. 4,000 each with No loss and No Gain in the transaction. If one was sold at a Gain of 25%
then other is scld at a Loss of?

2421742
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X 7 g7 g BT .4000 9IS a&] O &0 & 0 6 30 A @ o §HT 7 Gif, ATG TE ol T B 25% W1 ST 41 61 O g aeg
T el FTCRTd BTiel 9T & 2T glem?

25%

25%

132
a:o

-
g.'O

162"'
§.'o

16 20;
§.'o

20%

20%

Correct Ans : C

Q.No: 167 In how much time, will a sum of money become double of itself at 15% per annum simple interest?

2421757
Toeiet BT # P15 LRI ARIRET &4 &7 15% T g § Fad &1 gil=1 al mueir?
6 years
A
6 af
5 years
B
5 af
1,
3% years
c
i% ad
2,,
3% years
D

P
3% ay

Correct Ans : D

Q.No: 168 poman invests a total of Rs.48600 in two schemes A and B., both of which offer

2421769 interests which are compounded annually. A offers 60% p.a. and B offers 40% p.a. If
after 3 years the values of the two investments A and B are in the ratio of 5 : 3
respectively, then what was the initial ratio of the investments made in B and A?

Tt &1 AT A SR B 3 T $.48600 T forder S &, Sl WA Smdia sATeT (Wl
1o &7 a0 & B A 60% Ut af 3 B 40% ufay af sarer &t §) 3 3 aut ¥ A
A 3R B gl TAaell &1 A FHA: 5: 3 & Hqud F §, df B AR A few aw fader &
GRTEE I &7 aT?

1536 : 1715

A
1536 : 1715
343:512

B
343:512

C 1283 : 1296
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1283 : 1296
113: 243

113 : 243

Correct Ans : A

24'\‘20117176: On what sum does the difference between the compound interest and the simple interest for 3 years at 10% is Rs.
31007

Tone eI 9T 10% a1fie <I7et of &3 ¥ 3 @Y T Tohgfig SaTsT 3T FTRoT <41 T Hed 3100 ¥9% gl 7

Rs. 1,75,000

A
1,75,000 ¥
Rs. 1,25,500
B
1,25,500 ¥0
Rs. 1,25,000
C
1,25,000 ¥q4
Rs. 1,00,000
D

1,00,000 03

Correct Ans : D

Q.No: 170 The number of pupils of a class is 55. The ratio of the number of male pupils to the number of female pupils is 5 : 6. The number of female pupils is—
2421850

et e & ST B TR 55 71 B IR BN S d19 5 : 6 BT UK T SIS B} T FALT?

11
A

11

25
B

25

30
[

30

35
D

35

Correct Ans : C

Q.No: 171
2421854 782 is divided into 3 parts in the ratio

b

2
3

| w

, then the first part is —

5_?82ﬁmﬂmm#§:§:zasﬂum#ﬁsmﬁﬁwm%#rmaqmrﬂra?rr?
182
A
182
204
B
204
C 190
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190

196

196

Correct Ans : B

Q.No: 172 The average age of x boys and y girls is p. If the average age of boys is r, then the average age of girls is:
2421890

X TSP qUT y TSPl BI 3N S p 31 Al TSHI 31 30d 3G r &, & TSfHT F oGd 3T 7:

2
p——r{r P) year
A o 5
2(r-p) 4
Y
3.
p——z{r ?) year
B ,{y
_Zr—p) g
y
din —
p—:(P ") year
y
c 4
p- 2T g
y
p——m{p_r] year
Y
o z(p—r)
Py

Correct Ans : D

24'\‘201191573 How many liters of water should be added to a 30 litre mixture of milk and water containing milk and water in the
ratio of 7 : 3 such that the resultant mixture has 40% water in it?

71 3% A9 A gy AR 9 & 30 el [FHer # fhder offiex arel &l fHemar ser @i
ek gROTEr fFoT 3 40 % =il 81 ST

5 litres
A

5 fex

2 litres
B

2 e

3 litres
C

3 ®ex

8 litres
D

8 Wex

Correct Ans : A

Q.No: 174 A goods train takes 18 seconds to pass through a platform from 162 m long and 15 seconds to pass through another platform 120m long. The length of the goods tr
2421990

TP A1 Me! 162 Hex T WehiH &) IR B9 H 18 IHUS quT 120 Hie T WehiH &l UR B4 | 15 JPHUs ST I ol &1 Fard T1d el 31 wars () & fbat 81

60
A

60

75
B

75

20
C

20
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D 105

105

Correct Ans : C

Q.No: 175 X, Y & Z can do a work in 30, 40 & 60 days. X work for whole time, every second day Y & Z together work with X. The whole work goes in this way. In how many da

2422024

X, Y @ X frdt &8 B1 30, 40 T 60 1 H R W &1 X W THI & T BM IRATL Y T Z TP G o X F 1Y B IR ¢ T YbR B TR gl ¢ TR B e = & 5o

1
163 days
A
161 Rt
4
3
18; days
B
183 Rt
4
1
1?5 days
C
175 %=
2
18§ days
D
2
18;%*&

Correct Ans : B

Q.No: 176 FAfafad & § SI9-91 Yeg 37 TN &1 T6) ISR 82

A Harm
B D
c AHSHIHT
D FaghE

Correct Ans : C

Q.No: 177 FrAfREd & § “sre@iier e # SH-91 Tq@d 82

A Lol
B SHYATTR
c FPT
D 3y

Correct Ans : C

Q.No: 178 FrAfad & ¥ HIH-I1 6g 5" Uq@d I el &1 82d

A Wi
B |rIS
c wfes
D Siced

Correct Ans : D

Q.No: 179 FrFfied faeeul & 4 fbg ey & wuft wee Igar® ga 82

A [T, 3T, AT
B F&IT, T, I

C TuT, e, vers
D [T, e, |

Correct Ans : D

Q.No: 180 FrAfIEd # ¥ HIH-1 a5y FREarEsS Ya-TH &7 Tel ST 82
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A it g T 9t B
B T YyeER ¥ yaq [Ad 21
c 3T FS AT AT

D & Y 3rue 3Ty & wa AT

Correct Ans : B

Q.No: 181 FAfafad & § “Hawaa” &1 uaigard Ieg Fa1 82

A far
B fafa
C ErEbif
D ELLH

Correct Ans : D

Q.No: 182 FARfEd & & “ang=m” &1 fadiy g Ham 32

A TRAROT
B e
C RaAF
D IWR

Correct Ans : A

Q.No: 183 Al # ¥ YEe-gH “HAIG-FR" & Tgi o Wg &1 98 Pifoe-

A HHLE- G
B Te - dua
c IR- 717
D M - Tt

Correct Ans : A

Q.No: 184 P ue & aepelf Tz Ru mw §1 U ordf wreg F @y € R 8, g1 ordf wamgu-

S-S
A pard

B ¥

c o=

D PTRE

Correct Ans : D

Q.No: 185 F=fiRed B ¥ Yk act a1 WIeg BT T PIfore-

A ayur
B Suae
c foaht
D sfrafa

Correct Ans : B

Q.No: 186 =R H ¥ iR Iat AT &g BT T Bifore-

A STt
B faferear
o IwEHY
D g

Correct Ans : A

Q.No: 187 FEfifEd & ¥ srgwra/sie Usg &I T PIfE-

A Rigra=
B GREGL
c ST
D asd

Correct Ans : B
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Q.No: 188 FHfIfed & § "F=aa " & TWAHR HIF 82

A PR

B I YR

c REES I

D myT R feaas

Correct Ans : D

Q.No: 189 fyHffad & § iR TIsg &1 Tg HIfoTL-

A 2
B s
C T
D ¥

Correct Ans : B

Q.No: 190 F=fifad & § e gfei wsg @1 = BIfve-

A quit
B Eeu
c At
D &

Correct Ans : B

Q.No: 191 = & ¥ 5w arem # fpar WMy Waora o 82

A I AP $I Ul wU  ug foram Al
B I9 gea uel € e A

c I TP U gl

D I AP U

Correct Ans : D

Q.No: 192 Qe SFIHTE B T fbat 82

A 11
B 8
C 4
D 33

Correct Ans : B

Q.No: 193 F=fiRad B ¥ 4R 39 & & U Farsu-

A Har®t WTa Td SR7AT
B LB RCRTRIC

c G wd faT

D R TG T4 Srera

Correct Ans : C

Q.No: 194 fARIRYT & & FHHdY BT d1bY Farsu-

A 313N, T I

B ot gRT ST F ST WA 21
C IR AR | T HBT

D firEmdt | W G T o w e

Correct Ans : B

Q.No: 195 "SR & Jife gafl, 39 & Fer o T a6y H o1 Iuarpy o 77
A ERk)

B 2t gafea gonm
c S &t galey gan
D
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Q.No: 196 &z =19 fod 3 U=E &Y IR UM & sier T § (A), (B), (C) 3R (D) HHIG U T 1 3MUH! I8 341 © & a1 & fobg YT & @i, UTe, aai-t, WsEl & TTord w41 36t @RE ©

o 0o w r

I YFT BT HHieh & MU IR 8| Al a1y Ffexfed 2 df 1S Ffe e b1 7 -
I W IaRA B/ (A)SHTHI 3 5T YHR 7T /(B)HM HIs I A T4 §1/(C)H1 Ffe 7 (D)

A
B
C

P Ffe T

Correct Ans : C

Q.No: 197 ARG # ¥ & 15 T T97 HIfoTe-

A
B
C
D

e & ygar § st € gu o wma @

afg a8 3 a9 A S

g ST 9ITY o St 7R

e @t SvmREifEel S w1 faas wa g

Correct Ans : D

Q.No: 198 W9 §1 ¥gHd fpaTd T T Wpd gl al _____ faeg &1 v fmar o g1
A e g

B 3Rl e

c wraafae foe

D SreufaRT™ g

Correct Ans : A

Q.No: 199 FAfiad & ¥ gerart “a78 37 &t srewmsa” &1 o1 o 72

A
B
C
D

T § HTH BT
QYEHAT Pt 1 AT

fralt #) 7 T & T uravs wRA
413 wwa & frq ol e fremm

Correct Ans : D

Q.No: 200 FRIEd & & Aepifert 30T T TRIT =" BT T 34 B2

A
B
C
D

o+t wafda & w9 foe @ &

et aqg $1 &M U9 T IHY BT SUHRTI
fRamadt oTe-a1e W aRafdear § oo O T8
o1 Y FeR QUi e & el ¥

Correct Ans : B
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Q.No: 1 Which of the following is NOT situated in the Vellore Fort?
2419231

e & & o9 R fFa & fa & 82
A temple
A
TP R
A mosque
B
TS Afeg
A church
C
s T
A Buddhist monastery
D

TP 9 7o

Correct Ans : D

Q.No: 2 The Rathwa Ni Gher is a traditional dance in the state of -
2419241

MAMR, I B TP IRURS A § -

Karnataka

PHleH

West Bengal

of¥ sma

Gujarat

ToRTd

Telengana

AeRTET
Correct Ans : C

Q.No: 3 Which of the following dances is popularly known as Gotipua dance?
2419246

Frofifad & 3 f5g T B Mgen T & T8 § ST ST 82

Bandha Nritya

A
Y I
Lavani
B
CERl
Bhangra
C
HiTST
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D Lamban Nritya

THI [

Correct Ans : A

Q.No: 4 Prime Minister Rozgar Yozana was started in which of the following years?

2419313
Frafaied 7 3 fr af # gur w5 AR drer TF @1 S A
1988
A
1988
1993
B
1993
1998
c
1998
2002
D
2002

Correct Ans : B

Q.No: 5 Raw materials and money in hand are a form of which of the following?

2419320
Fedl I IR b T Fufafed # J frwer w U 82
Fixed Capital
A
s yoft
Working Capital
B
PTI Yoit
Human Resource
C
e ST
Depreciating assets
D

Teae duf

Correct Ans : B

Q.No: 6 Buffer Stock is the stock of food grains, namely wheat and rice, procured by the government through which of the following?
2419335

TR T Fufiad # ¥ f5a® A 3 WHR gRT TS T W, $fd g iR I9d 37 HeR 82
The Food Safety and Standard Authority of India

A
YR @I GR&MT SR AS Wiram=or
Food Corporation of India
B
WRdtg @ fm
Food and Health Safety Corporation
C
T 3R TR JReT
National Heath Commission
D

AFHT TR AT

Correct Ans : B
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Q.No: 7  National Food Security Act was passed in which of the following years?

2419337
1T e Ran i Fafiied § 3 ey af & wiRa far man are
2009
A
2009
2011
B
2011
2013
c
2013
2015
D
2015

Correct Ans : C

Q.No: 8 In Australian Football, how many players play for a side at one time?

2419382
el weara #, e T # fras faere t vy & fo @ad 2
11
A
11
14
B
14
18
C
18
21
D
21

Correct Ans : C

Q.No: 9 Harold Bird is a renowned name in the world of Cricket as a/an -

2419400
Ries a8, fhde @1 ghar & fvg w0 § ta ulrg 9 82
Left hand batsman
A
MY BT & Teaarsl
Left hand bowler
B
1 814 & Agara
Wicketkeeper-batsman
C
faFePtR-gectars
Umpire
D
U

Correct Ans : D

Q.No: 10 Mo Salah as of November 2021, plays for which of the following football-clubs?
2419423
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T gate FdR 2021 a9, FEfifEad # ¥ 5y pesia-oaa & g dad 82

Manchester United

A
CEERR CIETE
Liverpool FC
B
foravge ww. .
Manchester City FC
C
AT Rt ww .
Arsenal FC
D
T T, .

Correct Ans : B

Q.No: 11 The shape of the earth is known as which of the following?
2419466

Tl F ol B Fefiied # 3 5w AW & S e g2

Spherical
A

TR

Cylindrical
B

EEEIEIN

Hemispherical
C

efirer

Geoid
D

Y-3TYH

Correct Ans : D

Q.No: 12 All India Muslim League was formed at Dacca in which of the following years?
2419567

frafafed & @ fow af § oo o sifea uRdR gRem o &1 7 fasar ma are

1905
A

1905

1906
B

1906

1908
C

1908

1911
D

1911

Correct Ans : B

Q.No: 13 Arya Samaj was founded by who among the following?
2419571

3 TETet B wiro i & @ fead grr B TS o

Raja Ram Mohun Roy

TSI 319 A I
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B Ishwarchandra Vidyasagar
$oRas faemeamR
Veerasalingam Pantulu

C
diafem uqyg
Swami Dayanand Saraswati

D

W e W

Correct Ans : D

Q.No: 14 Which celebrated poet compiled Sri Krishna Vijaya and was granted the title of Gunaraja Khan?

2419587

5w uRg ofa 3 ot Fwr fasra &1 I frar 9iR 3= TR WH @1 Iufy & 12

Brhaspati Mishra

A
gewfa farsr
Krttivas
B
Plaare
Kuladhar
C
FAURT
Maladhar Basu
D

TR oY

Correct Ans : D

Q.No: 15 Who is the author of the novel “A Passage to India”?
2419637

"7 IR ¢ 3fEar IUI F AE HH B2
Nirad C. Chaudhary

A
five o, et
E. M. Forster
B
3. TH. BT
James Ivory
C
o mgadt
Ismail Merchant
D

TS T

Correct Ans : B

Q.No: 16 Who is the author of the book “Interpreter of Maladies”?
2419647

"SeRYER 3 AL GHIH & AGD B 82
Jhumpa Lahiri

A
e wfeet
Mira Nair

B
LI

C Kiran Desai
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fopvor 3arE

Arundhati Roy

sreyfa 3

Correct Ans : A

Q.No: 17 Who is the author of the book “And Then One Day: A Memoir”?

2419648
I8 3 I 3 T AARR" THF & 9GS B 82
Om Puri
A
e ot
Naseeruddin Shah
B
THEE 2ME
Paresh Rawal
C
W I
Anupam Kher
D

IITA W

Correct Ans : B

Q.No: 18 In which of the following years, the President appointed two additional election commissioners with the Chief Election Commissioner?
2419728

fraffed & 9 frw o &, Aoy 3 g1 Ie Srged & 1y < sifaRad ga snge 3t R @1

1957
A

1957

1964
B

1964

1978
C

1978

1989
D

1989

Correct Ans : D

Q.No: 19 The Union Public Service Commission is which of the following kind of body?
2419732

WY T a1 SN Fafafed ¥ fow teR &1 fem 82
Statutory Body

A
wifafe e
Executive Body
B
FrdeRol e
Constitutional Body
C
waufe fFem
D Think Tank
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g Hew

Correct Ans : C

Q.No: 20 How many members does the President nominate to the Rajya Sabha?

2419747
Tyl Tl F R fra wewdl Y FAEG SR 82
8
A
8
12
B
12
20
c
20
22
D
22

Correct Ans : B

Q.No: 21  Who established an independent Kingdom of Malwa, with his capital at Dhar?

2419915
UR ¥ ST AU & WY, AEAEl S Teb WA Aoy BRI b B2
Dilawar Khan Ghori (Ghuri)
A
RareR @™ 08 (g8)
Khair Andesh Khan
B
TR oRw @=
Kilich Khan
Cc
ffera @™
Munim Khan
D

EiCICRCIE

Correct Ans : A

Q.No: 22 In which year was Madhav Rao Scindia born?

2419933
a9 Riftrar &1 5 g af gon ure
1945
A
1945
1948
B
1948
1951
c
1951
1954
D
1954

Correct Ans : A

Q.No: 23 How many times did Atal Bihari Vajpayee become the Prime Minister of India?
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2419938

3fed fagrt arod fhdt IR YR & wuFER 92

1 time
A

1dR

2 times
B

29R

3 times
Cc

3dR

4 times
D

4 dR

Correct Ans : B

Q.No: 24 Which of the following tourist-spots is also known as the ‘mini-Kashmir of Madhya Pradesh’?

2419997
fFrafafed 7 3 e wied v &1 ey wew @1 i dwik o #et o 82
Chidikho Narsinghgarh
A
Rrstat =RigTe
Patalpani
B
TraTeraT
Chidiya Bhadak
C
Rifgan wet
Ginnorgarh
D
firirere

Correct Ans : A

Q.No: 25 Where was the M. P. State Shooting Academy established in the year 2007?
2420008

7.9, o7 RISt 3febTeHt B RITAT 9§ 2007 A wef @i T 22

Guna
A

Ul

Mhow
B

HE

Chhindwara
C

fSearst

Bhopal
D

e

Correct Ans : D

Q.No: 26 In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence i

Brazilian scientists say that the administration’s promotion of rumours have made things worse.

A No error
B administration’s promotion of
(o rumours have made things worse.

Aok mme. Alma Al
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D DraZiidail SUIEHUSLS >ay uilatl uie

Correct Ans : C

Q.No: 27 In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence i
I clicked some excellent picture with a new camera after visiting Lucknow, known as the city of Nawabs.

I clicked some excellent picture with a

new camera after visiting Lucknow,

known as the city of Nawabs.

o 0O w »

No error

Correct Ans : A

Q.No: 28 1In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence i
The restaurant’s new owners have created an welcoming ambience.

The restaurant’s new owners

A

B have created an

C welcoming ambience.
D

No error.

Correct Ans : B
Q.No: 29 Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

What are you looking (upon) in the dark?

A over

B after

C for

D No improvement

Correct Ans : C

Q.No: 30 Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

The lady (laid out) a special dinner for her husband on his birthday.

A laid

B laid up

C laid by

D No improvement

Correct Ans : D

Q.No: 31 Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

Another question (we often ask) in those days was whether people believed in God or not.
we will often ask
we are often asking

we often asked

o 0 w r

No improvement

Correct Ans : C

Q.No: 32 Out of the given options, choose the one which is the correct active voice of the sentence given below.

The firewood is being cut by the Labourers.

The Labourers is cutting the firewood.

A

B The Labourers are cutting the firewood.

C The Labourers have been cutting the firewood.
D

The Labourers have cut the firewood.

Correct Ans : B

Q.No: 33 In the question a sentence has been given in Active/Passive Voice. Out of the four alternative suggested below, select the one which best expresses the same sentenc
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O 0o ® »r

I expect you to complete this work before sunset.

I expect you to be completed this work before sunset.
I am expected you to complete this work before sunset
You are expected to complete this work before sunset

You are expected to be completed this work before sunset

Correct Ans : C

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx

Q.No: 34 1In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sei

A
B
C
D

Roma is starting her business.

Roma's business is to be started by her.
Her business is being started by Roma.
Her business is being started with Roma.

Her business is started by Roma.

Correct Ans : B

Q.No: 35 A sentence has been given in Active/ Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active \

A
B
C
D

How have they written the exam?

How has the exam been written by them?
How is the exam being written by them?
How will the exam be written by them?

How have the exam been written by them?

Correct Ans : A

Q.No: 36 Out of the given options, choose the most appropriate word/set of words to fill in the blank.

A
B
C
D

The boy by a dog.
was bitten

were bite

were bit

were bitten

Correct Ans : A

Q.No: 37 Out of the given options, choose the most appropriate word/set of words to fill in the blank.

A
B
C
D

Scooby all the biscuits.

has eaten
have eat
have ate

has eat

Correct Ans : A

Q.No: 38 Out of the given options, choose the most appropriate word/set of words to fill in the blank.

o 0O w »

The creaking door __ the dog.
awakened

have awakened

have awaken

has awaken

Correct Ans : A

Q.No: 39 Out of the given options, choose the most appropriate word/set of words to fill in the blank.

o 0O w »

The baby still ____ from a bottle.
drinks

have drink

have drank

has drink

Correct Ans : A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx
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Q.No: 40 Select the most appropriate option to fill in the blanks.

She warned against jumping to until more is known about the situation.
A depletions
B beseeches
C entourages
D conclusions

Correct Ans : D

Q.No: 41 Select the most appropriate option to fill in the blanks.

These inscriptions are an source of evidence for the present study.
A fanciful
B sadistic
C invaluable
D acerbic

Correct Ans : C

Q.No: 42 Select the most appropriate option to fill in the blanks.

It is no use over your past mistakes and failures.

creating

A

B brooding
C tempting
D

tailoring

Correct Ans : B

Q.No: 43 Select the most appropriate option to fill in the blanks.

The government has promised to more on health and education.
A purchase
B selling
(o spend
D affect

Correct Ans : C

Q.No: 44 Select the most appropriate option to fill in the blanks.

The mystery behind the extinction of the dinosaurs

A is still

B be still

C are still

D being still

Correct Ans : A

Q.No: 45 Select the most appropriate option to fill in the blanks.

The court refused to accept his statement unless he presented

A them
B him
C it

D her

Correct Ans : C

Q.No: 46 Select the most appropriate option to fill in the blanks.

Serotonin has an active role in the production of melatonin,

A who
B which
C whom

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx

obscure.

in the form of an affidavit.

regulates our sleeping patterns.
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D

whose

Correct Ans : B
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Q.No: 47 The question below consists of a set of labelled sentences. These sentences, when properly sequenced, form a coherent paragraph. Select the most logical order of th

A
B
C
D

P. He could get it neither up nor down, and of course he could not eat a thing.
Q. A Wolf had been feasting too greedily, and a bone had stuck crosswise in his throat.

R. Naturally, that was an awful state of affairs for a greedy Wolf.

QPR
PQR
RQP
RPQ

Correct Ans : A

Q.No: 48 The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of the

C
D

A. In addition to directing many of his own star vehicles, Eastwood has also directed films in which he did not appear.
B. Clinton Eastwood is an American actor, film director, composer, and producer.
C. For most of them, Eastwood has received Academy Award nominations.

D. After achieving success back then in the Western TV series Rawhide, he rose to international fame with his role as the “Man with No Name”.

DCAB
BDAC

ADCB
DCBA

Correct Ans : B

Q.No: 49 Select the antonym for the given word.

O 0 @ >

SQUANDER
Confine
Persecute
Posit

Save

Correct Ans : D

Q.No: 50 Select the CORRECTLY spelt word.

A
B
C
D

Independent
Irresistable
Indispansiblle

Intelligance

Correct Ans : A

Q.No: 51
2420202
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In which of the following is convex mirror used?

Frofafad o 3 frad Iaa gdor &1 wanT s S g2

Torches

B

Dentists” mirrors

& fRfeest & afu

Security mirrors in ATMs and malls

wéen 3R A & gRa g

Reflecting telescopes

A B ufafdfea sen
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Correct Ans : C

Q.No: 52 Frictional force does not depend on which of the following?
2420212

Frofefea & 3 fra w oo st Ak 78 oxar &2

Nature of the two surfaces in contact.

A
Wud ¥ §F gag! Byl
Area of the two surfaces in contact.
B
Hud ¥ §F ol B dAval
Normal Reaction on the surface
c
e W A ufafeear
Mass of the object
D

T BT FHTH

Correct Ans : B

Q.No: 53 Which of the following represents the critical angle of a medium(8c), for light going from any
2420223 . . . _ —
medium to the air? (Given pz = 1 and pa1 = p)

Te 58 &1 AT 8 AT H AT AT Th197 o (7 6 ATEH % HiTsh B9 (8e) FH (e
FLaTg? (FATTATE e = 15Ty = p)

Bc=cosp
A

B =cos™p

Bc=sin? G)
B

Bc=sin? G)

B =tan? G)
C

B =tan? G}

8= tan (p)
D

Bc=tan (p)

Correct Ans : B

Q.No: 54 Which of the following statements is not correct?
2420229

frafifed & & o o HuT 98 T 82

The intermolecular forces are less in liquids in comparison to solids.
A

B P gaT & v ygrdf & SfaR-3Muifas gd w7 g &

Gas can be compressed much more easily than a liquid.
B

WA P ga1 ¥ T B it s | W fobar o wepar 81

A liquid has no definite Volume.
C

%a BT I3 AT smaa 8 giar 31

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx 13/56



1/31/22, 11:16 AM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx
D Gas has no definite Volume.

a1 1% A smaa 78 g 21

Correct Ans : C

(224’\‘2‘:;25353 If a body A exerts a force F on another body B, then which of the following is not correct?

afe th 15 A G IS B WX F Sa1 avIran 8, df Fafaiad § 9 & 91981 T81 87

B exerts aforce F on A

A
B.A R F W16l
B exerts a force -F on A.
B
B.ATRUS §7 - F W &
The two forces act along the line joining the bodies.
C
At g ISt ot fram arelt Y & ergfes arf #va §
Magnitude of force on both body is equal.
D

Sl YRR W 9@ B1 TRHATT SRR B

Correct Ans : A

Q.No: 56 Which of the following gases causes the effervescence that is released when we open a soft drink bottle?
2420374

9 & § o O 79 ad 37 3 aa Qe R Fee ardt gegarge ST HRU §dl 32

Nitrogen
A
BT
Oxygen
B
SfRfe
Carbon dioxide
C
BT SRS
Hydrogen
D
TG

Correct Ans : C

Q.No: 57 Carbonic Acid is formed when Carbon dioxide is dissolved in which of the following?
2420381

PTa STgsiass Fafifad # 3 feud gam R $reie uhis a9dr 82

Water
A
ot
Milk
B
QY
Kerosine
o
frdt o1 9@
D Vegetable Oil

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx 14/56



1/31/22, 11:16 AM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx

Ty dd

Correct Ans : A

Q.No: 58 Which of the following feed on dead and decaying matter?
2420390

frafifad ¥ 3 319 9q iR egait uerd @ 82

Autotrophs,

U

Heterotrophs

TRyt

Saprotrophs

TRt

Chemotrophs

Tt

Correct Ans : C

Q.No: 59 Which of the following is a Primary Carnivore?
2420393

frafifad ¥ ¥ B9 mufte aigvel 82

Frog

o

Tiger

Sheep

IS

Polar Bear

ydtg ure

Correct Ans : A

Q.No: 60 What is the nature of the energy flow in a food chain?
2420394

W SRl | Foll UaTe B B o 87

Unidirectional

THa-feRTEE

Bidirectional

-

Multidirectional

§g fexmers

Cyclic

Erdp

Correct Ans : A

Q.No: 61 Congenital diseases are those disorders which are acquired at -
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2420510

S 3, 3 PR & & AT A g -
Birth

S

Age of 5

5 @ Mg
Puberty

g

Adulthood

qgEhdl

Correct Ans : A

Q.No: 62 The H5N1 virus is also known as the -
2420519

H5N1 JRRY, % T F ot 91 S | -

Swine flu virus

A
AT W AR
Bird flu virus
B
TS W IR
Zika virus
C
et arRE
Ebola virus
D
gaar IR

Correct Ans : B

Q.No: 63 Which of the following options is incorrectly matched with the name of the vaccines and the disease that they prevent?
2420522

Faffad & @ &9 a1 fawe el F M 3R 3% §RI A% S aTel INT & TN TeAd AR 82

BCG - Tuberculosis

A
#4150, - e T
DTP - Pertussis
B
AR, - SR
MMR - Rubella
C
TH.TH.IR. - FaaT
HiB - Mumps
D

f&= (HiB) - T

Correct Ans : D

Q.No: 64 Which of the following diseases is also known as the “Black fever”?
2420537

Frofared & I forg 7 B "o gER" & TH I o S 9 82

A Pneumonia
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T
Flu
B
w1
Kala-azar
C
PTAT-3CSR
Tuberculosis
D

qfeP

Correct Ans : C

Q.No: 65 Which of the following diseases is caused by bacteria?

2420538
frafafad & & S-91 A sty § S 32
Influenza
A
TR
Anthrax
B
L]
Herpes
C
s
Chickenpox
D
ferpaten

Correct Ans : B

Q.No: 66 When we keep an iron nail dipped in a copper sulphate solution for some time, then what coloured deposit is found on the iron-nail?
2420657

9 &H el AR B P B PR Telbe b [0 H GaIoR $8 99T F RN 1@ §, @ AR 3 Pia R {69 T H1 SI91d 91 o 32

Yellow
A

drem

Silver
B

=i

Brown
C

kil

Orange
D

et

Correct Ans : C

;24'\;:) 66672 The word “polymer” comes from two words.
e "SgAd” & sl | T
Latin

A
s

B Greek
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picy

Roman
c

QL]

French
D

e

Correct Ans : B

Q.No: 68 What is the full-form of PET?

2420667
W &1 gof = 77 82
Polyethene terephthalate
A
Tieefi TrRde
Polyethylene tetrathalate
B
uretdfi egrdde
Polyethylene terephthalate
C
et YRde
Polyester tetrathalate
D

Uiferewer Terdae

Correct Ans : C

Q.No: 69 Which of the following is an incorrect characteristic of plastic?
2420670

frafifed & § o9 @fes $t Tad v 32
It is generally highly reactive to air and water.
A
g M R W g4 3R U & g sreafires wfafsrarsha 1
Plastic is generally Light, Strong and Durable.
B
P 3T AR W g, word 3R fewTss 21
Plastics are generally Poor Conductors.
Cc
RT3 AR W TG FSFRX T
Some plastics are not affected by the heat in a microwave oven.
D

$o WIS AISHAT sifaT A T & wHIEa 781 8 €1

Correct Ans : A

Q.No: 70 Which of the following non-metals possess metallic lustre?
2420683

fafiied & 3 oy srurg & uifds =xe gl 82

Iodine

FipiciEl

Calcium

Fieraw

Oxygen

fferfierT
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D Nitrogen

BIECEE]

Correct Ans : A

Q.No: 71 Which of the following is an example of an inexhaustible natural resource?
2420689

fuffad & 3 S Te siem THfads T BT IR 32

Air
A
ag
Forests
B
a1
Wildlife
C
EREICH
Coal
D
Fraar

Correct Ans : A

Q.No: 72 The part of leaf by which it is attached to the stem is known as which of the following?
2420897

ot T 98 U oY 98 a7 @ g1 A 8, Fuffed § 3 59 wea §2

Petiole
A
qufga
Lamina
B
Lgsca
Reticulates
Cc
SfereT =t
Veins
D
Rrr

Correct Ans : A

Q.No: 73 Which of the following is an example of plants which do not have chlorophyll?
2420906

fofefad & & F 1 37 Welf &1 IeTeur 8 RFH FaRiftee T8 giar 82

Spinach
A

UTeish

Broccoli
B

Heprert

Dandelions
o

Rigaoft

Cuscuta
D

AT

Correct Ans : D
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Q.No: 74 The stomach is a thick-walled bag, which is shaped as which of the following?
2420909

Ue U At AaRT aran Aar S 2, Rrger sieR g § § fhad o g 82

I shape

A
T B AP B
L shape

B
Bl I CAG G|
S shape

C
'S I BT B
J shape

D

T B A B

Correct Ans : D

Q.No: 75 The finger like projections in amoeba is known as which of the following?
2420914

areften o Jferdt & wwE vagu & Fufied ¥ 3w Tu § 9 S 22

Pseudopodium

A
STy
Food vacuole
B
ECIGE B
Assimilation
C
L iuicaul
Glycerol
D
fereRTa

Correct Ans : A

Q.No: 76 To access a mainframe or supercomputer, users often use a

2411557
T PR 1 R SR F TR B F R, TR AR T oo 1 S 3 3
Terminal
A
e
node
B
s
desktop
C
Swery
Handheld
D
Feiw

Correct Ans : A

Q.No: 77 Which of the following is a type of URI?
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2411565

5 & I B9 1 IR B TF UBR 37
URL

RSN
usB

UDDI

ESISIEIE

UML

quHga

Correct Ans : A

Q.No: 78 The feature that database allows to access only certain records in database is
2411568

Forw ) R o, 32 B vt 3 Retd a1 S e ) ool 30 2, 78 - AN 21

Forms
A

Lo

Reports
B

feaiE

Queries
C

Call

Tables
D

ta

Correct Ans : C

Q.No: 79 ... helps create, manipulate and analyze data arranged in rows and columns?
2411583

------- Ufeat iR Wi H TafRyd 3eT &) fhue B, ANYAE B 3R TS B4 # Age &Rl g

Application Package

A
TR ¥e
Word Processing Package
B
7 TR A&
Outlining Package
C
STzt ¥
Spreadsheet Package
D

Trsie T

Correct Ans : D

Q.No: 80 Which of the following part will hold many of the crucial components of a computer, including the central processing unit (CPU), memory and connectors for input anc
2411587

9 & ¥ B9 I1 7R 3ge SR 3MFeye SUBRTN & AT central processing unit (CPU), FHRT 3R Hdex T HIR F B HEaqU UeH! Bl IAT?
A Holders
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Holders

Mother Board

B
Mother Board
Main Board
C
Main Board
System Board
D

System Board

Correct Ans : B

Q.No: 81 In RDBMS, Data is presented as a collection of.............
2411589

RDBMS #, 3T ............... & T8 $ TU T TRqd fbar S 31

Table

Table

Attributes

Attributes

Relations

Relations

Entities

Entities

Correct Ans : C

Q.No: 82 Who among the following is the chief executive officer of Infosys?
2411591

Infosys % G HRIGR feRY Faffed & 3 oH &2

Salil Parekh
A

Wi uRE

Bill Gates
B

foret e

Ginni Rometty
Cc

farht Aftvey

Satya Nadella
D

T ASdr

Correct Ans : A

Q.No: 83 What is the Short cut key for line break in MS Word?
2411597

MS Word ® 18 8% & fow 27 Fe Goft o1 82

Ctrl + Enter
A

Ctrl + Enter

Alt + Enter
B

Alt + Enter
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c Shift + Enter

Shift + Enter

Space + Enter

Space + Enter

Correct Ans : C

Q.No: 84 The Artificial satellite which revolves around the earth and provide transmit information from earth is basically called

2411640
FHT ST o et F IR 3R gHAT B 3R 7edt A GOR TP UeH IRAT S U@ U Y HeI ST @
Geo satellites

A
Geo satellites
Geostationary satellites

B
Geosynchronous satellites
Low Earth Orbits

Cc
Low Earth Orbits
Sun-Synchronous orbits

D

Sun-Synchronous orbits

Correct Ans : B

Q.No: 85 Which of following is not an Application Software?
2411644

SR o Ra Application Software Ter 82

Photoshop
A
Photoshop
SAGE
B
SAGE
Dreamweaver
Cc
Dreamweaver
WinRAR
D
WinRAR

Correct Ans : D

Q.No: 86 Which of the following extension is used to save image/jpg in the computer?

2411649

HeR T BI BT Goor & T {1 & § FH 91 ToeI ITET b S 82

.cmd
A

.cmd

xls
B

xls

.vic
C

vic
D -jpeg
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-jpeg

Correct Ans : D

Q.No: 87 BIOS stand for?

2411663
BIOS 1 Hafifd &var 32
Basic Input Output System
A
Basic Input Output System
Binary Input Output System
B
Binary Input Output System
Basic Input of System
C
Basic Input of System
Binary Integrated Original System
D

Binary Integrated Original System
Correct Ans : A

Q.No: 88 ZIP stands for?

2411692
ZIP T &= 87
Zone information process
A
Zone information process
Zone information protocol
B
Zone information protocol
Zone interface process
C
Zone interface process
Zone interface protocol
D

Zone interface protocol

Correct Ans : B

Q.No: 89 Which of the following represents user identity describes a situation in which one person or program successfully masquerades as another by falsifying data?
2411731

fofaRed & I S ITNTEHdl g S UaHd BT § 9l 39 TR 1 30 wvar & Foraw e safda o $iiws 3ot &1 Tad Iifed d-e [t o & FU § qhadigdd it

Authentication

A

THTORBOT

Spoofing
B

wgfteT

Altering
C

sreefar

Malpractice
D

Arefeed

Correct Ans : B
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Q.No: 90
2411852

The process of verification for ‘Log-in-name’ and ‘Password’ is-

ART-3-W T ‘UGS’ & TTIH bl ufehar -

Logging in

ARRT 8

Certification

Tféfpda

Authentication

SfeHR=

Configuration

PIRPIRA

Correct Ans : C

Q.No: 91
2411873

Which of the following is not an input device?

fofifdd & § o gge feagy 78 82

Printer

fiiex

Scanner

TR

Light Pen

qmge U=

Mouse

HISH

Correct Ans : A

Q.No: 92 Which of the following converts a high level language program into machine language?

2411876

9 & HF UF 3= WRF U Ty &) 7= oo & oRafdd swar g2

Assembler

TR

Compiler

PR

Interpreter

FeeR

Text Editor

TR WeR

Correct Ans : C

Q.No: 93
2411884

A
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What is the shortcut key for Justify Alignment?

SRReET TarsTHe F o wicdHe Fot 7T 72
ctrl + C
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Ctrl + C
Ctrl + V

Ctrl + V
Ctrl + 3

Ctrl +J
Ctrl + L

Ctrl + L

Correct Ans : C

Q.No: 94 Which of the following is not system software?
2411895

frafifed & § o-u1 Ry wiedr 78 §2
BIOS
A
BIOS
Device Drivers
B
[SELEGISIECH
Language Processor
C
A TR
Word Processor
D

TS W

Correct Ans : D

Q.No: 95 What is datum in Database Management System?
2411899

ey Fe e & Sen @ 32

A physical Schema
A

P Wifae @it

A type of mapping
B

TP TR P AT

A unit of data
C

A T T

A logical Schema
D

TS qlfd® T

Correct Ans : C

Q.No: 96 What is the full-form of TCP?

2411900

Tcp &1 quf U 1 82

Transmission Computer Program
A

TR SR W
B Transmission Control Protocol
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- 71 et

Transport Control Packet

g et e

Transport Computer Protocol

i @ -

Correct Ans : B

Q.No: 97 While browsing ,which of the following shortcut keys is used to view the contents of website in fullscreen?

2411931
ISR R T, P & § o wiiddpe BI9 &1 SUaN perepid # SR B Pl B o P [og fpar S 82
F10
A
F10
F9
B
F9
F8
c
F8
F11
D
F11

Correct Ans : D

Q.No: 98 Which of the following is NOT true about MS Excel?
2412198

O TR & ey § Feiiied § @ oF-a1 9 6 82

Ribbons in MS Excel are divided into logical groups called Tabs

A TH.TH THA(MS Excel) & a1 &t aifhe agg! & fyuifom frar wimar @ R Tabs ®e1 wmen
2
'.xls' is the file extension of MS Excel.
B
' xls' TH.TH TRIA(MS Excel) 1 BI5d ToITA 2l
A spreadsheet program to present and organise data in a systematic manner.
C
HHist 1 FafRud T | TRgd FA R HafRIT F F g v Srssiie v 21
It is a software tool that makes it possible to organize data in a database
D

g U FIGEAaR IUSIVT § St Iad H 32T D) qafRUd 1 GHT T1T &

Correct Ans : D

Q.No: 99 Which among the following act as an interface between computer hardware and user?
2412428

e § 3 bueR greas AW 3R ToR & o $exthy & U B P B Bl 82

Operating System

A
sifofe Rreen
System Software
B
firew Aiveaw
C Microprocessor
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DT

Central Processing Uni

Hea R gfe

Correct Ans : A

Q.No: 100 In computer terminology, DNS stands for.
2412652

SR Tegraat &, DNS &1 quf ¥ gl

Domain Name System
A

Domain Name System

Database Name System
B

Database Name System

Domain Name Servers
Cc

Domain Name Servers

Database Name Servers
D

Database Name Servers

Correct Ans : A

Q.No: 101 Select the term that will come next in the following series.

2417555
E JOTY,
I S b1 g Y, S FEfeiad e # SFTe S|
E JOTY,
D
A
D
B
z
c
c
c
E
D
E

Correct Ans : A

Q.No: 102 Which of the following options will complete the given series:
2417568 1 jkk _Ihhj jkk_Ih _h

few aTe dea # e Ha A Hif
jkl__jkde_Ihhj_jkk_1th _h

jlhhkj

jlhhkj
Ihhhh

Ihhhh

[ hjljkh
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hjljkh
hljkhj

hljkhj

Correct Ans : C

Q.No: 103 Find the odd one among the following.

2417620
Frafafed & @ faws 3@ ST
Thiruvananthapuram
A
foeadtagza
Hyderabad
B
tawmETe
Calicut
C
Eanicad
Bangalore
D
FraR

Correct Ans : C

Q.No: 104 Find the odd one among the following.

2417633
Frafafea # @ faww @ ST
Aloe vera
A
TR
Amla
B
3ffaar
Neem
C
Bt
Mango
D
3

Correct Ans : D

Q.No: 105 1In the following question, select the odd letters from the given alternatives.
2417675

ey ¥, oy e feedl § @ fwm arer) &1 e BY

KNQ
A

KNQ

CFI
B

CFI

T™WZ
c

T™WZ

NPR
D

NPR
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Correct Ans : D

Q.No: 106 'Myopia’ is related to 'eyes' in the same way as 'asthma' is related to ?
2417708

TRNET BT ey SR § I RS T, S ST T Y I

Liver
A

gPpd

Intestine
B

3id

Heart
c

g

Lungs
D

PES

Correct Ans : D

Q.No: 107 In the following question, select the related word from the given altemnatives.
2417714 GRAPES : HQBOFR : : ORANGE : ?

rafafad vea &, fov are fawedt § & Gafaa g &1 994 &)
GRAPES : HQBOFR : : ORANGE : ?

NSBHMD
A

NSBHMD

PQBMHD
B

PQBMHD

PSZOFZ
o

PSZOFZz

NSBMHD
D

NSBMHD

Correct Ans : B

Q.No: 108 In the following question, select the related word from the given alternatives.
2417718 7 :music :: calculator - calculation

AFaTaTad 9o #, fev v faweul #F & Gaferd g &1 99 $11
? - Wl = herdpered - Aol

Trumpet
A
T
Phone
B
Lot
Notebook
C
Alegs
Bird
D
ueht
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Correct Ans : A

Q.No: 109 In the following question, select the related letters from the given altematives.

2417741 7DSK - LEAT :: 7 : WRFS

faea wa &, fow v faweal § ¥ 9T 31aRT &7 =99 S
ZDSK : LEAT = 7: WRFS

XSTG
A

XSTG

RQEV
B

RQEV

ERVQ
c

ERVQ

EQRV
D

EQRV

Correct Ans : D

Q.No: 110 1In a certain language, LAKE is coded as 121115. How will RIPE be coded in the same language?

2417749

T (T UToT B, LAKE $ 121115 & &Y & $fed f5an a1 §1 RIPE &1 It U1e1 & $9 fed foan wmeme?

976650
A

976650

342178
B

342178

897654
c

897654

189165
D

189165

Correct Ans : D

Q.No: 111 If in a certain code language ‘HIGH' is written as ‘8978’, then how will ‘DEAF be written in that language?

2417753

I T T Pl W B 'HIGH’ FY 18978’ foRaT Wil €, o 'DEAF HT 39 W & ¥ forar wmemm?

5416
A

5416

4516
B

4516

4561
c

4561

4156
D

4156

Correct Ans : B
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Q.No: 112 1If 7 is coded as CBRT343, then 9 is coded as:

2417759
g 7 Y CBRT343 & & & gfed a1 511 8, df 9 &I g usR gfed forar smam?
CBRT27
A
CBRT27
CBRTS81
B
CBRTS1
CBRT729
C
CBRT729
CBRT6561
D
CBRT6561

Correct Ans : C

Q.No: 113 1If in a certain code Language ‘HONESTY’ is written as ‘5132468’ and ‘POVERTY' is written as ‘7192068’, then how will ‘HORSE' be written in that language?
2417765

e T P s W H 'HONESTY' @I '5132468' 3R 'POVERTY' @1 '7192068" i@l 1T &, @l ‘HORSE' &1 39 HIST #f 39 ferar siawm?

50124
A

50124

51042
B

51042

51024
C

51024

52914
D

52914

Correct Ans : B

Q.No: 114 From the given alternative words, select the word which cannot be formed using the letters of the given word.

2417889
ANNOUNCEMENTS
Fafmad fiwed § 4 a8 ea IFE S AT T 2eg & SfarT & WA | TeT S S Fhell|
ANNOUNCEMENTS
CEMENT
A
CEMENT
NOUN
B
NOUN
COUNTER
C
COUNTER
TENSE
D
TENSE

Correct Ans : C

Q.No: 115 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2417893
ADMINISTRATION
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Fraffad fawedl & @ a8 e AT o fAT T Weg & &R o1 WANT BRb a1 ST S Fehell|
ADMINISTRATION

STRAIN

STRAIN

TRADITION

TRADITION

SITUATION

SITUATION
RATION

RATION

Correct Ans : C

Q.No: 116 From the given alternative words, select the word which cannot be formed using the letters of the given word.

2417899
CARPENTER
Frofafed fiwed # 4 98 ea FAY St faT 7T Teq & H&RT BT ST TANT B Tl ST S Hebal|
CARPENTER
NECTAR

A
NECTAR
CARPET

B
CARPET
PAINTER

C
PAINTER
REPENT

D
REPENT

Correct Ans : C

Q.No: 117 From the given alternative words, select the word which can be formed using the letters of the given word.
2417905

COMPANIONSHIP

fFroafafed fawedl 7 3 95 Wea AT S T T eg & 31&RT T AN $Rb ST S el
COMPANIONSHIP
OPEN

OPEN

OPIUM

OPIUM

OPINION

OPINION
NATION

NATION

Correct Ans : C
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Q.No: 118 Find the missing number in the series.

2417947
828, 280, 75, 21, 10.5, ?

e ® g ST 1 BioTe
828, 280, 75, 21, 10.5, ?
10

10
9.5

8

Correct Ans : B

Q.No: 119 Tn the following question select the related number from the given alternatives.
2417978 16 - 68 -- 36:

u v fawent § O Gafdg S &1 999

16 - 68 - 36:

216

216
210

210
222

222
226

226

Correct Ans : C

Q.No: 120 In the following question select the related number from the given alternatives.
2417984 g1 :728 11 144 :

few v fawed! F & d&feg dwar &1 93 #i)

§1:728::144:

1727
A

1727

1330
B

1330

168
C

168
D 2196
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2196

Correct Ans : A

Q.No: 121 'Which two numbers should be interchanged to make the given equations correct?
2417994 53 _8:24+5=8+2+3%x5-6

Srtef@a @ fietol & d8 7 4 gol Ho & U fhe o1 dTaBi & thgal &

T 9 QAT §HEM?
6x3-8+2+5=8=2+3%x5-6

5and 6
A

53R 6

3and 5
B

33R5

8 and 6
C

83k 6

6 and 2
D

6 3R 2

Correct Ans : A

Q.No: 122 Which two signs should be interchanged to make the following equation correct?
2417998
7x2+5-16+4=13

Frafifaa aHiel & 98 T A & FA F e 6 <) g Y oug § seaar g

7x2+5-16+4=13

X and +
A

x MR +

+ and x
B

+ 3R x

+ and +
C

+ 3R +

X and -
D

x 3R -

Correct Ans : A

24'\‘1%010243 If *+’ means +, *+’ means—, ‘—* means x and x means +. What will be the value of the following
expression?

8§+4+3x5-9=7

3NN '+ F AdEE +, '+ Aded -, - F Aderd x 3 % F3wT + g, d B e e #

AT FdBT?
§+4+3%x5-9=7

44

44
53

53
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c 62

62

64

64

Correct Ans : A

Q.No: 124 If '+'means '+ |'—' means %' '~ means '+ and '<'means '~ then 36 x 12+4+-6+2-3=7
2418010
A+ wm AT B, = T A Ex, T oA g R w wmr AT R g, ar 36 x 12 +
4 +6+2-3=7
2
A
2
6.5
B
6.5
18
Cc
18
42
D
42

Correct Ans : D

Q.No: 125 Identity the diagram that best represents the relationship among the given classes.
2418258
Food, Dinner, Rice

e & & 39 o &1 7 Y S U T it S ey @ g 82

A&W
QD
®
€
&
&
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Correct Ans : B

Q.No: 126 Retirement after attaining a specific age is
2418538

T ARy 3mg b 1g E arelt Jar Fgf

Forced retirement

SR Ja1 Frgfy it @

Premature retirement

wwa qd qar gl adft @

Compulsory retirement

ifrard Jar frafr et 8

Demotion

et g @

Correct Ans : C

Q.No: 127 1In promotion seniority means
2418543

T # afgar @1 srf g &-

Length of service

Jar Ft @i

Merit

o
Age

Sy

Behaviour

AER
Correct Ans : A

Q.No: 128 “Earn when you learn” is related to
2418549

Induction training

A
ECERE R B
Refresher Course
B
vz Bt
Apprenticeship training
C

wiAfew ik
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D Internship training

SRk wfkneror

Correct Ans : C

Q.No: 129 The industries which assembles different component parts to make a new product are known as

2418577
J FEhT ot faftret gee Ui Y SNShR TP 41 SIS 410 8, I T Healld &
Analytical industry
A
frzdtyoner® IRt
Synthetical industry
B
HRAYUTHAS JERT
Assembling industry
C
SRTEIAT ST
Processing industry
D

BT ST

Correct Ans : C

Q.No: 130 Credit facilities loans and advances overdraft are generally provided by

2418582
iz ghaumy, B 3R 3fPm faRgue AR | fFa® gRT TaH T o 82
Insurance Company
A
e Hut
Banking
B
AfH
Transport
Cc
aRaeT
Communication
D

AR

Correct Ans : B

Q.No: 131 Renu is a friend of Seema who is a partner in a software form on Sudha request Rani accompanies her to a business meeting with Mohan softwares and actively part
2418591 that company Identify the kind of partner involved in this case

T, i @Y i & S U Witk B B WIRER 7, GUT % SFRIY TR I SUd W1y HigH WUy & U Uh Aaue 36% § Wt § AR 987 U oIaur F o ania uithar # 9fha

Nominal partner

A
TR AR
Partner by estoppel
B
TR gRT AR
Dormant partner
c
Y ARG
Active partner
D

P AR
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Correct Ans : B

Q.No: 132 Which of the following services does not comes under business services

2418594
Froafafed #  S1-3 Ja1 ewie Jarel & sl T omh 7
Banking
A
Eital
Insurance
B
LI
Education services provided by NGOs
C
R WS TTSA1 (TTNSHT) TR YSH FT S arelt Rrem Jang
Transportation
D

aRagT

Correct Ans : C

Q.No: 133 Any confidential information related to formula or process which provides a competitive edge is

2418690
wigen a1 ufar & Hed 1S Mo THeRt S wfowef § sed IeH aRdt s 9w §
Trade secrets
A
TS W
Geographical indication
B
iifere wda
Traditional knowledge
C
URUR® I
Trademark
D
TeuTS

Correct Ans : A

Q.No: 134 is any word, name or symbol or their combination that identifies the goods made by the individual Company organisation
2418691

T T, T 1 Welleh T ST WAIe gl 3 S fpd} faRw o=t TWiTeT gRT §91¢ T4 A1 6t Uga il

Copyright
A

LaLINES

Trademark
B

YSHTS

Patent
C

e

Geographical indication
D

Wi T&a

Correct Ans : B

Q.No: 135 is payable on all inter State supply of goods or services
2418698
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Aret o Jaredt a1 G gt I F 3ieR Sgfel w37 g §

CGST
A
Hefteadt
SGST
B
THeHTHS
Property tax
o
wufy s
IGST
D
argeheedt

Correct Ans : D

Q.No: 136 Objective of marketing management is

2418721
fauor yee & SR Ed §
Creating customers
A
TP BT o ST
Customers dissatisfaction
B
EH B Y
No consumer orientation
C
PIg IUHITaT IgEaT Tt
Non realisation of organisation goal
D

AiTfE AeT Y Tty

Correct Ans : A

Q.No: 137 An attempt to find new uses for existing products and Creations of new users, it is reinventing is known as
2418724

Tt TifeT SaTE T AT START TR HRA BT TN SR T STl S Gord I g A1 & S el &

Synchro marketing

A
Risrard e
Counter marketing
B
PTIER ATHTET
Remarketing
C
e
Over marketing
D

iR AThfeT

Correct Ans : C

Q.No: 138 Product design is not influenced by
2418730

Ide F1 fEomsT Fofafed § 3 fewd gri sififa a1 8k &

External appearance

qTe TX9-IufRAfa
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B Service requirements

JaT SHTTTHATE
Competitors design
C
wfoedf fEsmg=
Transportation
D

aRasT

Correct Ans : D

Q.No: 139 Identify the incorrect statement.

2418746
Marketing segmentation strategy is:
A dHded H UgaH B
TR faHer oA g 3:
Identifiable & measurable
A
g $3 A1 SR WO i g @
Give evidence of adequate market potential
B
JRRIT TR T F T w1e vea ¥ @
It is not economically accessible
C
Tg i +u & Toad UNY gt @
It is relative stable over a period of time
D

Tg ot afy # erdened fRR A &

Correct Ans : C

Q.No: 140 Which of the following does not comes under the features of Management as a profession
2418782

Frgfeied # @ B e 9 & U # ydee @) Rdivarel & siaid 7 §

Unrestricted entry

A
smfasa yawr
Specialised body of knowledge
B
T &1 fafre afen
Professional Association
Cc
IR Y
Code of conduct
D

TR gar

Correct Ans : A

Q.No: 141 Identify the incorrect statement from the following-

2418787

Frofifad & @ od wu Riftd #3-

A managerial principle is a broad and general guideline for decision making and behaviour.
A

yeuFa Risia fofa gom 3R ogaer & R amus sk amr e 31
B Principles of management are pure science
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waeA & frsia faggs e €

Principles of management differs from techniques of management.
Cc

WaeE ¥ Ry, ve B aw-ie! @ i 89 7

Principles of management differs from values
D

weee ¥ Riia, T A Rm AR §

Correct Ans : B

Q.No: 142 The correct sequence of Management as a Process is
2418788

T Uitha1 % &Y & USH BT el hH HI-I1 8

Directing, organising, planning, staffing, controlling

A
=, smater, dier, werf, o
Organising, staffing, planning, directing, controlling
B
ST, T, drer, fdwm, fFraaor
Staffing, planning, organising, controlling ,directing
C
T, dier, smite, o, FeRe
Planning, organising, staffing, directing and controlling
D

TrorT, TS, T, R iR o

Correct Ans : D

Q.No: 143 Tax imposed on the production of a Firm

2418935
T HH & TG TR T T B
Excise duty or excise tax
A
JdIg Yo AT IUIg P
Income tax
B
STDHY
Municipal tax
c
TR &
Fringe benefit tax
D

fiber affre o

Correct Ans : A

Q.No: 144 Who is known as the “lender of last resort”

2418941

g "sifom Iur & BurERTar & ¥4 B ST S §

SBI
A

SBI

RBI
B

RBI

PNB
c

PNB
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D BoB

BoB

Correct Ans : B

Q.No: 145 NSE & BSE are example of -
2418945

NSE 3R BSE & a0 §

Primary market

A
Ut TR
Secondary market
B
ferae SR
Employment agencies
c
TR TR
Non-government organization
D

R W WIS

Correct Ans : B

Q.No: 146 Which of the following comes under factors affecting industrial analysis
2418947

frafofed & & o1 sieifie fazdvo HI guifad 7 ad FRS! F fafa o &

Growth rates of national income and related measures

A
T omg @ gi% R iR wafi s
Inflation
B
gorewifa
Product life cycle
C
TG Ste 9%
Growth rates of industrial sector
D

SeEfe &7 A e ®

Correct Ans : C

Q.No: 147 The public company has a minimum of ___ members
2419005
S HUR F B F B -----nmmommooe e E
3
A
3
2
B
2
4
c
4
7
D
7

Correct Ans : D
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Q.No: 148 Which of the following is not a merit of government company?
2419010

Frofafed # 3 &N 1@ Wert $uh 3 g T 72

Separate legal entity

A
e I §PTS
Enjoys autonomy in all management decisions
B
|t yeee frofat & wamaar ura avar @
It is not answerable directly to the parliament
C
gg WY w¥g & ufa srarads T ¥
Provides goods and services at reasonable prices, market control and curb unhealthy business practices
D

IR I W A SR FAE e BRal 3, IR G0 3R SRaread? Tawiis Yarsit W G T &

Correct Ans : C

Q.No: 149 Which of the following comes under fixed asset?
2419015

Fofefad § ¥ HH-w1, erad uRufy & il smar 82

Plant and machinery

A
T ok AR
Stationery items
B
wifew 7
Repairing goods
C
EINEI R Rk
Debtors
D
IRR

Correct Ans : A

Q.No: 150 Which of the following is an incorrect statement

2419030
Fofared & & SH-91 $YF Tad §
Amount of rent paid is shown on the debit side of the profit and loss account
A
YA Py MY fARTe @5t Ry @ SR B @ ¥ 3fae va W s et @
Carriage inwards are debited to the trading account
B
SfiaR® gars i ¢feT @ & 3fye faar amar 3
Interest paid is debited to profit and loss account
Cc
YITaT T T ST ATy SR BT T # S forar wrar @
Commission paid is credited to profit and loss account
D

YA fomar T FHRE Ty SR B1 W ® e fhar wrar @

Correct Ans : D

Q.No: 151

At 3 3 AT 3 1 on?
2421551 What should comein place of the question mark (7} in the following question?

V3EI=7-142-17 =7
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FafaRaT vy o nyaes 9 (27) & R W H A 92

361=7-141-17 %7

20
A

20

23
B

23

27
C

27

334
D

334

Correct Ans : D

Q.No: 152 what should come in place of the question mark (?) in the following question?

2421522 19 504 0f240+200% 0f 27 =7 %12
et vy o veyaes fag (o) & M WA AFTaEit
240 BT 12.5% +27 BT 200% =2 x 12
5
A
5
6
B
6
7
(o]
7
8
D
8

Correct Ans : C

Q.No: 153

2421525 What should come in place of the question mark (7} in the following question?

387 +60% 0f 1350 - 16x28=7"

Fafefad vy O uyarad &g (7) & ®IH 9T AF gige?

387+ 1350 PI60% — 16 x28 =7

1842
A

1842

1956
B

1956

1620
C

1620

1806
D

1806

Correct Ans : D
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Q.No: 154 what should comein place of the question mark (?) in the following question?

2421526
-\I|656 + 16-552 + 24 + 14 x 17=7
Frafaead vy & werargs s (2) & RIF W T aige?
_‘J|I656 + 16-552 + 24 + 14 x 17="7
22
A
22
19
B
19
16
(o)
16
21
D
21

Correct Ans : C

Q.No: 155 Find the smallest fraction of the following fractions?
2421555

FafiRed firel @ 9 Jod B i 1d Sifoe-

47
137

47
137

15
49

26

73

Correct Ans : B

Q.No: 156 Find the smallest fraction of the following fractions?

2421561
Fafifed et & 9 9e9 B3It i 31a Sifoe-
19
A
19
B :5
34
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u
w

[
[

u
u

[
[

Correct Ans : C

Q.No: 157 24 + 6% 80
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2421565 If ;oo = £ X 70f9 + 32.dre="?

24 +6x BO
16 +4X 60
1.25
A
1.25
0
B
0
1
c
1
-1
D
-1

Correct Ans : C

=tx 70f9 + 32.drt=2

Q.No: 158 Z is the largest 4 digit number, which when divided by 4, 5, 6 and 7 leaves remainders as 2, 3, 4, and 5 respectively. What will be the remainder when Z is divided b

Z, 4 3! 3 T 9 W@ 7, B 4, 5, 6 qu1 7 A AUIRIT 7 W J9HT FHA: 2, 3, 4 AU 5 AT S | 99 Z BT 11 F fJuifora fovar o, o Awwsa @ gme

2421602

1
A

1

/]
B

V]

4
Cc

a4

10
D

10

Correct Ans : B

Q.No: 159 The ratio of the sum and the LCM of two natural numbers is 7 : 12. If their HCF is 4, then what is the smaller number ?
2421611 3 yigfas TS BT AR TU1 I9 .9, BT UM HE: 7: 12 31 I ST 7.9.4 B, O SIS G o 82

A 20
e ie
c 12
° s
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Correct Ans : C

Q.No: 160 Wwhat will be the remainder when 52 + 55 + 42 + 18 is divided by 6?
2421637 53 4 554 42 + 18 B 6 T YT & W AVHA FT G2

A

W NN uu »~p

D

Correct Ans : B

Q.No: 161 28935 is exactly divisible by which of the following?
2421663 g935 fgfiiad & I fbud grT yofa: fursa 82

9

A 9

B 7 and 9
73R 9
11

¢ 11

b 15 and 7
15 3R 7

Correct Ans : A

Q.No: 162 If a man saves half of his income then he can buy a laptop after one year. By what percent he should increase his saving to buy the laptop in 9 month.
2421678

IS T MG T 31 BT 31 BT TAIBR Th I 916 U QYT Wiledl 8, df 9 HEH & U Auery Wdie- & iy 39 e s=rd fban ufa=ia sgran gime

2
25§/o

30%

Correct Ans : C

24'\‘20117106: In an examination, 80% students passed in Physics, 70% in Chemistry while 15% failed
in both subjects. If 325 students passed in both the subjects, find the total number of

students who appeared in the examination?

Te Gl #, 80% fagamf sfifde faarT #, 70% J@raa et 7 i U Sfafe 15% arar
fawal # ther gu| @l 325 facaedl =t faudt # a gu, o & Ty fagardl aler #
afeAferd gee

500

500
400

400
300

300

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx 48/56



1/31/22, 11:16 AM
D 600

600
Correct Ans : A
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Q.No: 164 gy selling a keyboard for Rs. 350 instead of Rs. 400, Loss percent increases by 5%. The cost price of keyboard is?

2421719

Ueh SIETS T 400 T & A& e 350 F IIeY X UTAATEITA 5% F& STl 8, A FINSHI oA Hed Al

Cy

Rs. 1,050

¥%. 1,050
Rs. 417.50

%.417.50
Rs. 435

¥. 435

Rs. 1,000

¥. 1,000

Correct Ans : D

Q.No: 165 T Gain 10% on selling the mixture of milk and water at the cost price of pure milk. The quantity of water to be

mixed with 50 kg of pure milk is?

50 TR.a. g gu #H Tandia 9Tl e =iy T [T &1 9 g & &g Hed 94 d<= 97 10% & o &1

2421723
2.5 kg

A
2.5 fF.m.
5 kg

B
5 f.am.
7.5 kg

C
7.5 f5.am.
10 kg

D
10 f&.m.

Correct Ans : B

Q.No: 166 (on selling an article for Rs. 800, a person loses 20% of its selling price. At what price

2421745 should he sell it to gain 25% on its cost price?
RsS. 800 & Ue a¥q & d9- W, U cOTed o GHth [a%d Hed &1 20% &lf & S 51 38 391 7 7ed & 25% 9o Hla & fow
5% Tohe Hpd O el TIET?
Rs. 1,280
A
Rs. 1,280
Rs. 1,152
B
Rs. 1,152
C Rs. 1,250
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Rs. 1,250

Rs. 1,200

Rs. 1,200

Correct Ans : D

‘22‘-1'\‘201:715687 The simple interest on a certain sum at 5% per annum for 3 years and 4 year difference is Rs. 4.2. The sum is:

e TR 9 5% arfde sarsf & g7 & 3 gui 31 4 gt & 9o SraReT saret § . 4.2 %7 Ho] &) a5 R aansi

Rs. 92
A

¥. 92

Rs. 74
B

%. 74

Rs. 80
c

¥. 80

Rs. 84
D

v. 84

Correct Ans : D

Q.No: 168 Two sums of money in the ratio of 4:5 are borrowed for a period of 5 years. The rate of interest on the two sums are in the ratio of 4:5 and the total simple interest
2421770

4:5 & UG H G B BT U1 5 It Pt 3fafy & fw IUR foram S B 1 1 6T R A B @R 4:5 F U H 7 R I B W F WYRY AT 1,23,00 I0Y B &Y AR/ R T

Rs. 1500
A

%. 1500

Rs. 3200
B

¥. 3200

Rs. 2700
[

%. 2700

Rs. 1800
D

%. 1800

Correct Ans : C

Q.No: 169 At what percent per annum will Rs. 4000 amounts Rs. 5324 in 3 years if the interest is compounded annually?

2421779
TP T B Y T W 4000 TIT 3T AR 3 Iuf H 5324 IUY & G2
8%
A
8%
10%
B
10%
12.5%
C
12.5%
D 12%
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12%

Correct Ans : B

Q.No: 170 An office opens at 10 AM and closes at 5 PM. The lunch interval is 30 minutes. The ratio of lunch interval to the total period of office hours is -
2421852

TH HE Ud: 10 T GAdT 3 3R TG 5 99 9 BI1 g1 U 1ae=1 30 e &1 g &1 WiSHEaasr iR Srifag 3t $a s/afd &7 urd 31 82

1:7
A

1:7

1:14
B

1:14

7:1
C

7:1

14:1
D

14:1

Correct Ans : B

Q.No: 171 The amount of extension in a spring is proportional to the weight hung on it. If the weight of 5 kgs produces an extension of 0.4 cm, what weight would produce an
2421855

TP HHF IR B AH1 I W de dic & U & g1 afe 5 6w, &1 sfec FAr 7 0. 4 i), &1 AR &2 8, @ 5 I, &7 MR F1 F 7 fpaw aom @1 sfe aid?

6.25 kgs
A
6.25 f¥m.
62.5 kgs
B
62.5 f&.
4 kgs
C
4 foam.
40 kgs
D
40 f&.

Correct Ans : B

Q.No: 172 The average, of 3 consecutive natural numbers (which are in increasing order) is k. If two more consecutive number, just next the first set of numbers, is added, th:

2421898 3 mHupTd Ui WA (SN b Sgd HH A §) BT 3N 'k’ 1 UM T TG F M & 3R HHRT Teneit Y S f3a wme at T siwrd g

K+2
A K+ 2
K+1

B K+1
% +1

c 2
2% +1

2

2k -1

D 2k - 1

Correct Ans : B

Q.No: 173 Find the ratio in which rice at Rs 7.20 a kilogram be mixed with rice at Rs 5.70 a kilogram to produce a mixture of worth Rs 6.30 a kilogram.

2421951 g 3urd F1d BT R 7.20 ¥ U el Tew & 19a @1 5.70 ¥ W e e & 99w & and fAfia e 6.30 T Ui fbat g &1 e une foha o 9|

1:3
A 1:3
2:3
B 2:3
3:4
c 3:4
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D 4:5
4:5

Correct Ans : B

Q.No: 174 An Express train covers a distance of 3584 km in 2 days 8 hours. If it covers 1440 km on the first day and 1608 km on the second day, by how much does the avera
2421991

T TDN YRSl 3584 foreft, @t gft &1 2 fa 8 98 & T ot B1 4fg I% Uga faet 1440 e, aur g 7 1608 fordh, @t gt a@ el 1 J1d ST 6 Yeamet &) gt amn &t s

3 km/h
A

3 ferd/g

4 km/h
B

4 YT

10 km/h
C

10 frefiya

2 km/h
D

2 ey

Correct Ans : A

Q.No: 175 P, Q &R can do work in 12, 15 & 20 days. Starting with P & second day Q & then R work completed in alternate days. Than in how many work completed?
2422025

P, Q & R et M &Y 12, 15 7 20 &1 # X Uod &1 U5 & P g fa7 Q 7 W 7 R 30 I 31 T YR I S-91F T 18 9 1 o Sa1sT fopa ot & o wmmeay gre

12 days
A

12 &

15 days
B

15 f&=

8 days
Cc

sfaa

6 days
D

6 faa

Correct Ans : B

Q.No: 176 FREAIRET & I "Pax” 1 el G g HH-31 82

A Hd B THA e

B Fd B 7 TR qT@ri
C P 3R I

D foraa pfa ot o 7>

Correct Ans : A

Q.No: 177 FrAfRed & ¥ 39 g &1 997 ST, ST Uq@d HT TART B §11 77 82

A [EECTICS
B fosifa
c e
D IaE

Correct Ans : A

Q.No: 178 “Junersl" & ygephd Iua Fe § Q BH-91 82
A I U

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx 52/56



1/31/22, 11:16 AM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx

B fad=rer Syt
C qgd gt
D qqHH SUAT

Correct Ans : D

Q.No: 179 FrAfifad & ¥ SIH-91 Xag qafddarasd I I Weifdd 32

A e
B EELE]
c ure
D Tt

Correct Ans : C

Q.No: 180 FrAfiRd & § -1 a4 SFREEaTE® Td-TT T TeT IRV 32
A STt FgT T a6t A |

B q YyerER F yaa R 21
c ST TS AT ATl
D & Y orue 3y & S AT

Correct Ans : C

Q.No: 181 FHRIRET & ¥ “aNiG” P51 TaigaTe X a1 37

A e
B KIGaGiG)
C wferem
D 7T

Correct Ans : A

Q.No: 182 fwfiad & ¥ “sndquf~is” &1 faam Teg a1 82

A uRfie
B SR
c Sgpd
D IqUH

Correct Ans : A

Q.No: 183 FwHffEd # & weg-grm “ia-Mif & T&t orf e &1 97 FifTe-
A RitcR )]

B X - AEH
c I §IAT - AR
D R - TE B

Correct Ans : C

Q.No: 184 e yz & eRaprell weg 3w U 1 web o wreg 3 wry € foran &, gy o wefrgu-

SHR- fezad
A g
B Sifer
[o de
D weftat

Correct Ans : C

Q.No: 185 FHfIRd H ¥ Y ac! a1l Weg BT T PIfore-

A Sianarst
B fssa
c Fafh
D qHg

Correct Ans : C
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Q.No: 186 F=fIRed H ¥ [ Iait AT &g BT T Bifore-
A gradt

B R
C sifa=rafar
D gysTd

Correct Ans : D

Q.No: 187 fyfafad & & sriTa/aad Usg HT 97 BIfo-
A g

B Taq,
c wEP
D iy

Correct Ans : A

Q.No: 188 fHfifEd & ¥ “Us 3R Rewll” & wHER & 72
A T B

B gersierE
c IRz Rig
D feriema

Correct Ans : A

Q.No: 189 F=fiAd & ¥ $H-T1 fiwew gfwiT- Wi &1 agt g 78 32
A YIIH-YITAT

B foraay- e
c EGCIEEEGE Tl
D Srar- et

Correct Ans : C

Q.No: 190 fmfafad & & fir fei I 2reg; &1 997 Sifore-
A wToft

B Ul
c g
D BT

Correct Ans : B

Q.No: 191 F=fifed & & rquiiaedre & &t ScTexul &1 Ta= Hifo-

A aSd qts T8 B

B yaTy gfaRid R

c T §9 T Al

D faer A Fa & e ug o A

Correct Ans : C

Q.No: 192 “U% 3R 3FFRR Y, TF iR FRAI
fospa e8! o 8, Al e @

Iuad Uit # HH-91 79 37
A id ™
B SGYA
C YIS T
D FE

Correct Ans : C

Q.No: 193 “4Hie fyd ua Aafg I
w9 g 90 o s@H

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx

54/56



1/31/22, 11:16 AM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2/Objections_Adminpanel/Final_Model_Answer.aspx

ERUAERICEECa A

RFg Yffda IRfE IR

Iued dfda) & BI9-91 79 82
A RUCKS:|
B T
c v ¥
D P ™

Correct Ans : D

Q.No: 194 ﬁmﬁ@aﬁ%aﬁaﬁqmmw_

A IHS gRT Hie &Y fama s
B T | ST TETAT ST B

o forit g1 faufy & weg &5t o R
D T ¥ goic U7 g3l

Correct Ans : D

Q.No: 195 “JOIGHR F UTE Bl AR STAT 3R Fa I § 71" Tg U GIHd Ay § ForIehT Tel TR a1 AT gRI?

A IEHAR 3 UTE BT ART 3R o7 79 141
B IMEHHAR A UTS B ART T AT §11

c R S 81 IASTHHAR ART 4TI

D YTE P AR INFAR IS 5 74T

Correct Ans : D

Q.No: 196 fdwr: 1 g8 T yRE &Y IR YR A &t T (A), (B), (C) R (D) HHIS U T 1 MU 78 @1 ¢ 5 a1epg & 59 YRT T q@IHR0T, UTHT, T, Weel & TTord TanT a1 361 @RE

I 1y TR & A P IR T &7 T HY-
¢a B! g IBR H /(A) TETIT SR /(B) BIS @H 7 8T 1/(C) BIs I 76T (D)
A

C

I Fe Tet

Correct Ans : A

A
B B
C
D

Q.No: 197 FHAfIREd & 9 s a1Hd HT 90 BIfg-

A |t AT ST ST BT FY

B ST Hiaar Iyaan g1

C ufda A § SrufavEr g 81
D T & a9 a@ A weltem @A

Correct Ans : A

Q.No: 198 Frfiied & & fhg a1a & disies g &1 waT fobam mar 2

A G BT UIS YT-TIIT I

B AT 7 FrAT § FT, "0 W SIS

c 10% Fe F WY THAS $T 100 wiowat At &1
b fogm: e a1 efi=ma)

Correct Ans : A

Q.No: 199 FrARiEad & & fbg gerar &1 orf “afSra & s 872

A Tt IR ST
B e & It g
c TS IGATI

D ATH P14 T

Correct Ans : A

Q.No: 200 F=fiRed # | frw Aieifaa o1 of “waeff ok ToisR wafda erramet &t off B B B2
A 3G BT e A TITGE |

B et & W e dt guet | /= s

o
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D 3T afaT 3T IURI

Correct Ans : D
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